B & R % Worm Gear Reducer

I b8 &G 3k ## Worm Gear Reducer

° fiT
Elucidation ---------------------r e A01

° hREmAENE M SRR

Product Codes of Worm Gear Reduce ------=======-mmmmmmm oo A02
o SHEEH
Calculate Data ~=-=========mmmm oo A03-A05

o ZRHI

Mounting Positions ---===-========mmm oo A06

o HiEMETE
Selection of Lubricant Oil ---======-=mmmmmmm oo A07-A08

o B ERREMEATIER

Character Table of Single Stage ----------=====---=mmom o A09-A12

o BEVRIRMITIER

Character Table of Double Stage ------============= oo A13-A20

o BEyEMEIVERIE T TR

Character Table of Direct Single Stage ------=============mmmmmmmmmm A2l

o B EMIURLERIE T TR

Character Table of Direct Double Stage --------=======--==-mmmmmmm - A22-A24

o RLIRFEFBRAMRR

Worm Gear Reducer series dimension =--===========-==ommmmmo oo A25-A28



Worm Gear Reducer i 5 33 4

R SRR ER Y - T

Elucidation

¥ oM

AARERRSTEZERR  HARMEEELEHFAE
BRASZEERYIRER RN - LIRAFAOMAERAT I SR E A 2L AR
B RASHIA EEAVMRIS AN - MAERITREIBZER » 3K
S HBEEA)TZ0HE - 815/  EEE VB F
ik~ MBIEREHEAR  TRMEAER

B &
WA ¢ FRA s4sC AR hkEl (Bl sav21 $EEEER) o KA
BGRIBIE AL (ERMEELRIE) - EemiEEE
HRC45" ( HRC60° ) » #S4F%E CNC BEAREE RIS RS -
MERTE  HEES  REMEE R08 S AIE) 4
MBS
A ALBC3 $RE $ALLE AR R & T EZ Rk
REMAY » AR EAREE o
—REREEEE  BRIFNEBREENREE ' B
RBIF 2 B8 o MEIOERA FC23 -
IR SRRk AR B SRR 0 HTEEE
RIEAEE @ 19ERPEEE -

A
54

B -

HWIEEE

AR R AYEE (A AL ThR R iR -
A2MLUT A ¢

AT EHEIEER

DR B R i S EERS - &S AN EEE 2000r
p.m. T 600~1800rp.m. BIE—AgE(EA ©

H e EERR

Tl SE A 0 80 (B 8858 KRR LR 76 BV o] B H H D B [E18E5E = A
FIEHEIEEER x 1/ JFREE | 2045 BUER [EERRT  30K ~ H)
PR R EhRha TR B R B - JRAS RIS R R SRELR e
I EEE IR B AR ISR -

1RAERRLE

— i -
1/5,1/10,1/15,1/20,1/30,1/40,1/50,1/60
“ExiREm (kR - MR ) |
1/80,1/90,1/100,1/120,1/150,1/180

— Exiin (4R - ik ) |
1/100,1/200,1/300,1/400,1/500,1/600,1/800,1/900,
1/1000,1/1200,1/1500,1/1600,1/1800,1/2000,
1/2400,1/2500,1/3000,1/3600

A01~A119

Features

In order to satisfy the need of all industries, we have
developed this international standard worm gear speed
reducer. Worm and worm gears are designed to give
efficiency and long service life at listed ratings. It is so
noiseless compact light and find, that we believe it will
do much to your company and plant.

Structure

Case : Made by cast iron (FC25), it can endure great
impact and have nice protection of gears.

Worm shaft : Made by precision CNC grinding machine
with Chromium Molybdenum Alloy Steel (S45C),
and have heating processing to HRC 45°C .

Worm @ Made by precision CNC hob machine with
Chromium Molybdenum Alloy Steel (SNCM21)
and High strength bronze alloy(ALBC3)

Output shaft : Made by precision CNC machine with
Chromium Molybdenum Alloy Steel (S45C)

How to select

Please refer to the following steps to choice the correct
type:

R.PM. of input shaft :

When driven with shaft coupling or belt, the maximum
may be 2000 r.p.m. But 600~1800 r.p.m. is preferable.
R.PM. of output shaft :

It can be calculated with the given r.p.m. of input shaft
and speed reduction ration. R.PM. of output shaft = RPM.
of input shaft x speed reduction ratio. If need very low
speed and both efficiency and torsion are lowered more
difficult, special care must be taken to the selection of
model and lubricant oil. Please contact the manufacturer.

Standard Speed Ratio

Single reduction :
1/5,1/10,1/15,1/20,1/30,1/40,1/50,1/60

Double reduction (Gear-Worm) -
1/80,1/90,1/100,1/120,1/150,1/180

Double reduction (Worm-Worm) -
1/100,1/200,1/300,1/400,1/500,1/600,1/800,1/900,
1/1000,1/1200,1/1500,1/1600,1/1800,1/2000,
1/2400,1/2500,1/3000,1/3600

A01



~

i & A R % Worm Gear Reducer

e i 7 R A EE o X B 1R B

Products codes for Worm Gear Reducer

(1) #EBEVFEXE Type

PA, PBE, PV, PH, MPHA, PVW---

(2) BhECE /513 Shaft Direction

R- & (Right) , L- & (Left) , D- #H (Double Output),
I- # A (Double Input) , K- #H A (Double Output & Double Input)

(3) HEEURLEE Model 40,50,60,70,80,100,120,135-+-300
(4) IR EE Ratio 1/5,1/10,1/15,-+++++1/60
(5) #A B S Input HP 1/4HP1/2HPIHP =+ eus--

ird Yl

Direction
Oof

Rotation

< 1ZERE >
<Normal
Dextral Worm>

A02




I STREEH

Calculation Data

Calculation Data

Load factor : The calculation need base on work 8 hours

= s 5 _ per day and uniform load. [ Refer to table 1 ]
ﬁETi%%I LB R RS ER E REERTE  RIK

5 H/ VB EEREY — B AR TaREt - M )
mﬁlH%@ﬁiéﬁ@ﬁﬁﬁ 20 FEIRRATR | Output Shaft Load o [ Refer to table 2
MAMRER @ HULRKIREE &4 TR ERBEKEREE
ERVEGERERISE o TEREREERMEK L, Formula as following :

OHL=TxHxS/T
BENE  ARENMEmERRMREETES | ,
BY  FitE RIS RS WEEERESS (MEHE T = Torque x Service factor

AR OH.L {8 ) S = Position factor
BEWE - 80 (T) / EEEEEEAE (R) XBEEMEM | H= O H Lfactor [Referto table2]
Y TEREWERHERANR 2, R = Radius of sprocket wheel or pulley
KoL E” N =3
e mﬁiﬂﬂ’m R (EEA] (Al [RE] Efficiency : The efficiency of Worm gear reducer is
[FeEa] % [AERE ] KARE - . . . . .
(A B SEATR R B T AR KIS ) decided by lead angle, circular pitch, speed, engine oil
WK = (HHOEEH/ AHEES ) X100% and condition temperature. [ Refer to table 3 ]
F BRI R 3, Efficiency = output HP / input HP x 100%
N R¥ =-a dh = - .
‘leogt’mrﬁm NERBBE80°C BMBNRSIEE Allowed temperature :

Maximum case temp. 80 °C
Maximum engine oil temp. 100 °C

AT E{RE3R Load Factor Table 2% 1 (TABLE 1)
e e = R{E AR Duration of Service per day
EEpi ﬁibﬁ%mif’f&
Prime Mover riven system Occasional Intermittent 8-10 10-24
Load level 0.5 hours. 2 hours. hours. hours.
t5—&7 (Uniform) 0.80 0.90 1.00 1.00
EEEJ#%E &% ( Medium Shock ) 0.90 1.00 1.25 1.50
Electric Motor
B &% ( Heavy Shock) 1.00 1.25 150 175

SREETTEE{RESR OH.L Factor Table 3§ 2 ( TABLE 2)

B Type %2 Table
#& & ( Sprocket) 1.00

B & ( Gear) 1.25
=A% (V-Belt) 1.50
SER# (Flat Belt) 2.50

A03



iR Worm Gear Reducer

AR #IZR F= Rough Efficiency Table 3% 3 ( TABLE 3)

HEEE Ratio # = Efficiency
1:60 65% - 70%
1:50 67% - 72%
1:40 69% - 74%
1:30 73% - 76%
1:20 78% - 82%
1:10 82% - 85%

T/ Electrical Power Formulae

o i AC
DC ag . _
E48 Single Phase =48 Three Phase
AMP= (HP x746) / (VOLT x EFF) (HP x746) / (VOLT x EFF X PF) (HPx746)/ (VOLT x EFF x PF x 1.73)
- (KW x 1000) / VOLTS (KW x 1000 ) / ( VOLT x PF) (KW x 1000) / (VOLT x PFx 1.73)
KW= (AMP x VOLT ) / 1000 (AMP x VOLT X PF) / 1000 (AMP x VOLT x PF x 1.73 ) / 1000
HP= (AMP x VOLT X EFF) / 746 (AMP x VOLT x EFF x PF) / 746 (AMP x VOLT x EFF x PF x 1.73) / 746
PF= IR A E# 80% Power Factor (usually estimated at 80% ), EFF= 33 » %Y 80% - 90% Efficiency (usually 80% - 90% )
SHRE R EEEE BE S S R4 Contact Motor Manufacturer for details.

A& Useful Formula

ARENRY S 8 Parameter €18 Code A= Formula B {7 Unit
T=FxR
A Torque T T=(7162xHP)/N Kgf-m

T=(974xKW)/N

HP =(TxN)/716.2

EHHP HP HP
HP = (FxV)/75

KW= (TxN)/974

gH KW KW KW
KW = (FxN) /102

& E SPEED v V=(PIxDxN) /60 M / Sec
ELE RATIO I I=N1/N2

FIEE Mass (KG ) D : EHf® Diameter (M)

N :EEEE RPM. R 1 2R Radius (M)

BEf#E Conversion Factors

1PS 1KW 1HP 1Kgf-m 1IN-m 1Lb-in 1Lb-ft
0.98635HP 1.34HP 0.746KW 9.807 N-m 0.10197 Kgf-m 0.1129 N-m 1.356 N-m
0.7355KW 1.36PS 1.01PS 7.233Lb-ft 0.73756 Lb-ft 0.0115 Kgf-m 0.1383 Kgf-m
75Kgf-m 102.0Kgf-m/s 76.07Kgf-m/s 86.796 Lb-in 8.85070 Lb-in 0.083 Lb-ft 12 Lb-in

A04
y



stE A EEH Numeration Formula & Example

F 577 (kgf) PL: RRMETEEAZINEK (HP) S I JEIRLE (Ratio)
H @ I ERE (kg-m) P2 I JBRME T EH 2 IR (HP) T35 (kg-m)
N @ H A EEEE (rp.m.) R:FE M) W& E: &K

( AFIEHEE;R 1800 rp.m) o

Bl 1 SHIFEEELE 320mm > FIETTIE 30M > SKE[EIFHE KRR L

f# © [[]#EER N = 30 * 1000 (mm/M) / (TT1*320) = 29.8 rp.m. JiREL S = 29.8 /1800 = 1/60

B 2 © H O EHESEE B K 400mm » L 36 rp.m. IRE miE— 250kg B - KEFER(AIFEEYSR

TAREE (&4 - 24 /\BF - 19— Bf - ATIERESEE 1800 rp.m. EFH PB BY) o
7 . JFEEE S =36/1800=1/50 & ] F=W = 250 (kgf)
¥ T=F*R=250*0.2 =50 (kg-m)
P2=T*N/716.2 ({&&[)=50*36/716.2 = 2.5 (HP)
[BEFR3BHMEE=07] - [BERIBEERHEH=125]
SRR PL=P2*H/E =25*%1.25/0.7 = 446 (HP)
EYFEFRAZEER PB135 AU 1/50

f5) 3+ LURNRGERLEL 1740 » B W = 1500kg » EEEEE 1K 300mm » SKEEBY A/ (f&4 8 /]
RFIEEE - EEE 0 ASJEHEEE 1800 rp.m FERREIA =01 EA PAERY)
f#Z I F=W*A=1500*0.1 = 150 (kgf)
T=F*R=150*0.15 = 22.5 (kg-m)
N = 1800 * (1/40) = 45 (rp.m.)
P2=T*N/716.2 ({RE]) = 22.5*45/716.2 = 1.41 (HP)
[BER3IMEE=07] - [BER1IWTEREH=15]
RSN E PL=P2*H/E=141*15/0.7 = 3 (HP)
EYFMEFRFNJAER PAE 120 BY 1/40

A05



i & A R % Worm Gear Reducer

LRI

Mounting Positions

Y EREEMMTL Ventilate plug and Oil filling hole G ;m#E Oil gauge A HEimi2 Drain plug

EF#/AX Electrical Power Formulae

R mZ4E Reverse installation

{BE =4 Side installation

oS | 2o\l
o)
o> 1<
RIS g =171

nalar

H3

L3 ] '=:J@ V3




SEH A, S BB
/Fiﬂ/ﬁ /EHEE/I
Selection of Lubricant Oil

Selection of Lubricant Oil

XOEREEZEEM  BRANYE  REEREBEER
% AISBWREBRERE  BIEET RS HER
HEHE ©

X LUFA” JETRE” RN &

BERE

S Proper viscosity of lubricant is contributive to ease the friction of
worm gears, so the speed reducer can fully apply its function in
the case of high load or impact load.

¢The table below shows the selection of lubricants for “PEI
GONG” gear reducers.

fiE Load . fE A SHELL OIL MOBIL OIL
Ambient Temperature
-30°C ~ 5°C [B7 Y RS 4 ER #4458 HD - 150 Omala oil R150 Mobil gear 629
LRfE
Common 5°C ~ 40°C [ ¢ R AT ER #58 HD - 320 Omala oil R320 Mobil gear 632 600W Cylinder oil
Load
55°C ~ 100°C B S P AT R K/ HD - 460 Omala oil R460 Mobil gear 634 600W Cylinder oil
-30°C ~ 5°C BRSPS KRR KESH HD - 320 Omala oil R320 Mobil gear 632
HBiTE
Heavy 5°C ~ 40°C B SEhA A ER 4 H HD - 460 Omala oil R460 Mobil gear 634
Load
55°C ~ 100°C B LR A ER #445H HD - 680 Omala oil R680 Mobil gear 636

X AR Rz SR A S {5 P B S R A BR A O HD-320 o

X ER)EM 3 0 0/\BsfE - FHR LM H#®B2500
/)\BS BB R o

X ERSEESR . =R & ERBW  BEEHEF
SIRIEMES - FRERANTEIAER

X A E Al RE SRR R R R AR ERFEE o

X B HE S A REBEURM

X EEMABEERBREMEET—FLLE -

X PEI GONG gear reducers use Kuo-Kuang Brand engine oil HD-
320.

X After using first 100 hours, the interior of the reducing gear
should be cleaned up and refill new oil. And then, after every
2500 hours of usage replaces new oil again.

X Please contact with our company if the gear reducer will be used
in special conditions, such as high speed, high temperature, low
speed, heavy load, and forced lubrication and so on.

XInsufficient lubricant oil may lead to the rapid wears of worm gear
and low efficiency.

X Excessive lubricant oil may lea to oil leakage.

X Please fill in adequate lubricant oil to above half of the oil gauge.

EEERRERRESN

Purchasing Direction & Special installation

STHERENRS - FEIRGCTOIREM
1 HTE - ISR L

2 BN RS HEEEK

3. BB /1

o (WEIAR [ EAS -~ I8 )

5. HEHR

6. WERFIRZ LA,

7 RS

If you want to order speed reducers, please specify the following :
1.Classify type and ratio.

2.0utput shaft power and revolution per minute.

3.Shaft location.

4.Driving method (direct, by belt or chain).

5.Load condition.

6.Number of sets and name of the machine to be installed.

7 Installation type.

A07



CYEBES

R Worm Gear Reducer

fEMRItEE Check Before Operation

X AREHITE © TSR
HA -

J:o

B~ @@~ Bk ~ MESRARANEREHES
XOIRRERBRER  KHEENRES

A WRFPMEBEMEHRE—FLL

X Check if the model, type .,

above the middle of oil gauge.

horsepower, shaft direction, reduction ratio, revolution
direction and input/output shaft revolutions are in accordance with the standard.
X Check carefully the oil level to make sure that the oil volume is sufficient and maintains

FEMABSEEEHEmE—FU L
Please fill in adequate lubricant
oli to above halfof the oli rauge.

{EABET Use's Place

FERRFHRIEThE LB
E=grigi]

Please pull the pin out of
the oli lid before use.

X Zﬁ%éﬁﬁéiﬁjtﬂﬂlm%gﬁi o

XK RENRIBABE R B - BB
R o

X {E A RTAEE IR/ T ME 2 B RIEN o

RE 0°C~40°C » BEE R RIFES

XA flat and soiled base is one of the requirements for installation.

X The environment for installation shall be dry and well ventilated, with ambient temperature
at 0 °C to 40 °C . Abnormal high or low temperature shall be dedicated.

X Please pull the pin out of the oil lid before use.

E#E AR Connecting Method

X B RHRaR P UBRS A DBk D
H% JRNE B B % M 75 A E A O
17 > BERLUEERE - MEREH

B2 o

X FrBECEIOEEREE e - &
58 - Wk o S AT ER T 5| #EEhK
JBIR o

X B SEnE IR T RS ERE
SR A LUR D EHE S - ER#E
EARNEHDEER) 6 FLLA)
B DEhE s 580 - RIS A
oG H7 AZEER > AEGRHHE
HEAEhm RIS

X BEEZERZ AN ARMEE

Bl BRACBERRREHE
2o

X B ] 22 RO AR R R R

X The coupler shall be firmly connected the
input and output shafts and two shafts
shall be paralleled. The base seat shall de
anchored with proper bolts.

3¢ All the components shall be properly
assembled to the shaft. Hammering and
over-tight assembly that could damage
the bearing is not allowed.

X The pulley, chain, pulley and gear shall
be assembled as close as possible to the
bearing so as to reduce curving stress
to the minimum. The chain pulley and
belt pulley used to connect the output
shaft shall be properly chosen (within 6
times as large as the diameter of output
shaft) and used in add ordnance with
H7 tolerance in order to keep out of
abnormal noise and harm to the shaft
surface.

X Proper amount of grease can be applied
to the input hole of the additional motor
board to ensure the hole against over-
wearing and making abnormal noise.

X The application of anti-rust paint can
keep the shaft from rusting.

CESTT Indeed locking
Two shafts shall be paralleled. screw.

A08



AR B ER T 1R

Character Table of Single Worm Gear Reducer

[.HP: Input HP

LLHP: #g A 577 (HP)

O.HP: Output HP
O.HP: BaitH 50 (HP)

O.T: Output Torque(kg-m)
O.T: EaiHHIH*E (kg-m)

O.H.L : Overhung Load(kgf)
OH.L : BREETTE (kof)

(') means the actual ratio

() RABERRRRL

INPUT
RATINGS 1800 R.PM 1500 R.PM 1200 R.PM
1/10 0.83 0.65 2.60 70 0.77 0.60 2.80 70 0.67 0.51 3.10 70
1/15 0.70 0.54 3.00 70 0.62 0.48 3.40 70 0.35 027 2.40 70
1/20 038 0.27 210 70 034 0.24 230 70 030 021 250 70
40 1/30 043 0.28 330 70 0.40 0.25 350 70 034 021 3.80 70
1/40 0.26 0.15 250 70 0.24 0.14 2,60 70 021 011 2.80 70
1/50 0.25 0.14 2.80 70 023 012 3.00 70 0.20 0.08 320 70
1/60 0.20 0.10 240 70 0.19 0.09 2.60 70 0.16 0.65 270 70
1/10 144 115 459 100 131 103 4.94 107 116 0.90 5.40 115
1/15 107 0.81 4.89 115 0.97 073 522 120 0.82 0.60 543 130
1/20 0.65 048 3.85 130 058 043 413 140 051 037 448 155
50 1/30 0.68 045 543 150 058 037 543 170 048 030 543 180
1/40 0.44 0.28 450 170 0.40 0.25 4.80 180 035 021 516 200
1/50 039 0.23 455 200 035 0.20 4.94 200 031 0.17 529 200
1/60 031 0.18 435 200 028 0.16 4.60 200 0.24 0.13 487 200
1/10 232 187 7.44 98 2.08 166 7.95 104 1.88 147 .80 10
1/15 172 132 791 116 155 118 8.46 123 136 101 9.07 133
1/20 021 0.89 7.15 138 110 0.80 7.66 146 0.98 0.69 831 157
60 1/30 114 078 931 151 1.05 0.70 10.0 159 0.92 0.59 106 172
1/40 0.82 0.52 827 178 075 0.46 8.83 189 067 0.39 9.49 200
1/50 077 0.49 9.70 200 0.70 043 102 200 0.62 037 11.0 200
1/60 0.64 038 9.20 200 0.58 0.34 970 200 051 0.29 104 200
1/10 348 282 112 128 311 250 119 136 277 220 131 145
1/1s 253 196 117 153 2.29 176 126 161 2.02 152 136 174
1/20 193 147 117 178 175 131 125 188 1.55 114 136 202
70 1/30 169 116 1338 198 155 1.05 150 208 136 0.89 16.1 225
1/40 124 0.82 131 233 113 073 14.0 247 101 063 150 266
1/50 112 072 143 266 103 0.64 152 282 091 0.55 163 300
1/60 0.94 058 139 289 0.86 0.51 146 300 076 043 156 300
1/10 4.93 401 159 180 443 358 17.0 191 3.89 312 186 204
1/1s 357 279 167 215 321 249 1738 228 2.83 217 194 244
1/20 253 1.90 151 253 2.30 171 163 267 2.04 149 178 287
80 1/30 2.38 1.66 198 277 2.15 147 211 294 1.90 128 22.9 316
1/40 170 110 17.5 326 154 0.98 187 347 138 085 204 372
1/50 157 101 20.1 364 143 0.90 216 385 128 077 231 400
1/60 129 0.79 189 400 118 071 204 400 1.05 0.60 216 400
1/10 (9.67)] 873 718 285 167 7.93 6.46 308 177 6.93 5.60 334 190
1/15 6.34 502 299 204 5.66 443 317 217 5.09 394 353 230
1/20 5.02 393 312 239 457 354 338 252 4.03 3.09 369 269
100 /3 420 3.00 358 265 381 2.66 382 281 335 230 411 302
1/40 317 2.20 351 316 2.86 196 374 336 254 171 40.9 359
1/50 239 1.59 318 364 217 142 340 386 193 124 37.0 415
1/60 196 127 304 400 179 114 327 424 159 097 34.9 458
1/10 (9.67)] 13.8 114.4 45.7 177 12.6 10.4 49.6 184 11.0 9.02 53.8 198
1/15 10.0 8.05 480 218 9.02 7.15 512 231 8.08 6.32 56.5 244
1/20 7.16 5.54 440 270 6.49 497 474 285 5.72 430 513 306
120 /3 6.66 432 57.5 285 6.00 428 613 302 531 370 66.3 325
1/40 468 319 507 357 419 281 536 380 377 245 585 407
1/50 303 274 54.5 404 354 243 58.0 429 315 212 634 459
1/60 314 204 489 453 2.84 181 519 481 252 156 56.2 518
1/10 (9.67)] 19.8 165 66.0 304 180 150 717 319 15.8 130 77.7 342
1/15 147 119 714 362 131 106 76.1 384 118 938 84.0 407
1/20 113 911 725 426 10.3 8.19 78.2 449 897 7.03 83.9 484
135 /3 968 721 86.0 468 871 6.40 917 496 7.70 5.53 99.1 533
1/40 6.98 5.08 80.8 566 6.37 4.54 86.8 599 5.60 392 936 645
1/50 528 3.73 74.2 650 476 3.29 787 691 423 2.87 85.8 742
1/60 415 2.80 67.0 724 375 248 712 769 331 215 77.0 827
1/10 (9.67)] 329 273 105 1500 298 247 114 1500 264 217 125 1500
1/15 22.9 185 106 1500 205 165 114 1500 181 144 124 1500
1/20 149 118 94.5 1500 135 106 105 1500 119 9.29 110 1500
155 /% 133 978 112 1500 121 8.82 122 1500 104 755 130 1500
1/40 932 6.67 106 1500 8.26 5.86 112 1500 7.40 511 122 1500
1/50 713 4.97 98.9 1500 6.42 440 105 1500 576 3.84 114 1500
1/60 5.85 3.99 953 1500 537 357 102 1500 472 3.05 109 1500
A09



i & A R % Worm Gear Reducer

AR B ER T 1R

Character Table of Single Worm Gear Reducer

I.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m)  O.H.L : Overhung Load(kgf) () means the actual ratio
|.HP: B A B (HP) O.HP: EHH B (HP) O.T: EHIR%E (kg-m) OH.L : BREME (kof) () ABERREL
1800 R.PM 1500 R.PM 1200 R.PM

1/10 (9.67)] 46.8 . 150 1770 425 354 163 1800 377 313 180 1800

1/15 330 267 154 1800 296 239 165 1800 259 208 180 1800

1/20 228 182 141 1800 204 162 151 1800 180 14.2 165 1800

175 /3 19.0 141 163 1800 172 127 176 1800 150 11.0 190 1800
1/40 132 9.60 149 1800 119 858 159 1800 10.4 736 171 1800

1/50 978 6.81 135 1800 874 6.03 144 1800 7.98 5.37 160 1800

1/60 8.23 574 132 1800 774 531 147 1800 6.62 441 152 1800

1/10 526 44.0 181 1750 477 39.9 196 1840 418 3438 215 1950

1/15 395 321 198 1990 354 287 212 2090 309 250 231 2200

1/20 302 243 193 2200 27.0 216 206 2200 238 189 226 2200

200 /3 251 1838 232 2200 226 16.8 249 2200 198 146 270 2200
1/40 182 133 213 2200 165 120 230 2200 143 103 274 2200

1/50 1338 9.84 195 2200 123 8.68 207 2200 112 7.76 231 2200

1/60 115 8.01 188 2200 10.3 711 200 2200 9.64 6.49 228 2200

1/10 (9.25)] 712 60.2 239 2150 64.6 54.5 260 2260 56.6 477 284 2400
1/15(14.67) 56.8 46.9 280 2410 50.9 418 300 2500 444 364 326 2500

1/20 434 352 280 2500 386 312 298 2500 341 274 327 2500

225 (/3009 373 286 342 2500 334 256 367 2500 292 222 399 2500
1/40 2538 193 307 2500 236 174 333 2500 204 14.9 375 2500

1/50 (53) | 194 142 282 2500 172 125 299 2500 156 111 334 2500

1/60 (58) | 160 113 282 2500 14.2 100 278 2500 132 9.18 318 2500

1/10 (10.5)] 966 813 323 2700 883 74.2 354 2700 784 657 392 2700
1/15(14.67)] 723 593 354 2700 66.4 543 389 2700 57.9 472 423 2700

1/20 553 45.0 367 2700 492 399 391 2700 433 350 428 2700

250 [1/30 Gos)| 472 358 427 2700 422 319 457 2700 371 279 499 2700
1/40 329 246 401 2700 298 222 435 2700 259 191 468 2700

1/50 (52) | 227 173 359 2700 212 154 383 2700 187 135 418 2700

1/60 20.2 146 350 2700 180 129 371 2700 16.8 119 426 2700

1/10 (9.5) | 146 123 516 2590 133 111 563 2700 119 110 631 2860

1/15 115 958 564 2910 104 87.2 616 3040 926 769 679 3210

1/20 86.2 70.6 573 3150 793 64.8 631 3280 685 55.8 680 3500

300 /3061 96 54.0 658 3560 62.2 482 706 3800 54.2 418 765 3800
1/40 530 40.0 665 3800 473 356 710 3800 413 309 771 3800

1/50 40.6 301 612 3800 36.6 27.0 659 3800 320 234 713 3800

1/60 (63) | 322 234 571 3800 286 20.8 608 3800 252 180 660 3800

1/10 (9.67) * * * * 185 156 788 3260 165 139 876 3430

1/15 * * * * 153 126 926 3680 138 114 1044 3850

1/20 140 114 933 3900 129 105 1030 4000 111 913 1111 4320

350 /3 * * * * 89.6 69.0 1043 4870 781 60.0 1133 5100
1/40 (a1) | 788 596 991 5100 705 532 1061 5100 624 469 1171 5100

1/50 62.1 465 926 5100 56.0 418 999 5100 488 362 1081 5100

1/60 485 358 872 5100 434 320 933 5100 380 277 1011 5100

1/10 * * * * 277 235 1182 3830 245 208 1308 4100

1/1s * * * * 214 177 1337 4340 193 160 1509 4520

1/20 * * * * 168 138 1340 4910 1748 121 1746 5190

400 /3 * * * * 137 107 1509 5320 121 94.0 1660 5670
1/40 * * * * 100 756 1509 6350 8738 66.1 1651 6810

1/50 * * * * 79.2 59.0 1393 7000 69.5 520 1525 7000

1/60 * * * * 65.2 485 1347 7000 56.5 420 1456 7000

1/10 * * * * * * * * 386 329 2136 13000

1/1s * * * * * * * * 337 280 2642 13000

1/20 * * * * * * * * 263 217 2714 13000

500 | /0 * * * * * * * * 215 166 3239 13000
1/40 * * * * * * * * 157 121 3099 13000

1/50 * * * * 128 957 2471 13000 113 84.5 2728 13000

1/60 * * * * 115 86.1 2393 13000 101 752 2610 13000

A10



AR B ER T 1R

Character Table of Single Worm Gear Reducer

[.HP: Input HP

LLHP: B A B (HP)

0O.HP: Output HP
O.HP: EgiH B (HP)

O.T: Output Torque(kg-m)
O.T: B FHFE (kg-m)

O.H.L : Overhung Load(kgf)
OH.L : FREEMR & (kgf)

(') means the actual ratio

() RAERRRRLE

900 R.PM 600 R.PM 300 R.PM
1/10 0.56 0.42 3.40 70 043 0.32 3.80 70 0.23 0.16 3.80 70
1/15 0.28 0.22 2.60 70 0.24 0.19 3.00 70 0.13 0.10 330 70
1/20 0.26 0.17 2.80 70 0.20 0.13 310 70 0.13 0.08 370 70
40 1/30 0.27 0.16 3.80 70 0.20 0.11 3.80 70 0.10 0.05 3.80 70
1/40 0.18 0.10 310 70 0.14 0.07 3.40 70 0.09 0.04 3.80 70
1/50 0.17 0.09 350 70 0.13 0.06 3.80 70 0.07 0.03 3.80 70
1/60 0.14 0.06 5.00 70 0.11 0.05 320 70 0.07 0.03 3.80 70
1/10 0.89 0.68 543 120 0.60 045 543 140 031 0.23 543 200
1/1s 0.63 045 543 140 043 030 543 160 022 0.15 543 200
1/20 043 031 4.94 170 032 0.22 543 200 0.17 0.12 543 200
5 0 1/30 0.37 0.22 543 200 0.26 0.15 543 200 0.14 0.07 543 200
1/40 0.28 017 543 200 0.20 0.11 543 200 0.10 0.05 543 200
1/50 0.24 0.13 543 200 0.17 0.09 543 200 0.09 0.04 543 200
1/60 0.21 0.11 534 200 0.15 0.07 543 200 0.08 0.03 543 200
1/10 157 121 968 121 123 0.93 111 140 0.66 048 116 200
1/15 117 0.85 10.2 145 0.90 0.64 115 167 048 032 116 200
1/20 0.83 0.57 9.16 172 0.65 043 104 200 038 0.24 116 200
60 1/30 0.78 048 116 189 0.54 032 116 200 0.29 0.16 116 200
1/40 0.58 032 104 200 045 0.24 116 200 0.25 012 116 200
1/50 0.40 0.23 9.22 200 031 0.17 103 200 0.19 0.09 116 200
1/60 043 0.24 113 200 0.25 0.13 9.52 200 0.14 0.07 112 200
1/10 223 181 144 159 185 141 16.9 180 120 0.88 211 228
1/15 173 128 152 190 134 0.96 173 218 0.87 0.59 214 277
1/20 131 0.94 150 222 102 071 17.1 255 0.65 043 206 300
70 1/30 118 0.74 177 247 0.92 0.56 20.1 284 0.59 035 238 300
1/40 0.86 0.51 165 293 0.67 0.39 186 300 043 023 21.9 300
1/50 0.77 045 1738 300 0.60 033 19.7 300 039 0.19 232 300
1/60 0.65 036 17.0 300 0.50 0.26 186 300 032 0.16 220 300
1/10 330 2.59 20.6 224 2.63 2.02 241 254 1.70 126 301 321
1/15 2.44 181 217 267 1.90 138 247 306 124 0.85 307 388
1/20 173 122 195 316 137 0.93 224 362 0.89 0.57 272 400
8 0 1/30 165 1.06 253 345 131 0.80 287 398 0.84 047 34.0 400
1/40 119 0.69 222 400 0.94 0.52 25.0 400 062 031 298 400
1/50 1.09 0.63 251 400 0.85 047 28.0 400 0.55 0.28 330 400
1/60 0.91 0.50 237 400 0.70 036 26.0 400 046 0.24 308 400
1/10 (9.67)] 587 4.69 373 207 4.68 3.65 433 235 279 2.08 50.0 297
1/15 433 3.29 393 251 338 248 445 289 1.99 139 50.0 365
1/20 3.40 2.53 403 297 2.67 193 46.2 240 152 1.04 50.0 435
1 00 1/30 2.89 192 46.0 330 223 139 50.0 382 120 0.69 50.0 500
1/40 2.03 128 46.0 397 171 1.04 50.0 458 0.92 0.52 50.0 500
1/50 1.66 101 402 458 129 0.75 447 500 079 041 50.0 500
1/60 137 0.79 38.1 500 1.05 0.58 420 500 068 034 498 500
1/10 (9.67)] 93.8 7.55 60.1 214 7.46 5.86 69.9 241 4.64 351 84.0 305
1/15 6.83 5.26 62.8 267 539 401 719 305 330 234 84.0 386
1/20 4.85 358 57.0 335 3.87 274 65.4 383 253 169 80.7 438
120 /3 455 3.09 73.9 354 3.65 2.34 83.9 408 197 117 84.0 531
1/40 3.24 2.03 64.8 446 2.62 153 733 514 164 0.88 84.0 665
1/50 2.69 172 68.7 508 20.9 128 76.5 588 124 0.70 84.0 700
1/60 2.17 1.28 613 571 1.70 0.94 67.5 662 112 0.56 811 700
1/10 (9.67)] 133 10.9 86.8 372 106 8.46 101 421 6.87 530 126 533
1/15 9.95 7.82 933 445 7.83 5.96 106 510 511 373 133 644
1/20 7.69 592 943 528 6.05 451 107 605 388 276 131 772
‘| 35 1/30 6.58 462 110 583 5.24 3.50 125 670 313 1.95 140 866
1/40 4.80 327 104 707 3.81 245 117 814 243 145 138 950
1/50 3.60 235 936 819 2.83 175 104 944 182 1.04 124 950
1/60 2.84 176 84.1 912 221 1.29 926 950 145 077 111 950
1/10 (9.67)] 223 18.1 139 1500 1738 143 165 1500 117 8.99 207 1500
1/15 154 120 139 1500 121 931 161 1500 8.06 5.84 202 1500
155 1/20 10.0 770 122 1500 8.01 5.94 141 1500 518 365 174 1500
1/30 9.08 6.32 146 1500 7.24 4.87 168 1500 477 2.92 220 1500
1/40 6.28 4.22 134 1500 5.02 319 152 1500 3.25 191 182 1500
1/50 4.89 317 126 1500 3.90 237 141 1500 253 141 168 1500
A11



i & A R % Worm Gear Reducer

AR B ER T 1R

Character Table of Single Worm Gear Reducer

I.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m) O.H.L : Overhung Load(kgf) (') means the actual ratio
|.HP: B A B (HP) OMHP: Bt B (HP) O.T: EH %R (kg-m) OH.L : BREME (kof) () AABERREL
900 R.PM 600 R.PM 300 R.PM

1/10 (9.67)] 317 26.0 200 1800 252 204 235 1800 16.6 129 297 1800

1/15 221 175 202 1800 173 134 233 1800 114 8.44 292 1800

1/20 152 117 182 1800 121 915 212 1800 7.87 5.62 261 1800

175 /3 12.9 9.20 212 1800 102 7.04 243 1800 6.73 423 293 1800
1/40 8.96 6.12 190 1800 7.10 465 216 1800 4.69 2.80 261 1800

1/50 6.64 432 171 1800 5.28 3.25 194 1800 3.46 194 231 1800

1/60 5.56 3.60 166 1800 445 270 187 1800 2.90 162 224 1800

1/10 356 293 241 2120 28.0 228 281 2200 185 14.4 356 2200

1/15 263 21.0 259 2200 206 161 298 2200 136 10.0 73 2200

1/20 20.1 157 250 2200 159 121 291 2200 10.3 7.48 357 2200

200 /3 16.9 121 300 2200 133 932 345 2200 878 5.60 414 2200
1/40 123 8.62 274 2200 9.56 6.43 307 2200 6.44 394 376 2200

1/50 9.29 6.21 247 2200 733 4.69 280 2200 483 2.80 334 2200

1/60 776 5.05 237 2200 6.12 377 265 2200 4.03 2.26 318 2200

1/10 (9.25)] 481 40.1 319 2500 3738 312 372 2500 24.9 19.8 473 2500
1/15(14.67) 378 306 365 2500 294 234 422 2500 193 146 527 2500

1/20 2838 228 363 2500 226 176 421 2500 146 10.8 518 2500

225 [1/30@9) | 249 185 442 2500 196 14.2 508 2500 12.7 8.54 611 2500
1/40 176 125 399 2500 136 9.36 447 2500 9.09 5.72 546 2500

1/50 (53) | 129 8.96 356 2500 101 6.77 404 2500 6.65 4.04 482 2500

1/60 (58) | 106 7.14 330 2500 837 534 370 2500 5.50 3.20 443 2500

1/10 (10.5)] 655 547 435 2700 518 26 508 2700 342 271 648 2700
1/15(14.67)]  49.0 397 474 2700 383 303 544 2700 253 271 648 2700

1/20 364 290 473 2700 287 224 549 2700 186 1338 678 2700

250 /30 os)| 310 230 551 2700 247 176 633 2700 163 10.8 774 2700
1/40 228 164 537 2700 172 119 587 2700 114 730 715 2700

1/50 (52) | 158 110 458 2700 122 823 511 2700 812 497 617 2700

1/60 134 921 439 2700 105 6.88 493 2700 6.91 413 591 2700

1/10 (9.5) | 100 84.0 704 3090 784 64.8 814 3460 524 421 1056 3800

1/15 78.0 644 757 3480 61.0 494 874 3800 401 313 1106 3800

1/20 577 46.8 759 3790 454 36 876 3800 298 225 1100 3800

300 /306Gy 456 3438 848 3800 361 2638 976 3800 236 164 1196 3800
1/40 345 254 849 3800 277 197 979 3800 181 118 1186 3800

1/50 284 204 828 3800 212 145 888 3800 140 8.80 1074 3800

1/60 (63) | 214 149 729 3800 165 110 811 3800 11.0 6.66 980 3800

1/10 (9.67)] 140 118 993 3680 110 924 1161 4080 729 59.3 1493 4890

1/15 115 946 1152 4170 89.8 729 1332 4650 59.6 466 1706 5100

1/20 953 774 1257 4640 741 59.2 1441 5100 482 369 1789 5100

350 /3 65.8 501 1263 5100 520 386 1461 5100 338 237 1792 5100
1/a0 (41) | 525 389 1297 5100 410 296 1475 5100 2638 17.8 1782 5100

1/50 40.9 301 1197 5100 438 309 1357 5100 2838 18.8 1647 5100

1/60 320 229 1115 5100 249 17.0 1249 5100 165 104 1512 5100

1/10 211 179 1501 4290 165 139 1752 4770 109 897 2258 5690

1/1s 159 131 1653 4950 125 102 1931 5480 80.8 64.1 2421 6730

1/20 125 102 1654 5610 96.8 779 1895 6290 637 493 2405 7000

400 /3 102 795 1869 6090 813 620 2191 6740 516 373 2638 7000
1/40 736 54.9 1829 7000 583 425 2121 7000 373 253 2534 7000

1/50 57.8 57.8 1673 7000 456 328 1914 7000 2938 200 2331 7000

1/60 476 476 1610 7000 371 261 1810 7000 24.4 15.9 2201 7000

1/10 335 284 2467 13000 264 224 2980 13000 170 142 3678 13000

1/1s 287 238 2998 13000 222 183 3458 13000 150 120 4541 13000

1/20 220 181 3022 13000 160 131 3272 13000 111 88.1 4402 13000

5 0 0 1/30 181 140 3626 13000 139 106 4139 13000 91.2 66.3 5168 13000
1/40 131 100 3422 13000 102 76.9 3933 13000 6538 4638 4793 13000

1/50 94.0 69.7 3002 13000 773 532 3435 13000 475 323 4158 13000

1/60 84.0 62.1 2878 13000 657 472 3279 13000 429 2838 3990 13000

A12



Mg E TR

Character Table of Double Worm Gear Reducer

I.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m) O.H.L :Overhung Load(kgf) ( )means the actual ratio
ILHP: B A B (HP) OHP: EiH {7 (HP)  O.T: #igti 4%k (kg-m) OH.L : SRETE (kof) () AEERRZEL
1800 R.PM 1500 R.PM 1200 R.PM
1/200 0.32 0.13 11.6 200 0.27 0.12 11.6 200 0.21 0.08 11.6 200
1/300 0.23 0.08 11.6 200 0.20 0.08 11.6 200 0.16 0.05 11.6 200
1/400 0.19 0.07 11.6 200 1.16 0.05 11.6 200 0.12 0.04 11.6 200
1/500 0.16 0.04 11.6 200 0.13 0.04 11.6 200 0.12 0.03 11.6 200
1/600 0.13 0.04 11.6 200 0.12 0.04 11.6 200 0.10 0.03 11.6 200
1/800 0.12 0.03 11.6 200 0.11 0.03 11.6 200 0.08 0.01 11.6 200
1/900 0.11 0.03 11.6 200 0.01 0.01 11.6 200 0.08 0.01 11.6 200
1/1000 0.10 0.04 14.6 333 0.08 0.03 15.0 342 0.07 0.03 154 352
6 0 1/1200 0.08 0.03 13.9 308 0.07 0.02 14.2 316 0.06 0.02 14.6 324
1/1500 0.07 0.03 154 352 0.06 0.02 15.8 361 0.05 0.02 16.4 374
1/1600 0.08 0.03 17.5 387 0.07 0.02 17.9 396 0.05 0.02 184 408
1/1800 0.32 0.13 11.6 200 0.27 0.12 11.6 200 0.21 0.08 11.6 200
1/2000 0.23 0.08 11.6 200 0.20 0.08 11.6 200 0.16 0.05 11.6 200
1/2400 0.19 0.07 11.6 200 1.16 0.05 11.6 200 0.12 0.04 11.6 200
1/2500 0.05 0.02 16.6 379 0.04 0.01 16.9 386 0.03 0.01 17.5 400
1/3000 0.04 0.01 15.7 348 0.03 0.01 16.0 356 0.03 0.01 16.6 368
1/3600 0.03 0.01 16.0 356 0.03 0.01 16.5 366 0.02 0.01 16.8 373
1/200 0.11 0.03 116 200 0.01 0.01 116 200 0.08 0.01 116 200
1/300 0.10 0.04 14.6 333 0.08 0.03 15.0 342 0.07 0.03 154 352
1/400 0.08 0.03 139 308 0.07 0.02 14.2 316 0.06 0.02 14.6 324
1/500 0.07 0.03 154 352 0.06 0.02 15.8 361 0.05 0.02 164 374
1/600 0.08 0.03 175 387 0.07 0.02 179 396 0.05 0.02 184 408
1/800 0.06 0.02 14.6 324 0.05 0.02 15.0 334 0.04 0.01 15.5 344
1/900 0.06 0.02 16.1 368 0.05 0.02 16.5 377 0.04 0.01 169 386
1/1000 0.05 0.02 153 339 0.04 0.01 15.6 347 0.03 0.01 16.0 356
7 0 1/1200 0.05 0.02 16.6 379 0.04 0.01 169 386 0.03 0.01 17.5 400
1/1500 0.04 0.01 15.7 348 0.03 0.01 16.0 356 0.03 0.01 16.6 368
1/1600 0.03 0.01 16.0 356 0.03 0.01 16.5 366 0.02 0.01 16.8 373
1/1800 0.63 0.31 25 300 0.52 0.25 25 300 041 0.20 25 300
1/2000 0.44 0.20 25 300 0.36 0.16 25 300 0.28 0.12 25 300
1/2400 0.36 0.15 25 300 0.31 0.12 25 300 0.24 0.09 25 300
1/2500 0.08 0.03 28 502 0.07 0.02 29 517 0.06 0.02 30 533
1/3000 0.06 0.02 24 455 0.05 0.02 24 464 0.04 0.01 25 477
1/3600 0.05 0.02 24 464 0.04 0.01 25 475 0.04 0.01 26 486
1/200 0.24 0.05 25 300 0.15 0.04 25 300 0.12 0.04 25 300
1/300 0.17 0.06 25 444 0.15 0.05 26 456 0.12 0.05 27 470
1/400 0.12 0.04 21 399 0.10 0.04 22 411 0.08 0.03 22 423
1/500 0.13 0.05 27 470 0.10 0.04 27 481 0.09 0.03 28 496
1/600 0.13 0.05 29 533 0.11 0.04 30 545 0.09 0.03 31 562
1/800 0.09 0.03 22 423 0.08 0.03 23 435 0.06 0.02 24 449
1/900 0.10 0.04 28 489 0.08 0.03 28 500 0.07 0.02 29 517
1/1000 0.07 0.02 23 442 0.06 0.02 24 453 0.05 0.02 24 464
8 0 1/1200 0.08 0.03 28 502 0.07 0.02 29 517 0.06 0.02 30 533
1/1500 0.06 0.02 24 455 0.05 0.02 24 464 0.04 0.01 25 477
1/1600 0.05 0.02 24 464 0.04 0.01 25 475 0.04 0.01 26 486
1/1800 0.89 041 33.8 400 0.64 0.36 35 400 0.53 0.28 35 400
1/2000 0.64 0.28 35 400 0.45 0.24 35 400 0.37 0.19 35 400
1/2400 0.53 0.20 35 400 0.36 0.17 35 400 0.28 0.13 35 400
1/2500 0.12 0.04 41 648 0.10 0.03 41 662 0.08 0.03 43 682
1/3000 0.08 0.03 34 573 0.07 0.02 35 585 0.06 0.02 36 598
1/3600 0.07 0.02 35 585 0.06 0.02 36 596 0.05 0.02 37 610
A13



i & A R % Worm Gear Reducer

Mg E TR

Character Table of Double Worm Gear Reducer

I.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m) O.H.L :Overhung Load(kgf) ( )means the actual ratio
LHP: B A S/ (HP) OMHP: 8GitHEH (HP)  O.T: i 4R%R (kg-m) OH.L : BREET & (kgf) () REERRREL
INPUT
RATINGS 1800 R.PM 1500 R.PM 1200 R.PM
1/200 1.16 0.61 50 575 0.95 0.52 50 622 0.76 0.40 50 650
1/300 0.84 0.40 50 650 0.67 0.33 50 650 0.53 0.27 50 650
1/400 0.67 0.31 50 650 0.52 0.25 50 650 0.40 0.20 50 650
1/500 0.57 0.24 50 650 041 0.20 50 650 0.35 0.16 50 650
1/600 0.49 0.20 50 650 0.39 0.16 50 650 0.31 0.12 50 650
1/800 0.52 0.15 50 650 0.40 0.12 50 650 0.32 0.09 50 650
1/900 041 0.12 50 650 0.31 0.11 50 650 0.27 0.08 50 650
1/1000 0.44 0.17 66 815 0.39 0.14 69 842 0.32 0.12 71 869
1 0 O 1/1200 0.35 0.13 62 744 0.30 0.11 63 766 0.25 0.09 65 788
1/1500 0.33 0.12 71 869 0.28 0.10 72 888 0.23 0.08 75 922
1/1600 0.33 0.12 74 919 0.28 0.10 76 943 0.23 0.08 78 973
1/1800 0.26 0.09 65 788 0.22 0.08 67 811 0.18 0.06 69 838
1/2000 0.26 0.09 73 905 0.22 0.08 76 930 0.18 0.07 78 956
1/2400 0.20 0.07 68 825 0.17 0.06 70 845 0.14 0.05 72 866
1/2500 0.22 0.08 76 935 0.19 0.07 78 956 0.16 0.05 80 981
1/3000 0.17 0.06 70 849 0.15 0.05 72 866 0.12 0.04 74 890
1/3600 0.15 0.05 72 866 0.13 0.04 73 885 0.10 0.03 75 907
1/200 2.04 1.04 84 618 1.72 0.87 84 675 144 0.69 84 749
1/300 147 0.69 84 749 1.24 0.57 84 814 1.01 0.45 84 1000
1/400 1.15 0.52 84 854 0.96 043 84 925 0.81 0.35 84 1000
1/500 0.96 041 84 942 0.88 0.35 84 1000 0.72 0.28 84 1000
1/600 0.88 0.35 84 1000 0.75 0.28 84 1000 0.61 0.23 84 1000
1/800 0.93 0.25 84 1000 0.77 0.12 84 1000 0.67 0.16 84 1000
1/900 0.68 0.23 84 1000 0.56 0.19 84 1000 0.47 0.15 84 1000
1/1000 0.76 0.29 114 1133 0.66 0.25 118 1172 0.55 0.20 122 1212
1 2 O 1/1200 0.57 0.21 100 1026 0.49 0.18 103 1058 0.40 0.15 107 1095
1/1500 0.57 0.20 122 1212 0.48 0.17 124 1239 0.40 0.14 129 1284
1/1600 0.54 0.19 121 1340 0.46 0.16 124 1376 0.35 0.12 118 1310
1/1800 042 0.15 107 1095 0.36 0.13 110 1128 0.30 0.11 114 1164
1/2000 045 0.16 127 1260 0.38 0.14 130 1297 0.32 0.11 134 1334
1/2400 0.34 0.12 112 1145 0.29 0.10 115 1175 0.24 0.08 118 1209
1/2500 0.38 0.13 131 1304 0.33 0.11 134 1334 0.27 0.09 137 1364
1/3000 0.29 0.10 116 1182 0.24 0.08 118 1209 0.20 0.07 121 1237
1/3600 0.25 0.08 118 1209 0.21 0.07 120 1232 0.17 0.06 123 1254
1/200 312 1.75 140 960 2.37 145 140 960 2.16 1.16 140 1156
1/300 2.24 1.16 140 1156 1.88 0.96 140 1156 1.56 0.77 140 1200
1/400 1.76 0.87 140 1200 1.51 0.72 140 1200 1.23 0.57 140 1200
1/500 147 0.69 140 1200 1.24 0.57 140 1200 1.01 0.45 140 1200
1/600 131 0.57 140 1200 1.09 0.48 140 1200 0.92 0.39 140 1200
1/800 135 043 140 1200 1.06 0.36 140 1200 0.96 0.28 140 1200
1/900 1.05 0.39 140 1200 0.89 0.32 140 1200 0.72 0.24 140 1200
1/1000 1.05 0.39 156 1382 0.90 0.34 161 1428 0.72 0.27 161 1420
1 3 5 1/1200 0.78 0.29 138 1221 0.67 0.25 142 1260 0.55 0.21 147 1304
1/1500 0.78 0.28 167 1481 0.67 0.24 172 1517 0.53 0.19 170 1505
1/1600 0.87 0.31 197 1780 0.74 0.26 202 1823 0.51 0.18 173 1559
1/1800 0.58 0.21 147 1304 0.50 0.18 152 1343 041 0.15 156 1386
1/2000 0.62 0.22 174 1542 0.53 0.19 179 1586 042 0.15 177 1568
1/2400 0.46 0.16 154 1363 0.39 0.14 158 1399 0.33 0.11 163 1439
1/2500 0.52 0.18 180 1596 0.45 0.15 185 1635 0.35 0.12 182 1606
1/3000 0.39 0.13 159 1407 0.33 0.11 163 1439 0.27 0.09 166 1472
1/3600 0.34 0.11 163 1439 0.29 0.10 166 1467 0.23 0.08 169 1493

A14



Mg E TR

Character Table of Double Worm Gear Reducer

I.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m) O.H.L :Overhung Load(kgf) ( )means the actual ratio
ILHP: B A B (HP) O.MHP: #tH ) (HP)  O.T: AR (kg-m) OHL : BREME (kof) () AEERRZEL
INPUT
RATINGS 1800 R.PM 1500 R.PM 1200 R.PM
1/200 5.08 149 225 1500 455 248 237 1500 3.83 2.01 242 1500
1/300 3.87 2.01 242 1500 3.33 1.68 242 1500 2.73 1.35 242 1500
1/400 3.03 1.52 242 1500 2.57 1.25 242 1500 212 1.00 242 1500
1/500 2.51 1.20 242 1500 2.13 1.00 242 1500 1.77 0.80 242 1500
1/600 2.27 1.00 242 1500 1.96 0.84 242 1500 161 0.67 242 1500
1/800 2.33 0.76 242 1500 2.00 0.63 242 1500 1.64 0.49 242 1500
1/900 1.88 0.68 242 1500 1.65 0.57 242 1500 1.37 0.45 242 1500
1/1000 143 0.54 213 1701 1.23 0.46 220 1754 1.02 0.38 228 1815
1 5 5 1/1200 1.05 0.39 185 1538 0.90 0.33 191 1589 0.74 0.28 197 1640
1/1500 1.06 0.38 228 1815 0.91 0.33 235 1870 0.76 0.27 244 1942
1/1600 0.99 0.35 224 1864 0.85 0.30 231 1919 0.71 0.25 239 1985
1/1800 0.77 0.28 197 1640 0.67 0.24 204 1696 0.56 0.20 212 1763
1/2000 0.85 0.30 239 1906 0.73 0.26 246 1961 0.60 0.21 253 2020
1/2400 0.62 0.22 208 1729 0.53 0.19 214 1780 0.44 0.15 220 1832
1/2500 0.72 0.25 247 1972 0.61 0.21 253 2020 0.51 0.17 261 2081
1/3000 0.53 0.18 215 1791 0.45 0.15 220 1832 0.37 0.13 226 1883
1/3600 0.46 0.15 220 1832 0.39 0.13 225 1873 0.32 0.11 230 1913
1/200 7.32 412 321 1800 6.52 3.63 338 1800 5.44 2.96 345 1800
1/300 5.52 2.95 345 1800 472 245 345 1800 3.89 1.96 345 1800
1/400 4.40 2.210 345 1800 3.76 1.84 345 1800 3.11 148 345 1800
1/500 345 1.72 345 1800 2.93 144 345 1800 248 117 345 1800
1/600 3.23 148 345 1800 2.76 1.23 345 1800 2.28 0.97 345 1800
1/800 2.64 111 345 1800 224 0.92 345 1800 2.55 0.73 345 1800
1/900 2.57 0.99 345 1800 2.24 0.83 345 1800 1.87 0.65 345 1800
1/1000 1.95 0.73 291 2110 1.69 0.63 302 2188 140 0.52 313 2268
1 7 5 1/1200 144 0.53 254 1875 1.24 0.46 263 1945 1.03 0.38 272 2015
1/1500 146 0.52 313 2268 1.24 0.45 320 2324 1.04 0.37 335 2429
1/1600 1.64 0.58 370 2628 140 0.50 381 2706 116 041 394 2799
1/1800 1.07 0.38 272 2015 0.92 0.33 281 2077 0.77 0.27 292 2162
1/2000 1.16 041 328 2376 1.00 0.35 338 2455 0.83 0.29 350 2535
1/2400 0.86 0.30 286 2116 0.74 0.26 295 2185 0.61 0.21 305 2256
1/2500 0.99 0.34 341 2471 0.85 0.29 350 2535 0.70 0.24 359 2606
1/3000 0.73 0.25 297 2199 0.63 0.21 305 2256 0.51 0.17 313 2313
1/3600 0.64 0.21 305 2256 0.54 0.18 311 2303 0.44 0.15 318 2355
1/200 9.81 5.71 454 2200 8.76 5.01 480 2200 7.28 4.08 488 2200
1/300 7.39 4.08 488 2200 6.31 340 480 2200 5.20 2.72 488 2200
1/400 5.76 3.05 488 2200 491 2.55 480 2200 4,01 2.04 488 2200
1/500 476 244 488 2200 4.04 2.04 480 2200 3.32 1.63 488 2200
1/600 4.24 2.04 488 2200 3.61 1.69 480 2200 3.01 1.36 488 2200
1/800 3.32 1.52 488 2200 2.85 1.27 480 2200 2.36 1.01 488 2200
1/900 3.25 131 488 2200 2.8 1.08 480 2200 233 0.87 488 2200
1/1000 2.86 1.07 427 2618 247 0.93 443 2715 2.05 0.77 459 2814
200 /1200 224 0.83 39 239 193 071 409 2473 1.60 0.59 423 2553
1/1500 2.14 0.77 459 2814 1.82 0.66 470 2883 1.52 0.55 491 3013
1/1600 2.36 0.84 533 3317 2.03 0.72 551 3426 1.69 0.60 572 3555
1/1800 1.66 0.59 423 2553 143 0.51 437 2640 1.19 042 454 2745
1/2000 1.70 0.60 481 2948 147 0.52 497 3046 121 043 513 3146
1/2400 133 0.47 446 2692 1.14 0.40 459 2772 0.94 0.33 472 2853
1/2500 146 0.50 500 3066 1.25 043 513 3146 1.02 0.35 527 3234
1/3000 1.14 0.39 461 2788 0.97 0.33 472 2853 0.80 0.27 485 2932
1/3600 0.98 0.33 472 2853 0.84 0.28 483 2916 0.68 0.23 493 2978
A15



i & A R % Worm Gear Reducer

Mg E TR

Character Table of Double Worm Gear Reducer

I.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m) O.H.L :Overhung Load(kgf) ( )means the actual ratio
LHP: B A S/ (HP) OMHP: 8GitHEH (HP)  O.T: i 4R%R (kg-m) OH.L : BREET & (kgf) () REERRREL
INPUT
RATINGS 1800 R.PM 1500 R.PM 1200 R.PM
1/200 14.3 8.45 650 2500 12.79 7.44 685 2500 104 5.99 690 2500
1/300 10.7 5.96 690 2500 9.08 497 690 2500 743 3.97 690 2500
1/400 8.03 432 690 2500 6.81 3.60 690 2500 561 2.88 690 2500
1/500 6.61 345 690 2500 5.64 2.88 690 2500 4.65 231 690 2500
1/600 6.15 2.97 690 2500 5.24 248 690 2500 431 1.99 690 2500
1/800 4.66 2.16 690 2500 3.96 1.80 690 2500 3.31 144 690 2500
1/900 470 1.99 690 2500 4,01 1.65 690 2500 3.31 132 690 2500
1/1000 377 141 563 3209 3.24 1.22 581 3312 2.72 1.02 608 3465
2 2 5 1/1200 2.98 1.10 527 2921 2.58 0.95 546 3025 2.18 0.81 577 3147
1/1500 2.83 1.02 608 3465 243 0.87 626 3568 2.02 0.73 650 3703
1/1600 3.27 1.16 738 4078 2.81 1.00 761 4207 2.34 0.83 792 4378
1/1800 2.23 0.79 568 3147 1.92 0.68 586 3251 1.59 0.57 608 3369
1/2000 2.26 0.80 638 3636 1.94 0.69 656 3741 161 0.57 683 3894
1/2400 1.78 0.62 596 3304 1.53 0.54 615 3409 1.27 0.44 637 3530
1/2500 1.93 0.67 662 3772 1.66 0.57 683 3894 1.37 0.47 705 4018
1/3000 1.53 0.52 619 3433 131 0.44 637 3530 1.07 0.37 654 3627
1/3600 1.33 0.44 637 3530 113 0.38 651 3611 0.92 0.31 664 3683
1/200 179 10.8 850 2700 15.2 8.99 850 2700 124 7.19 850 2700
1/300 12.7 7.19 850 2700 10.7 5.99 850 2700 8.76 479 850 2700
1/400 9.73 5.33 850 2700 8.25 4.44 850 2700 6.76 3.56 850 2700
1/500 8.08 4.27 850 2700 6.84 3.56 850 2700 5.61 2.84 850 2700
1/600 7.19 3.59 850 2700 5.16 2.52 850 2700 5.03 2.39 850 2700
1/800 5.64 2.67 850 2700 479 2.21 850 2700 3.95 1.77 850 2700
1/900 5.87 244 850 2700 5.00 2.04 850 2700 411 1.63 850 2700
1/1000 5.09 191 760 3789 4.38 1.64 785 3911 3.67 1.38 821 4091
2 5 0 1/1200 412 1.52 728 3456 3.56 1.32 755 3584 2.95 1.09 783 3714
1/1500 3.82 1.38 821 4091 3.28 1.18 845 4213 2.72 0.98 877 4373
1/1600 4.02 143 909 4523 3.44 1.22 933 4644 2.88 1.02 975 4848
1/1800 3.08 1.09 783 3714 2.65 0.94 807 3828 2.20 0.78 840 3984
1/2000 3.05 1.08 861 4293 2.61 0.93 886 4417 2.18 0.77 922 4598
1/2400 246 0.86 822 3899 2.12 0.74 849 4027 1.75 0.61 876 4157
1/2500 2.61 0.90 894 4453 2.24 0.77 922 4598 1.83 0.64 952 4744
1/3000 2.10 0.72 854 4053 1.80 0.61 876 4157 1.48 0.50 898 4262
1/3600 1.83 0.61 876 4157 1.55 0.52 895 4244 1.27 043 915 4339
1/200 21.0 129 1012 3800 185 11.2 1059 3800 16.0 9.46 1122 3800
1/300 16.4 9.45 1122 3800 14.5 8.27 1170 3800 12.1 6.80 1200 3800
1/400 136 7.60 1197 3800 115 6.27 1200 3800 9.30 5.07 1200 3800
1/500 109 5.87 1200 3800 9.33 493 1200 3800 7.60 4.00 1200 3800
1/600 10.1 5.06 1200 3800 8.53 4.27 1200 3800 6.93 3.33 1200 3800
1/800 7.86 3.73 1200 3800 6.66 3.20 1200 3800 5.47 2.53 1200 3800
1/900 7.60 3.33 1200 3800 6.53 2.80 1200 3800 5.30 2.27 1200 3800
1/1000 8.89 3.34 1327 5280 7.65 2.87 1369 5449 6.40 2.40 1432 5701
3 0 0 1/1200 6.45 2.39 1139 4734 5.55 2.05 1177 4891 4.60 1.70 1220 5073
1/1500 6.66 2.40 1432 5701 5.72 2.06 1475 5871 475 1.71 1531 6093
1/1600 7.04 2.50 1591 6597 6.04 2.14 1638 6792 5.02 1.78 1701 7050
1/1800 4.80 1.70 1220 5073 416 148 1270 5280 3.46 1.23 1321 5491
1/2000 532 1.89 1503 5982 4.56 1.62 1547 6155 3.80 1.35 1610 6407
1/2400 3.87 136 1295 5385 3.33 1.16 1334 5544 2.75 0.96 1377 5727
1/2500 4.54 1.57 1559 6205 391 1.35 1610 6407 3.23 1.11 1661 6611
1/3000 3.30 112 1341 5577 2.83 0.96 1377 5727 2.34 0.80 1426 5929
1/3600 2.87 0.96 1377 5727 246 0.82 1418 5895 2.02 0.68 1452 6035

A16



Mg E TR

Character Table of Double Worm Gear Reducer

I.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m) O.H.L :Overhung Load(kgf) ( )means the actual ratio
LHP: B A1 (HP) OHP: BaHiEE) (HP)  O.T: & %R (kg-m) OH.L : BERE (kgof) () AAERBRL
INPUT
RATINGS 900 RPM 600 R.PM

1/200 0.16 0.07 116 200 0.12 0.04 116 200

1/300 0.12 0.04 116 200 0.08 0.03 116 200

1/400 0.10 0.03 116 200 0.07 0.01 116 200

1/500 0.08 0.01 116 200 0.05 0.01 116 200

1/600 0.08 0.01 116 200 0.05 0.01 116 200

1/800 0.07 0.01 116 200 0.04 0.01 116 200

1/900 0.05 0.01 116 200 0.04 0.01 116 200

1/1000 0.05 0.02 16.1 368 0.04 0.01 169 386

60 1/1200 0.04 0.02 153 339 0.03 0.01 160 356
1/1500 0.04 0.01 16.9 386 0.03 0.01 179 409
1/1600 0.04 0.02 193 427 0.03 0.01 20.0 445
1/1800 0.03 0.01 16.0 356 0.02 0.01 16.8 373
1/2000 0.03 0.01 177 403 0.02 0.01 183 418
1/2400 0.02 0.01 16.7 370 0.02 0.01 172 381
1/2500 0.03 0.01 18.0 413 0.02 0.01 185 423
1/3000 0.02 0.01 17.0 376 0.01 0.01 174 385
1/3600 0.02 0.01 172 381 0.01 0.004 175 388

1/200 032 0.15 25 300 0.23 0.09 25 300

1/300 0.23 0.09 25 300 013 0.05 25 300

1/400 0.17 0.07 25 300 012 0.04 25 300

1/500 0.16 0.05 25 300 011 0.04 25 300

1/600 0.12 0.04 25 300 0.08 0.01 25 300

1/800 0.09 0.03 25 300 0.07 0.01 25 300

1/900 0.09 0.03 25 300 0.07 0.01 25 300

1/1000 0.09 0.04 28 489 0.06 0.02 29 517

T 0 1/1200 0.07 0.02 23 442 0.05 0.02 24 464
1/1500 0.07 0.02 29 517 0.05 0.02 31 544
1/1600 0.07 0.03 32 588 0.05 0.02 34 613
1/1800 0.05 0.02 24 464 0.03 0.01 26 486
1/2000 0.05 0.02 30 537 0.04 0.01 31 554
1/2400 0.04 0.01 25 481 0.03 0.01 26 498
1/2500 0.05 0.02 31 548 0.03 0.01 32 560
1/3000 0.03 0.01 26 491 0.02 0.01 27 504
1/3600 0.03 0.01 26 498 0.02 0.01 27 509

1/200 0.40 0.20 35 400 0.28 0.13 35 400

1/300 0.28 0.13 35 400 0.19 0.08 35 400

1/400 0.21 0.09 35 400 0.16 0.07 35 400

1/500 0.17 0.08 35 400 0.12 0.04 35 400

1/600 0.16 0.07 35 400 0.09 0.04 35 400

1/800 0.16 0.04 35 400 0.11 0.03 35 400

1/200 0.12 0.04 35 400 0.08 0.03 35 400

1/1000 0.13 0.05 39 628 0.09 0.03 41 662

80 1/1200 0.09 0.03 33 555 0.07 0.02 35 585
1/1500 0.10 0.03 41 662 0.07 0.02 44 699
1/1600 0.09 0.03 40 666 0.06 0.02 42 702
1/1800 0.07 0.02 35 585 0.05 0.02 37 610
1/2000 0.08 0.03 43 638 0.05 0.02 45 715
1/2400 0.05 0.02 36 602 0.04 0.01 38 627
1/2500 0.06 0.02 44 705 0.04 0.02 45 725
1/3000 0.05 0.02 37 617 0.03 0.01 38 636
1/3600 0.04 0.01 38 627 0.03 0.01 39 643

A17



i & A R % Worm Gear Reducer

Mg E TR

Character Table of Double Worm Gear Reducer

I.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m) O.H.L :Overhung Load(kgf) ( )means the actual ratio
LHP: B A B (HP) OMHP: 8 ES (HP)  O.T: &t 3R%E (kg-m) OHL : BRERE (kof) () AEERRZEL
INPUT
RATINGS 900 RPM 600 RPM
1/200 0.60 031 50 650 0.40 0.20 50 650
1/300 041 0.20 50 650 028 0.12 50 650
1/400 032 0.15 50 650 023 0.09 50 650
1/500 027 0.12 50 650 0.19 0.08 50 650
1/600 024 0.09 50 650 0.16 0.05 50 650
1/800 024 0.07 50 650 017 0.04 50 650
1/900 0.19 0.05 50 650 0.12 0.04 50 650
1/1000 0.24 0.09 73 905 017 0.07 78 956
100 1/1200 0.19 0.07 68 825 0.14 0.05 72 866
1/1500 0.18 0.07 78 956 0.13 0.05 82 1007
1/1600 0.18 0.06 81 1008 013 0.04 85 1062
1/1800 0.14 0.05 72 866 0.10 0.03 75 907
1/2000 0.14 0.05 81 990 0.10 0.04 84 1032
1/2400 011 0.04 74 896 0.08 0.03 77 928
1/2500 012 0.04 83 1017 0.08 0.03 85 1047
1/3000 0.09 0.03 76 915 0.06 0.02 78 940
1/3600 0.08 0.03 77 928 0.05 0.02 79 949
1/200 111 0.52 84 854 079 035 84 749
1/300 0.81 035 84 1000 0.56 033 84 899
1/400 0.64 0.25 84 1000 0.44 0.16 84 1000
1/500 0.57 0.20 84 1000 04 0.13 84 1000
1/600 048 0.16 84 1000 032 0.11 84 1000
1/800 032 012 84 1000 0.20 0.08 84 1000
1/900 0.36 011 84 1000 0.24 0.07 84 1000
1/1000 043 0.16 127 1260 030 011 134 1334
120 1/1200 032 012 112 1145 0.22 0.08 118 1209
1/1500 031 011 134 1334 0.22 0.08 141 1401
1/1600 027 0.10 123 1363 0.20 0.07 133 1478
1/1800 0.23 0.08 118 1209 0.16 0.06 123 1254
1/2000 0.24 0.09 138 1377 0.17 0.06 145 1439
1/2400 0.18 0.06 121 1241 013 0.04 126 1292
1/2500 021 0.07 142 1416 0.14 0.05 147 1461
1/3000 0.15 0.05 124 1270 0.11 0.04 129 1315
1/3600 013 0.04 126 1292 0.09 0.03 130 1331
1/200 168 087 140 1200 117 057 140 1156
1/300 120 057 140 1200 0.85 039 140 1200
1/400 0.96 043 140 1200 0.68 028 140 1200
1/500 0.80 035 140 1200 0.55 0.23 140 1200
1/600 0.72 028 140 1200 049 0.19 140 1200
1/800 0.73 0.20 140 1200 0.53 0.13 140 1200
1/900 0.59 0.19 140 1200 039 012 140 1200
1/1000 0.56 021 167 1478 0.40 0.15 177 1568
135 1/1200 0.44 0.16 154 1363 031 011 163 1439
1/1500 041 0.15 177 1568 0.29 0.10 185 1638
1/1600 0.40 0.14 179 1615 0.28 0.10 188 1696
1/1800 0.32 0.11 163 1439 0.22 0.08 169 1493
1/2000 0.32 0.11 182 1615 0.23 0.08 191 1638
1/2400 0.25 0.09 167 1478 0.17 0.06 174 1539
1/2500 0.27 0.09 187 1658 0.19 0.07 194 1718
1/3000 021 0.07 171 1511 0.15 0.05 177 1566
1/3600 0.18 0.06 174 1539 0.12 0.04 179 1584

A18



Mg E TR

Character Table of Double Worm Gear Reducer

I.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m) O.H.L :Overhung Load(kgf) ( )means the actual ratio

LHP: B A1 (HP) OHP: BaHiEE) (HP)  O.T: & %R (kg-m) OH.L : BERE (kgof) () ABEREERL
INPUT
RATINGS 900 RPM 600 R.PM
1/200 2.96 1.52 242 1500 1.08 1.00 242 1500
1/300 212 1.00 242 1500 151 0.67 242 1500
1/400 167 0.96 242 1500 116 0.49 242 1500
1/500 137 0.60 242 1500 0.96 0.40 242 1500
1/600 125 0.49 242 1500 0.8 032 242 1500
1/800 132 037 242 1500 0.92 024 242 1500
1/900 1.07 033 242 1500 0.79 0.23 242 1500
1/1000 0.80 030 239 1906 0.57 021 253 2020
155 1/1200 0.59 0.22 208 1729 042 0.15 220 1832
1/1500 0.59 021 253 2020 041 0.15 266 2121
1/1600 0.55 0.20 249 2066 038 0.14 259 2154
1/1800 043 0.15 220 1832 030 011 230 1913
1/2000 047 017 263 2096 032 011 272 2166
1/2400 0.34 012 228 1894 0.23 0.08 234 1951
1/2500 039 0.13 268 2136 027 0.09 278 2219
1/3000 0.29 0.10 232 1928 0.20 0.07 239 1991
1/3600 0.24 0.08 234 1951 0.17 0.06 244 2029
1/200 423 221 345 1800 2.96 148 345 1800
1/300 3.00 147 345 1800 213 097 345 1800
1/400 243 111 345 1800 172 073 345 1800
1/500 192 0.88 345 1800 136 0.59 345 1800
1/600 1.80 073 345 1800 128 048 345 1800
1/800 145 055 345 1800 107 036 345 1800
1/900 145 048 345 1800 107 032 345 1800
1/1000 110 041 328 2376 078 0.29 350 2535
175 1/1200 0.81 0.30 286 2116 0.58 021 305 2256
1/1500 0.81 0.29 350 2535 042 0.15 268 2667
1/1600 0.91 032 410 2914 0.63 022 427 3037
1/1800 0.60 021 305 2256 042 0.15 318 2355
1/2000 064 0.23 362 2629 0.44 0.16 375 2723
1/2400 047 0.16 315 2328 033 0.11 326 2408
1/2500 0.54 0.19 371 2689 037 0.13 382 2769
1/3000 0.40 0.13 321 2376 027 0.09 330 2440
1/3600 034 011 326 2408 0.23 0.08 337 2491
1/200 5.65 3.05 488 2200 3.96 2.04 488 2200
1/300 4.00 2.04 488 2200 2.84 136 488 2200
1/400 313 152 488 2200 221 101 488 2200
1/500 2.59 121 488 2200 181 0.80 488 2200
1/600 235 101 488 2200 168 068 488 2200
1/800 1.83 076 488 2200 165 051 488 2200
1/900 1.20 043 488 2200 133 0.44 488 2200
1/1000 161 0.60 481 2948 115 043 513 3146
200 1/1200 1.26 047 446 2692 0.89 033 472 2853
1/1500 119 043 513 3146 0.84 030 540 3309
1/1600 131 047 594 3693 0.92 033 622 3867
1/1800 0.93 033 472 2853 0.65 0.23 493 2978
1/2000 0.94 033 532 3262 0.65 0.23 551 3379
1/2400 0.73 0.26 488 2949 0.50 0.18 503 3037
1/2500 0.79 027 544 3337 0.54 0.19 560 3435
1/3000 061 021 597 3002 042 0.14 513 3100
1/3600 0.52 0.18 503 3037 036 0.12 523 3158
A19



i & A R % Worm Gear Reducer

Mg E TR

Character Table of Double Worm Gear Reducer

I.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m) O.H.L :Overhung Load(kgf) ( )means the actual ratio
LHP: B A/ (HP) OHP: BB (HP)  O.T: Bt HR%E (kg-m) OH.L : BREET & (kgf) () RBBERERELE
INPUT
NS 900 R.PM 600 R.PM
1/200 8.13 448 690 2500 5.64 2.99 690 2500
1/300 5.76 2.97 690 2500 4.04 1.99 690 2500
1/400 4.36 2.16 690 2500 3.08 144 690 2500
1/500 3.61 1.72 690 2500 2.56 1.15 690 2500
1/600 3.40 148 690 2500 2.36 0.99 690 2500
1/800 2.59 1.08 690 2500 1.84 0.72 690 2500
1/900 2.63 0.99 690 2500 1.84 0.65 690 2500
1/1000 241 0.80 638 3636 1.53 0.57 683 3894
2 2 5 1/1200 1.69 0.62 596 3304 1.20 0.44 637 3530
1/1500 148 0.53 638 3894 112 0.40 719 4101
1/1600 1.82 0.65 824 4552 1.27 0.45 864 4776
1/1800 1.25 0.44 637 3520 0.87 0.31 664 3683
1/2000 1.26 0.45 710 4049 0.87 0.31 739 4211
1/2400 0.98 0.34 658 3645 0.68 0.24 682 3778
1/2500 1.06 0.36 726 4140 0.73 0.25 751 4282
1/3000 0.83 0.28 671 3721 0.57 0.19 692 3835
1/3600 0.71 0.24 682 3778 0.49 0.16 702 3889
1/200 9.58 5.39 850 2700 6.64 3.58 850 2700
1/300 6.80 3.59 850 2700 474 2.39 850 2700
1/400 5.27 2.67 850 2700 49 2.36 850 2700
1/500 4.40 212 850 2700 3.08 141 850 2700
1/600 3.95 1.79 850 2700 2.76 1.19 850 2700
1/800 3.08 1.32 850 2700 217 0.88 850 2700
1/900 411 1.21 850 2700 2.85 0.80 850 2700
1/1000 2.89 1.08 861 4293 2.06 0.77 922 4598
2 5 0 1/1200 2.33 0.86 822 3899 1.65 0.61 876 4157
1/1500 2.15 0.77 922 4598 151 0.54 972 4842
1/1600 2.25 0.80 1016 5057 1.57 0.56 1066 5304
1/1800 172 0.61 876 4157 1.20 0.43 915 4339
1/2000 1.70 0.60 959 4781 1.18 0.42 998 4972
1/2400 1.35 0.47 904 4290 0.93 0.33 935 4437
1/2500 143 0.49 981 4888 0.98 0.34 1014 5056
1/3000 1.14 0.39 923 4378 0.78 0.26 948 4496
1/3600 0.97 0.33 935 4437 0.67 0.23 968 4591
1/200 13.2 7.60 1195 3800 9.20 5.07 1200 3800
1/300 9.47 5.07 1200 3800 6.53 3.33 1200 3800
1/400 7.33 3.73 1200 3800 5.20 2.53 1200 3800
1/500 6.00 2.93 1200 3800 4.27 2.00 1200 3800
1/600 5.47 2.53 1200 3800 3.87 173 1200 3800
1/800 427 1.87 1200 3800 3.07 1.20 1200 3800
1/900 427 173 1200 3800 3.07 1.07 1200 3800
1/1000 5.04 1.89 1503 5982 3.60 135 1610 6407
300 1/1200 3.67 1.36 1295 5385 2.60 0.96 1377 5727
1/1500 3.75 135 1610 6407 2.63 0.95 1696 6748
1/1600 3.95 1.40 1785 7399 2.76 0.98 1871 7757
1/1800 271 0.96 1377 5727 1.90 0.68 1452 6035
1/2000 2.96 1.05 1674 6662 2.05 0.73 1741 6929
1/2400 2.15 0.75 1436 5969 1.48 0.52 1487 6181
1/2500 249 0.86 1712 6812 1.72 0.59 1770 7046
1/3000 1.80 0.61 1464 6088 1.25 042 1517 6309
1/3600 1.55 0.52 1487 6181 1.07 0.36 1538 6393

A20



AR H R BTV 4R

Character Table of Direct Input Worm Gear Reducer

I.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m) O.H.L : Overhung Load(kgf) (') means the actual ratio
|.HP: B A B (HP) OHP: B (HP) O.T: B R%E (kg-m) OH.L : BRETE (kof) () AEERRZEL
INPUT
RATINGS 1800 R.PM 1500 R.PM
1/10 0.25 0.19 0.79 100 0.25 0.19 0.93 107
1/15 0.25 0.19 113 115 0.25 0.17 133 115
1/20 0.25 0.16 139 115 0.25 0.16 164 115
50 1/30 0.25 0.16 1.98 115 0.25 0.16 230 115
1/40 0.25 0.13 230 115 0.25 0.13 2.63 115
1/50 0.25 0.13 2.82 115 0.25 0.12 324 115
1/60 0.25 0.12 315 155 0.25 0.12 361 115
1/10 05 0.40 160 98 05 039 1.90 98
1/15 05 037 230 116 05 037 272 116
1/20 05 036 293 138 05 036 3.46 138
60 1/30 05 035 4.05 151 05 032 476 151
1/40 05 032 5.00 178 05 0.29 5.84 178
1/50 05 032 6.00 200 05 0.29 6.60 200
1/60 05 0.29 7.20 200 05 0.29 7.90 200
1/10 1 0.80 322 128 1 08 3.84 128
1/15 1 076 463 153 1 076 551 153
1/20 1 046 6.06 178 1 075 717 178
70 1/30 1 068 821 198 1 067 971 198
1/40 1 0.65 105 233 1 0.64 124 233
1/50 05 028 5.66 266 05 027 6.62 266
1/60 05 027 6.66 289 05 027 7.82 289
1/10 2 165 6.59 180 2 161 772 180
1/15 2 157 941 215 2 156 1116 215
1/20 2 1.53 1222 253 2 152 14.50 253
8 0 1/30 2 1.44 17.13 277 2 133 19.20 277
1/40 2 129 1514 326 2 126 17.02 326
1/50 1 065 13.10 364 1 0.64 155 364
1/60 1 0.60 14.28 400 1 057 15.70 400
1/10(9.67) 3 245 981 167 3 244 117 177
1/15 3 237 142 204 3 235 16.8 217
1/20 3 233 187 239 3 232 222 252
100 1/30 3 2.13 256 265 3 2.08 301 281
1/40 3 139 222 316 3 136 26.2 336
1/50 2 132 2656 364 2 131 314 386
1/60 2 127 304 400 2 131 327 424
1/10(9.67) 5 412 167 177 5 411 196 184
1/15 5 3.99 23.9 218 5 3.96 284 231
1/20 5 385 308 270 5 381 365 285
120 1/30 5 3.19 432 285 5 356 511 302
1/40 5 2.04 325 357 5 2.00 383 380
1/50 3 2.08 416 404 3 2.04 491 429
1/60 3 195 46.7 453 3 2.2 519 481
1/10(9.67) 7.5 6.25 24.9 304 7.5 6.23 29.8 319
1/15 75 6.08 363 362 75 6.04 433 384
1/20 75 6.00 4738 426 75 593 56.7 449
135 1/30 75 557 66.6 468 75 551 79.0 496
1/40 5 363 579 566 5 356 68.1 599
1/50 5 352 70.1 650 5 328 78.7 691
1/60 5 2.80 67.0 724 5 248 71.2 769
A21



i & A R % Worm Gear Reducer

IR R ERIVIT IR

Character Table of Direct Input Worm Gear Reducer

[.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m) O.H.L : Overhung Load(kgf) (') means the actual ratio
LLHP: B A1 (HP) O.HP: 8B (HP) O.T: EaHi3R*E (kg-m) OHL : BREME (kof) () NEERRELE
INPUT
RATINGS 1800 R.PM 1500 R.PM

1/200 0.25 0.12 9.72 400 0.25 0.11 11.30 400
1/300 0.25 0.11 13.50 400 0.25 0.09 15.59 400
1/400 0.25 0.90 16.15 400 0.25 0.08 18.72 400
1/500 0.25 0.08 19.57 400 0.25 0.08 22.59 400
1/600 0.25 0.08 22.22 400 0.25 0.08 25.62 400
1/800 0.25 0.04 18.60 400 0.25 0.04 2141 400
1/900 0.25 0.07 28.25 400 0.25 0.07 3249 400
1/1000 0.125 0.094 35.54 567 0.125 0.094 36.66 585
8 0 1/1200 0.125 0.093 29.98 499 0.125 0.093 30.95 515
1/1500 0.125 0.090 37.79 603 0.125 0.090 38.68 617
1/1600 0.125 0.089 36.55 607 0.125 0.089 37.53 624
1/1800 0.125 0.089 31.94 532 0.125 0.089 32.83 547
1/2000 0.125 0.089 39.37 628 0.125 0.089 40.42 645
1/2400 0.125 0.088 33.63 555 0.125 0.088 34.26 570
1/2500 0.125 0.086 40.63 648 0.125 0.086 4148 662
1/3000 0.125 0.085 34.44 573 0.125 0.085 35.17 585
1/3600 0.125 0.084 35.17 585 0.125 0.084 35.78 596
1/200 0.5 0.25 21.23 575 0.5 0.25 2492 622
1/300 0.5 0.24 29.72 650 0.5 0.24 34.63 650
1/400 0.5 0.23 37.01 650 0.5 0.21 43.16 650

1/500 * * * * * * * *

1/600 * * * * * * * *

1/800 * * * * * * * *

1/900 * * * * * * * *
1/1000 0.25 0.19 66.49 815 0.25 0.19 68.68 842
1 0 0 1/1200 0.25 0.19 61.60 744 0.25 0.19 63.40 766
1/1500 0.25 0.18 70.91 869 0.25 0.18 72.45 888
1/1600 0.25 0.18 73.86 919 0.25 0.18 75.85 943
1/1800 0.25 0.18 65.23 788 0.25 0.18 67.14 811
1/2000 0.25 0.18 73.81 905 0.25 0.18 75.86 930
1/2400 0.25 0.18 68.25 825 0.25 0.18 69.93 845
1/2500 0.25 0.17 76.28 935 0.25 0.17 77.95 956
1/3000 0.25 0.17 70.27 849 0.25 0.17 71.63 866
1/3600 0.25 0.17 71.63 866 0.25 0.17 73.23 885
1/200 1 0.51 41.01 618 1 0.49 48.16 675
1/300 1 0.47 56.77 749 1 0.45 66.54 814
1/400 1 0.44 72.59 854 1 0.44 84.66 825
1/500 0.5 0.20 40.69 942 0.5 0.19 47.17 1000
1/600 0.5 0.19 47.36 1000 0.5 0.19 55.20 1000
1/800 0.5 0.12 44.00 1000 0.5 0.12 50.80 1000
1/900 0.5 0.16 60.64 1000 0.5 0.16 70.43 1000
1/1000 0.5 0.38 113.83 1133 0.5 0.38 117.77 1172
120 1/1200 05 037 100.27 1026 05 037 103.44 1058
1/1500 0.5 0.36 121.77 1212 0.5 0.36 124.48 1239
1/1600 0.5 0.36 120.96 1340 0.5 0.36 124.15 1376
1/1800 0.5 0.36 107.07 1095 0.5 0.36 110.28 1128
1/2000 0.5 0.36 126.63 1260 0.5 0.36 130.32 1297
1/2400 0.5 0.35 111.90 1145 0.5 0.35 114.88 1175
1/2500 0.5 0.35 131.06 1304 0.5 0.35 134.05 1334
1/3000 0.5 0.34 115.54 1182 0.5 0.34 118.20 1209
1/3600 0.5 0.34 118.20 1209 0.5 0.34 120.44 1232

A22



MR R ERIVIT IR

Character Table of Direct Input Worm Gear Reducer

I.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m) O.H.L : Overhung Load(kgf) (') means the actual ratio
L.HP: 8§ A S (HP) OHP: EHE ] (HP) O.T: Bt R%E (kg-m) OH.L : BREETTE (kof) () REERRREL

INPUT
RATINGS

1800 R.PM 1500 R.PM

1/200 2 112 89.36 960 2 1.09 104.88 1045
1/300 2 1.04 125.0 1156 2 1.03 140.00 1200
1/400 2 0.99 140.0 1200 2 0.96 140.00 1200
1/500 1 0.47 94.97 1200 1 0.45 111.39 1200
1/600 1 0.44 106.2 1200 1 043 124.10 1200
1/800 1 031 101.9 1200 1 031 11848 1200
1/900 1 0.36 1311 1200 1 035 140.00 1200
1/1000 1 0.75 156.25 1382 1 075 16148 1428
1 3 5 1/1200 1 0.74 137.85 1221 1 0.74 1422 1260
1/1500 1 072 167.49 1481 1 072 171.54 1517
1/1600 1 071 197.02 1780 1 071 201.73 1823
1/1800 1 071 147.19 1304 1 071 151.60 1343
1/2000 1 071 17431 1542 1 071 17931 1586
1/2400 1 0.70 153.83 1363 1 0.70 157.94 1399
1/2500 1 0.69 180.42 159 1 0.69 184.87 1635
1/3000 1 0.68 158.85 1407 1 0.68 162.50 1439
1/3600 1 0.67 1625 1439 1 067 165.58 1467
1/200 3 165 132.73 1500 3 163 156.10 1500
1/300 3 156 187.21 1500 3 151 217.35 1500
1/400 * * * * * * * *
1/500 2 0.96 19237 1500 2 0.93 224.50 1500
1/600 2 0.88 211.80 1500 2 0.84 242.00 1500
1/800 2 0.64 206.45 1500 2 061 239.95 1500
1/900 2 0.68 242.00 1500 2 0.57 242.00 1500
1/1000 2 150 213.36 1701 2 1.50 220.05 1754
1 5 5 1/1200 2 1.48 184.84 1538 2 148 190.95 1589
1/1500 2 1.44 227.65 1815 2 144 234.60 1870
1/1600 2 142 224.49 1864 2 142 23112 1919
1/1800 2 142 197.14 1640 2 142 203.81 1696
1/2000 2 1.42 239.10 1906 2 142 24593 1961
1/2400 2 1.40 207.86 1729 2 1.40 214.00 1780
1/2500 2 138 24731 1972 2 138 25341 2020
1/3000 2 136 215.24 1791 2 136 220.23 1832
1/3600 2 134 220.23 1832 2 134 22517 1873
1/200 5 2.83 22017 1500 5 277 259.34 1500
1/300 * * * * * * * *
1/400 3 1.49 23411 1800 3 147 274.74 1800
1/500 3 1.49 291.95 1800 3 147 34321 1800
1/600 3 136 320.02 1800 3 123 345.00 1800
1/800 3 111 345.00 1800 3 0.92 345.00 1800
1/900 3 0.99 345.00 1800 3 0.83 345.00 1800
1/1000 3 2.25 290.91 2110 3 2.25 301.70 2188
175 1/1200 3 2.22 253.58 1875 3 222 262.97 1945
1/1500 3 2.16 312.66 2268 3 2.16 320.39 2324
1/1600 3 213 369.82 2628 3 2.13 380.75 2706
1/1800 3 2.13 27248 2015 3 213 280.83 2077
1/2000 3 213 32757 2376 3 2.13 33848 2455
1/2400 3 2.10 286.10 2116 3 2.10 29549 2185
1/2500 3 2.07 340.68 2471 3 2.07 34955 2535
1/3000 3 2.04 297.38 2199 3 2.04 305.00 2256
1/3600 3 2.01 305.00 2256 3 2.01 31141 2303
A23



B & R % Worm Gear Reducer

IR R ERIVIT IR

Character Table of Direct Input Worm Gear Reducer

[.HP: Input HP O.HP: Output HP O.T: Output Torque(kg-m) O.H.L : Overhung Load(kgf) () means the actual ratio
L.HP: A B (HP) OHP: #iHH B (HP) O.T: #gH %R (kg-m) OH.L : FRETE (kof) () NEERRELE

INPUT

RATINGS 1800 R.PM 1500 R.PM

1/200 7.5 4.36 347.65 2200 7.5 4.28 409.66 2200
1/300 5 275 329.09 2200 5 268 38567 2200
1/400 5 264 42255 2200 5 255 488.00 2200
1/500 5 244 488.00 2200 5 204 488.00 2200
1/600 5 204 488.00 2200 5 169 488.00 2200
1/800 5 152 488.00 2200 5 127 488.00 2200
1/900 5 131 488.00 2200 5 108 488.00 2200
1/1000 5 375 427.00 2618 5 375 44285 2715
200 1/1200 5 370 396.22 2394 5 370 409.33 2473
1/1500 5 3.60 458.95 2814 5 3.60 47027 2883
1/1600 5 355 53344 3317 5 355 55093 3426
1/1800 5 355 422,62 2553 5 355 436.89 2640
1/2000 5 355 480.82 2948 5 355 496.84 3046
1/2400 5 350 44558 2692 5 350 45877 2772
1/2500 5 345 500.08 3066 5 345 513.10 3146
1/3000 5 340 46142 2788 5 340 47212 2853
1/3600 5 335 47212 2853 5 335 48271 2916
1/200 * * * * * * * *
1/300 75 417 48255 2500 75 4.09 568.57 2500
1/400 75 227 643.02 2500 75 3.60 690.00 2500
1/500 75 345 690.00 2500 75 2.88 690.00 2500
1/600 75 297 690.00 2500 75 248 690.00 2500
1/800 75 216 690.00 2500 75 1.80 690.00 2500
1/900 75 1.99 690.00 2500 75 165 690.00 2500
1/1000 75 563 563.00 3209 75 563 581.06 3312
225 1/1200 75 5.55 526.88 2921 75 5.55 545.80 3025
1/1500 75 5.40 607.87 3465 75 5.40 625.99 3568
1/1600 75 533 737.65 4078 75 533 760.99 4207
1/1800 75 533 567.67 3147 75 533 586.47 3251
1/2000 75 533 63778 3636 75 533 656.34 3741
1/2400 75 5.25 595.98 3304 75 5.25 614.96 3409
1/2500 75 345 661.66 3772 75 345 683.10 3894
1/3000 75 3.40 619.29 3433 75 3.40 63673 3530
1/3600 75 335 63673 3530 75 335 651.41 3611

A24



Ed ;.

)

Worm Gear Reducer BB &G

=)
=2
=
<
2
&
=]
<

Ll
2
o

PRODUCT

PAGE

r— "7 - - - - - - - 7Fr - - - - - - - 7¥rT - - - - - — - -FrQr - - == —-—- -7 - - = = = = - 75T - = == - —— 7T — — — — — — — 4

41
42
43
44
45
46
47
48

I
L
>
o

PAH
PBH
PVH
PLH
PAEH
PBEH

L
=l
o

38-39

30
31-32
33-34
36
37
40

35

PAE

A25



r— "7 - - - - - - - 7Fr - - - - - - - 7¥rT - - - - - — - -FrQr - - == —-—- -7 - - = = = = - 75T - = == - —— 7T — — — — — — — 4

PAGE

MPHSA 63
MPHSB 64

o
©
Z
(72)]
I
o
>

PHSN 58
PHSA 59
PHSB 60
PHSV 61

N~
o
>
I
o
p=

PRODUCT

©
)
m
I
o
>

PLEH 49
MPHN 54
MPHA 55

R Worm Gear Reducer

/

=
v
>
()]
o]
e
o




Worm Gear Reducer {8 ) 53 4 A A

A01~A119

TYPE PAGE PRODUCT PAGE

*******************************************

*******************************************

PAW  67-68

A27



R Worm Gear Reducer

/

PAGE

TYPE

[
O
>
()]
o
=4
o

r— "7 - - - - - - - 7Fr - - - - - - - 7¥rT - - - - - — - -FrQr - - == —-—- -7 - - = = = = - 75T - = == - —— 7T — — — — — — — 4

112-113
114-115
116-117
119

120

=

L
I L mu ¢w (@)
L < < a e
> o o o o

ly

LL
(@]
o

on
= N~
o — o
> = - n
o i o < o © © o
P o — o o o o o
S W - — — — —
= S
n n T
> T T S O S T
n (@) L
T o o < m > H o
o = = o o o >

‘S X223 X2

L — — — — — — b e e e e e e e e e e e L — — 2

A28



Worm Gear Reducer M) iy Sl R A

A01~A119

WRdE - EE R - PA

Worm Gear - PA

AAOPATSS SHAFT DIRECTION
A 8 x
N AB =
Oil plug i —r
= — HS InputVShqft
HK . ,
| © ©
== '_{: Ui rH I
_.d < 7 © © \1 LK OutputY Shaft \
o v LUF |;_“___‘g’ ;’:
pili ] e = c— ===
LI I Drgin plug | 5
==
!
E
M

JR] <] Z= DIMENSION *in millimeter

40 1/8 | * |138| 83 |107| 72 | 40 | 55 | 95 | 115| 90 | 50 | 80 | 120 | 13 | 9 |25 12 |13.5(4X4X20|30 | 15|17 |5X5X25 5.0 |0.20
50 1/4 | 1/8 | 175|105 |145| 95 | 50 | 95 | 110|180 | 130 | 80 | 120|140 | 15 | 11 | 30| 12 |13.5(4X4X25/40 | 17 | 19 |5X5X35| 55 |0.31
60 1/2 | 1/4 | 198 | 120 | 165 | 110 | 60 | 105 | 120 | 210 | 150 | 90 | 130|150 | 18 | 11 |40 | 15|17 |5X5X35|50 | 22 | 25 |7X7X45| 8.2 |0.42

70 (%% 1 |1/2 235|140 195|130 | 70 | 115|150 | 240 | 175 | 105 | 150 | 190 | 20 | 15 |40 | 18 | 20 |5X5X35| 60 | 28 | 31 |7X7Xx55(12.8|0.77

(%)
110
115

100 | 120 | 3 | 2 |325|190 | 260|170 | 100 | 155 | 220 | 340 | 250 | 150 | 190 | 270 | 25 | 15 | 50| 25 | 28 |7X7x45| 75 | 38 | 41 10X8X 65 33.0 | 2.31

1:30

1:40

80 2 1 | 264|160 |210 | 140 | 80 | 135|180 | 270|200 |120 | 170|220 | 24 | 15 |50 | 22 | 25 |7X7X45| 65 | 32 | 35 10X8X60 18.0 |1.18

120 150 5 3 1389 |230|290 | 190|120 | 180 | 260 | 405 | 300 | 180 | 230 | 320 | 30 | 18 | 65|30 | 33 |7X7X55| 85 | 45 | 48 12X8X70 55.0 | 3.16
135 e 75| 5 |438]260|320 210 | 135|200 | 290 | 455 | 350 | 215 | 250 | 350 | 35 | 18 | 75| 35| 38 [10X8X#65/ 95 | 55 | 60 [15x10x80| 76.0 | 4.10
155 10 | 7.5 | 510 | 302 | 387 | 252 | 155 | 220 | 320 | 490 | 390 | 235 | 280 | 390 | 35 | 20 | 85|40 | 43 |[10X8X75/110| 60 | 65 [15X10%95/104.0| 7.00
175 15 | 10 | 556 | 325|410 | 262 | 175 | 250 | 350 | 565 | 435 | 260 | 310 | 420 | 40 | 20 | 85| 45| 48 |12X8X75/110| 65 | 69 |18X11x95/148.0| 8.00
200 20 | 15 | 578 | 340 | 458 | 305 | 200 | 290 | 350 | 625 | 490 | 290 | 350 | 420 | 42 | 22 | 95|50 | 53 |12X8X85/125| 70 |74.5|20%12x110201.0| 9.50

A29
N



B & R % Worm Gear Reducer

WRdw - EEZ R - PB

Worm Gear - PB

PB50~PB135 PB155~PB5 BHACE SHAFT DIRECTION

A
i AB
0il plug
L}
Output Shaft
Y
e = ;‘E [
Input Shaft
»—{: =
—1d -
= i
K
iz F
Drgin plug |~ N 4-97

W do do 0

JR] <] Z= DIMENSION *in millimeter

50 1/4 | 1/8 | 175|105 |145| 95 | 50 | 95 | 110|180 | 50 |[100 | 120|140 | 15 | 11 | 30| 12 |13.5] 4x4x25 |40 | 17 | 19| 5x535 | 53 |0.24
60 1/2 | 1/4 1198 | 120 | 165 | 110 | 60 | 105|120 | 210 | 60 |120| 130|150 | 18 | 11 | 40| 15|17 | 5x5x35 |50 | 22 | 25 | 7x7x45 | 8.1 |0.33
70 1 |1/2|235]140| 195|130 | 70 | 115|150 | 240 | 70 | 140 | 150 [190 | 20 | 15 |40 |18 | 20| 5x5x35 |60 | 28 | 31 | 7x7x55 |13.4|0.50

80 #—:5% 2 1 264|160 |210|140 | 80 | 135|180 |270| 80 |160 | 170|220 | 24 | 15 | 50|22 | 25| 7x7x45 | 65 | 32 | 35 | 10x8x60 | 18 |0.77

(“/é)
110
115

120|120 | 5 3 1389 |230|290|190 | 120|180 | 260 | 405 | 120 | 240 | 230 | 320 | 30 | 18 | 65|30 |33 | 7x7x55 | 85 |45 | 48 | 12x8x70 | 52 |2.35

1:30

1:40

100 3 2 [325]190| 260 | 170 | 100 | 155 | 220 | 340 | 100 | 200 | 190 | 270 | 25 | 15 |50 | 25|28 | 7x7x45 | 75 | 38 | 41 | 10x8x65 | 30 |1.50

135 150 75| 5 |438|260 |320| 210 | 135|200 | 290 | 455 | 135|270 | 250 | 350 | 30 | 18 | 75|35 |38 | 10x8x65 | 95 | 55 | 60 | 15x10x80 | 74 | 3.2
155 e 10 | 7.5 | 510 | 302 | 387 | 252 | 155 | 220 | 320 | 490 | 135 | 290 | 280 | 390 | 35 | 20 | 85|40 |43 | 10x875 |110| 60 | 65 | 15x10x95 | 101 | 4.0
175 15 | 10 | 556 | 325|410 | 262 | 175 | 250 | 350 | 565 | 160 | 335 | 310 | 420 | 40 | 20 | 85|45 |48 | 12x875 |110| 65 | 69 | 181195 | 143 | 5.7
200 20 | 15 | 578 | 340 | 458 | 305 | 200 | 290 | 350 | 625 | 175 | 375 | 350 | 420 | 42 | 22 | 95| 50 | 53 | 12x8x85 |125| 70 [74.5| 20x12x110 | 186 | 7.9
225 25 | 20 | 645|375 |520| 335|225 330|390 | 705|190 | 415 | 410 | 470 | 40 | 27 | 95|55 | 60 | 15x10x90 {140| 80 (84.5| 20x12x105 | 205 | 9.4
A30



Worm Gear Reducer

A01~A119

J] <} 2% DIMENSION *in millimeter

250 (4zpxy 30 | 25 | 734|423 | 500 | 360 | 250 | 380 | 440 | 755 | 200 | 450 | 460 | 520 | 48 | 27 |110| 60 | 65 |15x10x100|155| 90 | 98 |24x16x130| 296 | 12.7

300 (%%) 40 | 30 | 827 | 470 | 610 | 410 | 300 | 340 | 480 | 855 | 200 | 500 | 450 | 580 | 50 | 36 |125| 70 | 75 |18x11x110|170| 95 |101 |28x16x150| 380 | 21

350 1;3 50 | 40 | 980 | 570 | 750 | 480 | 350 | 432 | 597 | 995 | 215 | 565 | 520 | 700 | 50 | 43 |145| 80 |84.5/20x12x130|190 115|122 |32x18x170| 560 | 31

400 iig 60 | 50 |1100| 620 | 775 | 500 | 400 | 470 | 660 |1105| 250 | 650 | 580 | 812 | 50 | 43 |150| 85 | 93 |24x16x140|200|130|138|36x20x180| 850 | 63
1:50

500 | %0 | 75 | 60 |1410| 810 | 950 | 610 | 500 | 584 | 889 |1390| 290 | 790 | 710 |1040| 60 | 48 |205| 95 |103|24x16x190|240|170| 179 |40x22x220|1500| 78

A31




{8 &

B3 i -

Worm Gear - PV

yEBES

R Worm Gear Reducer

EEg R - PV

BHAZE SHAFT DIRECTION

PV50~PV135
.G
A& ||
Input Shaft
() I -] LS 3,5
. d Y [k |/|[e+©
i 8{ %ﬁ‘@g o ——
= wh n ha Dr;itrllmﬁlug
Output Shaft O‘mm
il_gauge B
o B |
PV155~PV175
Y A
offiy—* input Shoft ¢
’j_i npu a —
a hlﬁ HF @§
IJJ8 _d Y e ﬂ
=
%g —1 _____ -_ %
o K| [U
S ]
; the e
o e Output Shaft |-—B8 T BC0rgn pig
PV200~PV500
A AB
S \npultbs?mft G
"? HK I ST
- (e
(© 9 E 9 &P
< Q\ (/O
N T . =l
/A E} € '”9’1 — riEE=3ss
QI & k |I\
s |
output shuﬂ -
EBA i i T
ug Drgin

A32




Worm Gear Reducer jgig

A01~A119

JR]~F Z= DIMENSION *in millimeter

Ax4x25 5x5x35

60 1/2 | 1/4 | 198 | 120 | 165|110 | 55 | 123 | 60 | 105 | 120 | 100 | 260 | 126 | 18 | 11 |40 | 15|17 | Sx5x35 |50 | 22 | 25 | 7x7x45 | 8.8 | 0.66

70 1 | 1/2|235|140|200|130| 70 | 140 | 70 | 120 | 135|120 | 295|158 | 20 | 15 | 40|18 |20 | 5x5x35 |60 | 28 | 31 | 7x7xs5 |14.2|1.17

80 2 | 1 |264|160|210|140| 70 | 150 | 80 | 130|150 | 140|320 | 176 | 20 | 15 | 50|22 | 25| 7x7x45 | 65 | 32 | 35 | 10x8x60 | 18.0 | 1.49

100 3 | 2 |325|190|260|170| 90 | 175|100 | 155|180 | 190 | 375|226 | 30 | 15 | 50| 25|28 | 7x7x45 | 75| 38 | 41 | 10x8x65 | 33.0 | 2.95

120 5 | 3 |389|230|290 | 190|100 | 210|120 | 185|215 | 220 | 450 | 268 | 30 | 18 | 65|30 | 33| 7x7xs5 | 85 | 45 | 48 | 12x8x70 | 57.0 | 5.0
€373

135 15 | 75| 5 |438|260|320 | 210 | 110|235 | 135|210 | 235|260 | 495|306 | 35 | 18 | 75| 35|38 | 10x8x65 | 95 | 55 | 60 |15x10x80 | 81.0 | 7.2

y
(124

155 Eg 10 | 7.5 | 510 | 302 | 392 | 252 | 140 | 170 | 155 | 145 | 265 | 290 | 456 | 336 | 35 | 20 | 85|40 | 43 | 10x8&75 |110| 60 | 65 |15x10x95 | 111 | 8.3

175 1;2 15 | 10 | 556 | 325|412 | 262 | 150 | 195 | 175|167 | 293 | 320 | 516 | 380 | 40 | 20 | 85|45 |48 | 12x875 [110| 65 | 69 |18x11x95 | 157 |12.1
200 ?(5:5 20 | 15 | 578 | 340 | 480 | 305 | 175 | 255 | 200 * 450 | 580 | 510 | 32 | 22 | 95|50 | 53 | 12x8x85 |125| 70 |74.5|20x12x110| 201 | 17.0
225 25 | 20 | 645|375 |525| 335|190 | 290 | 225 * 510 | 664 | 580 | 40 | 27 | 95|55 | 60 | 15x10x90 |140| 80 |84.5/20x12x120| 225 | 17.1
250 30 | 25 | 734 | 425|560 | 360 | 200 | 320 | 250 * 570 | 740 | 640 | 42 | 27 |110| 60 | 65 |15x10x100|155| 90 | 98 |24x16x130| 333 | 23.2
300 40 | 30 | 827 | 470 | 645 | 410 | 235 | 375 | 300 * 660 | 888 | 750 | 42 | 36 |125| 70 | 75 |18x11x110|170| 95 |101|28x16x150| 490 | 43.0
350 50 | 40 | 980 | 570 | 770 | 480 | 290 | 440 | 350 * 780 |1082| 880 | 45 | 43 |145| 80 |84.5/20x12x130 (190|115 |122 [32x18x170| 700 | 63.0
400 60 | 50 |1100| 620 | 795 | 500 | 295 | 480 | 400 * 560 (1202|960 | 50 | 43 |150| 85 | 93 |24x16x140(200|130|138[36x20x180| 950 | 105
500 75 | 60 |1410| 810 | 980 | 610 | 370 | 580 | 500 * 1080|1470|1160| 55 | 48 [205| 95 |103|24x16x190 |240|170|179|40x22x220|1650| 175
e N

A33



R B 5 R

R Worm Gear Reducer

WRdw - EERH - PL

Worm Gear - PL

PL60~PL175
FL— BB ’D 0D
| A |IS_ Oiimﬁfﬁqe
S NG Input, Shaft
Ll cvo\hd i &
i v LS us ST — el
ST i NSOV
7|Lf ;m 7@{ T

i O
i S

' Output Shaft L
N N\ 4-97 P 0il plug

Hme
Drain plug/__|G

CE SHAFT DIRECTION

<

60 110|120 | 60 | 210 | 90 |105| 67 | 98 | 192|130 | 18 | 11 00'255 8421 40 | 15 | 17 | 5x5x35 | 50 | 22 | 25 | 7x7x45 | 7.9 | 0.44
05 | 04

70 130|140 | 70 | 235| 95 |120| 75 | 115|230 |155| 20 | 15 40 | 18 | 20 | 5x5x35 | 60 | 28 | 31 | 7x7x55 | 14.110.70
. 1 |0.75
(455%) 1T To7s

80 (*1'5 140 | 160 | 80 | 270 | 110 | 125 | 90 | 125|260 | 160 | 20 | 15 5 1'5 50 | 22 | 25 | 7x7x45 | 65 | 32 | 35 | 10x8x60 | 19.5| 1.00
110 2 1.5

100 115 170 | 190 | 100 | 325 | 135 | 155 | 100 | 150 | 320 | 205 | 25 | 15 3 22 50 | 25 | 28 | 7x7x45 | 75 | 38 | 41 | 10x8x65 | 42.0|1.87
1:20 .
2.2

120 1:30 190 | 230 | 120 | 390 | 160 | 180 | 120 | 180 | 340 | 230 | 30 | 18 : 37 65 | 30 | 33 | 7x7x55 | 85 | 45 | 48 | 12x870 | 59.0 | 4.10
1:40 .
1:50 5 3.7

135 1:60 210 | 260 | 135 | 430 | 170 | 200 | 130 | 200 | 380 | 250 | 30 | 18 75 | 55 75 | 35 | 38 | 10x8x65 | 95 | 55 | 60 | 15x10x80 | 77.0 | 4.40

155 252 | 302 | 155 | 517 | 215 | 220 | 212 | 305 | 583|280 | 35 | 20 | 75 | 55 | 85 | 40 | 43 | 10x875 |110| 60 | 65 |15x10x95 | 100 | 7.00

175 262 | 325 | 175 | 565 | 240 | 250 | 280 | 355|700 | 310 | 40 | 20 | 10 | 75 | 85 | 45 | 48 | 12875 |110| 65 | 69 |18x11x95 | 145 | 8.00

A34




Worm Gear Reducer M) iy Sl R A

A01~A119

bRdw - EEZ R - PAE

Worm Gear - PAE

PAE40~PAE200

A

AB

il
Oil plug

Input Bore

L]
Output Shaft

HER
0il gauge i
Drgin plug

4-97

BAACE SHAFT DIRECTION

t

40 135| 80 [107| 72 | 40 | 55 | 95 [115| 90 | 50 | 80 [120| 13 | 9 |0.25/0.2| 11 | 4 |12.5/160/130|110 M8 |30 15| 17 | 5x5x25 | 6.0 [0.20
50 155| 85 (145 95 | 50 | 95 |110|180|130| 80 |120|140| 15 | 11 |0.25/0.2| 11 | 4 |12.5/160|130|110 M8 40|17 | 19 | 5x5x35 | 6.6 [0.31
025/02]11| 4 |125
60 180|102 |165|110| 60 |105|120|210|150| 90 |130|150| 18 | 11 160|130[110 M8 50| 22| 25 | 7x7x45 | 8.4 |0.42
05/04|14| 5 |16
05[04| 14| 5 | 16 |160/130/110 M8
70 212{117/195|130| 70 |115|150|240|175|105|150|190| 20 | 15 60| 28 | 31| 7x7x55 |13.9/0.77
) 1 075/ 19 | 6 |21.5/200/165|130 M10
15 11075/ 19 | 6 |215
80 | jme) 233 129|210 | 140| 80 | 135180270200 120|170|220 | 24 | 15 200(165|130 M10|65 |32 | 35| 10x8x60 [20.0/1.18
ffg 2 |15|24| 8 |27
115 2 |15 24| 8 | 27 |200|165|130 M10
100 .- | 295|160 | 260|170 | 100|155 | 220 | 340|250 | 150 | 190|270 | 25 | 15 75|38 | 41 | 10x8x65 |35.0(2.31
120 3 |22|28| 8 | 31(250/215/180 M12
— 130
10 3122|288 |31
120| 1701334/ 175|290 190 120 | 180 | 260 | 405 | 300 180 | 230|320 30 | 18 s T37 8 & 131 250 215 (180 M12|85| 45 | 48 | 12x8x70 |58.0/3.20
160 5 [37] 28] 8 | 31 |250[215]180] 5 |M12
135 380202 (320|210 135|200 | 290 | 455|350 | 215|250 |350| 30 | 18 95| 55 | 60 | 15x10x80|79.0/4.10
7.5 |55 38| 10 | 41 [300/265/230 M12
155 437/232|387|252|155|220|320|490|390|235|280390| 35 | 20 | 7.5| 5.5 | 38 | 10 | 41 |300|265|230 M12(110 60 | 65 |15x10x95 128 |6.20
175 477)252|410|262 | 175|250 | 350 | 565 | 435|260 |310420| 40 | 20 | 10 | 7.5 | 38 | 10 | 41 |300|265|230 M12(110 65 | 69 |18x11x95| 162 |8.00
200 508|270 |458 305|200 |290 350|625 (490 |290(350(420| 42 | 22 | 15 | 11 | 42 | 12 | 45 |350|300|250 M16/125 70 |74.5/20x12x110| 220 |9.50
A35




B & R % Worm Gear Reducer

bRdw - B Eg R - PBE

Worm Gear - PBE

PBE50~PBE200

Output Shcﬂ

SHER
Qil gauge

A
Input Bore |

9PC
0PA
v
L
"#}_
TN

ms
Drgln plug

CE SHAFT DIRECTION

‘t
b

JR] <] £ DIMENSION *in millimeter

50 155| 85 |145| 95 | 50 | 95 [110(180| 50 |100{120|140| 15 | 11 |0.25/ 0.2 | 11 | 4 |12.5/160(130|110| 5 | M8 |40| 17 | 19 | 5x5x35 | 6.4 |0.24
0.25/02 |11 | 4 |125
60 180|102|165|110| 60 |105(120|210| 60 |120|130|150| 18 | 11 160/130(110{ 5 | M8 |50| 22 | 25| 7x7x45 | 8.3 |0.33
050414 | 5 |16
05/04|14 | 5 | 16 |160/130(110| 5 | M8
70 212|117|195|130| 70 |115|150|240| 70 |140|150|190| 20 | 15 60| 28 | 31 | 7x7x55 |14.5/0.51
1 10.75/ 19 | 6 |21.5/200/165|130| 5 |M10
(555 1 1075/ 19| 6 |21.5
80 | 1:5 |233|129|210|140| 80 |135/180|270| 80 [160|170|220| 24 | 15 200|165|130| 5 [M10|65| 32 | 35| 10x8x60 {20.0(0.77
(=t 2 15124 | 8 |27
[ | 110
115 2 | 15|24 | 8 | 27 |200(165|130| 5 |M10
100 1j20 295|160|260|170|100|155|220|340|100|200|190|270| 25 | 15 75|38 | 41 | 10x8x65 [31.0/1.49
1:30 3 12228 | 8 | 31(250/215/180| 5 |M12
140 3 122(128| 8 |31
120 1:50 | 334|175{290|190|120| 180|260 |405|120|240|230|320| 30 | 18 250(215|180| 5 [M12|85| 45 | 48 | 12x8x70 |56.0({2.35
1:60 5137,28] 8 |31
37|28 | 8 | 31 |250(215|180| 5 [M12
135 380(202|320|210|135|200|290|455|135|270|250|350| 30 | 18 95| 55 | 60 |15x10x80|77.0{3.20
75|55 38|10 | 41 |300/265/230| 5 |M12
155 437|232|387|252(155|220(320|490|135|290(280(390| 35 | 20 | 7.5 |55 | 38 | 10 | 41 |300|265/230( 5 |M12110 60 | 65 |15x10x95| 128 |3.60
175 477|252 1410|262|175|250|350|565|160|335(310(420| 40 | 20 | 10 | 7.5 | 38 | 10 | 41 |300|265|230( 5 |M12110 65 | 69 |18x11x95| 162 |4.50
200 508|270 |458|305(200|290|350|625|175|375[350(420| 42 | 22 | 15 | 11 | 42 | 12 | 45 |350|300(250| 6 |M16[125/ 70 |74.5/20x12x110| 220 |6.40
A36



Worm Gear Reducer {8 ) 53 4 A

A01~A119

bRdw - EES R - PVE

Worm Gear - PVE

PVE50~PVE135

e AB AED P
i 0 Abh C G
- ~I—— Input Bore 8PK - Ny
) AT
g /ﬁﬂ}
& ° N/
S U Y W\ )/
= N =g
4 =
o K
LS |
T L T g
gmr [ [Nawz Output Shaft BB BC . Drgin plug
Oil gauge N 5
PVE200
A AB
D ADH P.CD PB
e Input Bore A-0PK

cC

%OA@V ‘®>\ Oilmmuﬁu e )
=| (QQ\ Ny . gaug $= ¥

[ {8! D
2 > A Outot Shoft ==
5 wae\, Output Sha
oﬁf'%% Drgin 1plug BB - BC 1-g7
BEA

BHAZE SHAFT DIRECTION

AR BR q‘ DR
-

AL BL DL

ARI BRI DRI




iR Worm Gear Reducer

BHACE SHAFT DIRECTION

J] <} 2= DIMENSION *in millimeter

50 155| 85 |145| 95 | 50 |106| 50 | 93 |102| 90 {220|116| 15 | 11 |0.25/ 0.2 | 11 | 4 |12.5/160/130|110| 5 | M8 |40| 17 |19 | 5x5x35 | 7.0 |0.51
0.25/02 |11 | 4 |125
60 180|102|165|110| 55 |123| 60 |105|120|100|260|126| 18 | 11 160|130(110{ 5 | M8 |50| 22 | 25| 7x7x45 | 8.9 |0.66
0504 (14| 5 |16
05|04 |14 | 5 | 16 |160/130({110| 5 | M8
70 212|117|200|130| 70 |140| 70 |120|135|120|295|158| 20 | 15 60| 28 | 31| 7x7x55 |15.0{1.16
1 |0.75/ 19 | 6 |21.5/200|165/130| 5 |M10
() 1 1075/ 19| 6 (215
80 | 1:5 |233|129|210|140| 70 |150| 80 |130|150|140|320|176| 20 | 15 200/165|130) 5 |M10/65| 32| 35 | 10x8x60 |20.0{1.49
(=) 2 |15]24| 8 |27
110
115 2 |15] 24| 8 | 27 |200/165|130| 5 |M10
100 1:20 295]160|260|170| 90 |175|100|155|180|190|375|226| 30 | 15 75|38 | 41 | 10x8x65 |35.0/2.95
1:30 3 12228 8 | 31(250/215/180| 5 |M12
1:40 3 122128| 8 |31
120 1:50 | 334|175{290|190|100| 210|120 185|215|220|450|268| 30 | 18 250(215|180| 5 [M12|85|45 | 48 | 12x8x70 |61.0{5.10
1:60 5137,28] 8 |31
5 37|28 | 8 | 31 |250/215/180| 5 |M12
135 380(202|320|210|110|235|135|210|235|260|495|306| 35 | 18 95| 55| 60 |15x10x80(84.0|7.10
7515538 |10 | 41 |{300/265/230| 5 |M12
155 4371232|392|252|140|170|155|145|265|290|456|336| 35| 20 | 75| 55| 38 | 10 | 41 |300/265|230| 5 |M12|110 60 | 65 |15x10x95| 115 |8.20
175 477|2521412|262|150|195|175|167|293|320(516|380| 40 | 20 | 10 | 7.5 | 38 | 10 | 41 |300|265|230| 5 |M12110 65 | 69 [18x11x95|161|12.0
200 508|270|480|305|175|255|200 * 450|510(510| 40 | 22 | 15 | 11 | 42 | 12 | 45 |350(|300/250| 6 |[M16[125| 70 (74.5[20x12x110| 205 |16.8
A38



Worm Gear Reducer M) iy Sl R A

A01~A119

Wadw - EEg R - PVO

Worm Gear - PVO

PVO80~PVO175

[¢ ?ﬁ | \npulth gore
KD
D) E¥)
J ;
tha

Output Shaft

,__
#PC
9PA

iz
Drgin plug

£1

pidl

0if plug N N4=8Z |—E8 BC

BHACE SHAFT DIRECTION

t‘
N &

(&

AL h) BL ‘ DL

-
Sy N
ARI BRI DRI
I‘
»
3
ALI DLI

BLI @

J]~F 3% DIMENSION *in millimeter

80 218 1114|210 |140| 70 | 150 | 80 | 130|150 |140|320|176| 20 | 15 |254|6.35|28.6|130|106.4|82.5 9 |[M12/65| 32|35 10x8x60 | 21 | 1.4

100| 1.5 |275|140|260|170| 90 | 175|100 |155|180|190|375|226| 30 | 15 |25.4|6.35|28.6|130|106.482.5| 9 |M12|75| 38 | 41 | 10x8x65 | 37 | 3.0

120| 10 1319160 | 290 | 190 | 100 | 210 | 120 | 185 | 215 | 220 | 450 | 268 | 30 | 18 |25.4|6.35|28.6|150|106.4|82.5 9 |M12|85| 45 | 48 | 12x8x70 | 60 | 5.1

135] 130 | 353|176 |320| 210|110 | 235| 135|210 | 235|260 | 495|306 | 35 | 18 |25.4|6.35|28.6|168 |106.482.5| 9 |M12|95| 55 | 60 |15x10x80| 80 | 7.2

155| 130 | 413 | 205 | 392 | 252 | 140 | 170 | 155 | 145 | 265 | 290 | 456 | 336 | 35 | 20 |25.4|6.35|28.6|168 |106.4(82.5| 9 |M12[110 60 | 65 |15x10x95|130| 9.0

175 458 | 227 | 412 | 262|150 | 195|175 |167 | 293|320 | 516 | 380 | 40 | 20 |25.4|6.35|28.6|190|106.4/82.5 9 |M12[110| 65 | 69 |18x11x95|165|10.5

A39



B & R % Worm Gear Reducer

Rdw - B ES R - PLE

Worm Gear - PLE

PLE60~PLE175

P.C.D_PB AB D

4-9PK BB DD
ADdl N uEs
Input Bore Oil_gauge
T

#S
Fis

e
Output Shaft
-¢7

BB S SHAFT DIRECTION

J] =~} 3= DIMENSION *in millimeter

0.25/02 |11 | 4 |125
60 110 1102 | 60 | 192| 90 | 105| 67 | 98 1192|130 | 18 | 11 160{130110) 5 | M8|50| 22| 25| 7x7x45 | 7.9 |0.44
050414 | 5 | 16

05|04 |14 | 5 | 16 |160/130{110| 5 | M8
70 130|117 | 70 | 212 | 95 | 120 | 75 | 115|230 |155| 20 | 15 60|28 | 31 | 7x7x55 |14.1]/0.70
1 |0.75/ 19 | 6 |21.5/200/165/130| 5 M10

1 1075/ 19| 6 (215

80 |msgg) 140 | 129 | 80 | 234 | 105 | 125| 90 | 125260 | 160 | 20 | 15 200/165|130| 5 |M10|65| 32 | 35 | 10x8x60 |19.5/1.00
15 2 15|24 8 |27
()
110 2 | 15|24 | 8 | 27 |200/165/130| 5 |M10

100 | 150 | 170 | 160 | 100 | 295 | 135 | 155 | 100 | 150 | 320 | 205 | 25 | 15 75|38 | 41 | 10x8x65 |42.0|1.87
- 3 /22|28 8 |31 |250215/180| 5 |M12
1:40
150 3221288 |31

120 | 160 | 190 | 175|120 | 335 | 160 | 180 | 120 | 180 | 340 | 230 | 30 | 18 250|215/180| 5 |M12|85 | 45 | 48 | 12x8x70 |59.0|4.10

5 37]28 | 8 | 31 |250/215/180| 5 |M12
135 210 | 165|135 335|170 | 200 | 130 | 200 | 380 | 250 | 30 | 18 95|55 | 60 [15x10x80|77.0|4.40
75155] 38| 10 | 41 |300|265|230| 5 [M12

155 252|232 | 155|447 | 215|220 | 212 | 305|583 280 | 35 | 20 | 75|55 | 38 | 10 | 41 |300/265|230| 5 M12[110| 60 | 65 |15x10x95| 100 |7.00
175 262 | 252 | 175 | 495 | 240 | 250 | 280 | 355 | 700 | 310 | 40 | 20 | 10 | 7.5| 38 | 10 | 41 |300|265|230| 5 |M12[110| 65 | 69 |18x11x95| 145 |8.00
A40



Worm Gear Reducer M) iy Sl R A

A01~A119

WRdw - B EZ R - PAH

Worm Gear - PAH

PAH50~PAH135 PAH155~PAH175 EhACE SHAFT DIRECTION

A B
e AB BE
0 plug AT r
1 HS Input Shaft
HK i
=+
== 3| —
d o
: I
WES i 41 -
Ol gauge Drgin plug
- Rk
Output Bare
()
4-¢7

JR~F Z= DIMENSION *in millimeter

20 6 | 225
50 1/4 | 1/8 | 175105 | 99 |46.5| 50 | 95 | 110 | 180|130 | 80 | 120|140 | 15 | 11 | 58 |30 |12 |13.5/4X4X25 5 7 28 55031
60 1/2 | 1/4 | 198 | 120 | 112 | 53 | 60 | 105|120 | 210|150 | 90 | 130|150 | 18 | 11 | 70 |40 |15| 17 |5X5X35 25 7 28 | 82042
70 () 1 |1/2 235|140 |131| 62 | 70 | 115|150 | 240 |175| 105|150 |190| 20 | 15 | 80 |40 |18 | 20 |5X5X35/ 30 7 33 |12.8|0.77
1:5
80 |f&#e) 2 1 |264 160|144 | 68 | 80 | 135|180 |270|200 120|170 |220| 24 | 15 | 95 |50|22| 25 |7X7X45 35 10 38 |18.0]1.18
110
100 1;3 3 2 [325|190|175| 83 | 100 | 155|220 | 340 | 250 | 150 | 190 | 270 | 25 | 15 | 110 |50|25| 28 [7X7X45 40 | 12 | 43 |33.0|231
1:30
120 | 140 | 5 3 [389|230|200| 95 | 120|180 | 260 | 405 | 300 | 180 | 230 | 320 | 30 | 18 |130|65|30| 33 |7X7X55 45 14 | 48.5 |55.0/3.16
1:50
1:60
135 75| 5 |438 260|216 [102.5 135 | 200 | 290 | 455 | 350 | 215 | 250 | 350 | 35 | 18 |130|75|35| 38 [10X8X65 55 15 60 |76.0]4.10
155 10 | 7.5 | 510 | 302 | 270 | 109 | 155 | 220 | 320 | 490 | 390 | 235|280 | 390 | 35 | 20 | 180 | 85|40 | 43 [10X8X75 65 18 | 69 |104.0/7.00
175 15 | 10 | 556 | 325|300 | 137 | 175 | 250 | 350 | 565 | 435 | 260 | 310 | 420 | 40 | 20 | 230 | 85|45 | 48 12Xx8X75 80 22 85 |148.0/ 8.00

Ad1



B & R % Worm Gear Reducer

bRdw - B Eg Rk - PBH

Worm Gear - PBH

PBH50~PBH135 PBH155~PBH175 EhACE SHAFT DIRECTION

EE AB
0l plug

AT
Input Shofl
v

-5
HIC
r
He=—=—=

wER

bt
Drgin plug

JR~F Z= DIMENSION *in millimeter

20 6 22.5
50 1/4 | 1/8 |175105| 99 |46.5| 50 | 95 | 110|180 | 50 | 100|120 | 140 | 15 | 11 | 58 |30 |12|13.5| 4x4x25 5 7 3 531024
60 1/2 | 1/4 198 | 120|112 | 53 | 60 | 105|120 |210| 60 |120 130|150 | 18 | 11 | 70 |40 |15| 17 | 5x5x35 | 25 7 28 | 81 (033
70 () 1 1/2 | 235|140 | 131| 62 | 70 | 115|150 | 240 | 70 | 140 | 150|190 | 20 | 15 | 80 |40|18| 20 | 5x5x35 30 7 33 |13.40.50
1:5

80 |(j=#) 2 1 |264|160|144| 68 | 80 | 135|180 |270| 80 |160 170|220 | 24 | 15 | 95 |50 (22| 25| 7x7x45 | 35 10 38 | 18 |0.77
110
100 1;3 3 2 [325|190|175| 83 | 100 | 155|220 | 340 | 100 | 200 | 190 | 270 | 25 | 15 | 110 |50|25| 28 | 7x7x45 | 40 | 12 | 43 | 30 |1.50
1:30
120 | 140 | 5 | 3 |389 (230|200 | 95 | 120 | 180 | 260 | 405 | 120 | 240 | 230|320 | 30 | 18 | 130 | 65|30 | 33 | 7x7x55 | 45 | 14 | 485 | 52 |2.35
1:50
1:60

135 75| 5 |438 260|216 102.5/ 135|200 | 290 | 455 | 135|270 | 250 | 350 | 30 | 18 |130|75|35| 38 | 10x8x65 | 55 | 15 | 60 | 74 | 3.2

155 10 | 7.5 | 510|302 | 270 | 109 | 155 | 220 | 320 | 490 | 135 | 290 | 280 | 390 | 35 | 20 | 180 [85|40| 43 | 10x&75 | 65 | 18 | 69 | 101 | 4.0

175 15 | 10 |556|325|300 |137|175|250 | 350 | 565 | 160 | 335|310 | 420 | 40 | 20 | 230 |85 |45 |48 | 12x875 | 80 | 22 | 85 | 143 |57
A42



Worm Gear Reducer M) iy Sl R A

A01~A119

bRdw - B EZ R - PVH

Worm Gear - PVH

PVH50~PVH135

G
AN
Input Shaft -
> V
= N _ }ﬁg,
o £NA @ Ur(?\rn}mﬁuq
Ouiput Bore
HER
— i Oil_gouge
dmg LTJ \4-97
PVH155~PVH175
A
EHE AB
ol ot ‘ ﬁnﬂft 6
- —  HSJ nput Sha ||
Fo =] I
e %[ s % > 7 \ZE
[ O O ~ ~
g /”/?—1\3\\ . d ] A
= |~ TN A
/T(\ )»,‘\ . PN
- AN\\E\\%D) =+ .
L \\Q‘;J’/// [ S
N\ i, |
— e BN, T ok
L _F 497 Output Bore BB . BC i Drgin plug
0il gauge |- N B -

M E SHAFT DIRECTION

ﬂ‘

l‘

JR < Z= DIMENSION *in millimeter

50 1/4 | 1/8 | 175|105 |98.546.5| 50 | 106 | 50 | 93 | 102 | 90 | 220 | 116 | 15 11 30 | 12 |13.5] 4x4x25 3(5) g 222; 59 051
60 1/2 | 1/4 1198|120 |111| 53 | 55 | 123 | 60 | 105|120 | 100 | 260 |126 | 18 11 40 | 15 | 17 | 5x5x35 | 25 7 28 | 8.8 |0.66
70 |¢4%%) 1 | 1/2 | 235|140 1355/ 62 | 70 | 140 | 70 | 120 | 135|120 | 295|158 | 20 15 | 40 | 18 | 20 | 5x5x35| 30 7 33 142|117
1:5
80 | ff) 2 1 264|160 |144 | 68 | 70 | 150 | 70 | 130 | 150 | 140|320 | 176 | 20 15 50 | 22 | 25 | 7x7x45| 35 | 10 | 38 |18.0|1.49
100 1;(5) 3 2 325|190 |177.5 83 | 90 | 175|100 | 155|180 | 190 | 375 | 226 | 30 15 50 | 25 | 28 | 7x7x45| 40 | 12 | 43 |33.0|2.95
120 iig 5 3 |389|230|200| 95 | 100 | 210|120 | 185 | 215|220 | 450 | 268 | 30 18 65 | 30 | 33 | 7x7x55| 45 | 14 | 485|570 50
135 izg 75| 5 |438 260|218 1025/ 110 | 235 | 135 | 210 | 235 | 260 | 495 | 306 | 35 18 75 | 35 | 38 |10x8x65| 55 | 15 | 60 |81.0| 7.2
155 10 | 7.5 | 510 | 302 | 275 | 109 | 140 | 170 | 155 | 145 | 265 | 290 | 456 | 336 | 35 20 85 | 40 | 43 |10x8x75| 65 | 18 | 69 |111]| 83
175 15 | 10 | 556|325 |315|137|150 | 195 | 175|167 | 293 | 320 | 516 | 380 | 40 20 85 | 45 | 48 |12x8x75| 80 | 22 | 85 | 157|121
A43




B & R % Worm Gear Reducer

Rds - EEZR#K - PLH

Worm Gear - PLH

PLH60~PLH175 B SHAFT DIRECTION
= D
AB AB BB oD
UFEG%QC ‘
h [_HS_. L
L*,i gjﬁ@; él Inpd\(l\/;"’:oﬁ K A

é Y

©,

14
E2

cC

=
%E e
:

\
s H ) O S/
{,AL@P,-& I i N
I Qutput Bore
r N4-67 i Dnr iz
N

Oil plug rgin plug

JR~f 3% DIMENSION *in millimeter

0.25 0.2
60 112 53 |120| 60 | 210| 90 |105| 67 | 98 | 192|130 | 18 | 11 40 | 15 | 17 | 5x5x35 25 7 28 | 791|044
0.5 04
0.5 04
70 131| 62 |140| 70 | 235| 95 |120| 75 |115|230|155| 20 | 15 40 | 18 | 20 | 5x5x35 30 7 33 |14.1|0.70
1 0.75
1 0.75
80 g@;ﬁ 144 | 68 | 160 | 80 | 270|110 |125| 90 | 125|260 |160| 20 | 15 50 | 22 | 25 | 7x7x45 35 10 38 |19.5/1.00
2 15
(*ngx
E 2 | a0
100 | 5, |175| 83 | 190|100 | 325|135 155|100 | 150 320 |205| 25 | 15 50 | 25 | 28 | 7x7x45 40 12 43 142.0/1.87
130 3 2.2
1:40
1:50 3 2.2
120 | 180|200 | 95 | 230|120 |390| 160|180 | 120|180 |340|230| 30 | 18 65 | 30 | 33 | 7x7x55 45 14 | 485 |59.0/4.10
5 37
5 3.7
135 216 1102.5/ 260 | 135 | 430 | 170 | 200 | 130 {200 | 380 | 250 | 30 | 18 75 | 35 | 38 | 10x8x65 | 55 15 60 |77.0/4.40
7.5 5.5
155 270|109 | 302 | 155|517 | 215|220 |212 | 305|583 |280| 35 | 20 7.5 5.5 85 | 40 | 43 | 10x8x75 65 18 69 |100/|7.00
175 300 | 137 | 325|175 | 565 | 240 | 250 | 280 | 355 | 700 | 310 | 40 | 20 10 7.5 85 | 45 | 48 | 12x8x75 | 80 22 85 |145|8.00

A44



Worm Gear Reducer M) iy Sl R A

bRdw - EEY R - PAEH

Worm Gear - PAEH

PAEH50~PAEH175

hEE
0il gauge

[
Drgin pl

|-t

o

lug

ADTL

Input_Bore

12U,

Ve
Output Bore

A01~A119

BHACE SHAFT DIRECTION

¢

JR]~f 3% DIMENSION *in millimeter

50 155| 85 | 99 |46.5| 50 | 80 | 130 | 15 | 180|120 |140| 95 | 110 | 11 |0.25/0.2 | 11 | 4 |12.5/160|130/110| 5 |M8 6.0 (031
25 | 7 | 28
025/ 02|11 4 |125
60 180 | 102|112 53 | 60 | 90 |150| 18 | 210|130 |150|105 | 120 | 11 160[130/110| 5 [M8| 25 | 7 | 28 | 7.4 |0.44
05|04 14| 5 | 16
050414 | 5 |16 |160/130/110| 5 |M8
70 212 117|131 | 62 | 70 | 105 | 175| 20 | 240 150 | 190 | 115|150 | 15 30 | 7 | 33 |14.4|0.70
1 1075/ 19 | 6 |21.5/200|165|130| 5 |M10
(455%) 11075/ 19 | 6 |21.5
80 | 15 | 233|129|144 | 68 | 80 | 120|200 | 24 |270|170|220|135|180 | 15 200/165/130| 5 |M10| 35 | 10 | 38 |20.0/0.99
(1) 2 |15/24| 8 |27
110
115
o 2 [15]24 | 8 | 27(200165/130| 5 |M10
100 | 130|295 | 160 [175 | 83 | 100 | 150 | 250 | 25 | 340|190 |270 | 155|220 | 15 40 | 12 | 43 |39.0/1.87
140 3 (22|28 8 |31(250215/180| 5 |M12
150
160 3 (22/28] 8 |31
120 334|175|200 | 95 | 120|180 |300 | 30 | 405|230 |320 | 180|260 | 18 250(215/180| 5 |M12| 45 | 14 |48.5/60.0|4.10
5 137|28| 8 |31
5 37|28 | 8 | 31 |250|215|180| 5 |Mm12
135 380 | 202 | 216 102.5/ 135 | 215 | 350 | 35 | 455|250 | 350 | 200 | 290 | 18 55 | 15 | 60 |81.0(4.40
7.5 /55|38 | 10 | 41 |300(265/230| 5 |M12
155 437232270109 | 155 | 235|390 | 35 | 490 | 280|390 | 220 |320| 20 | 7.5 |55 | 38 | 10 | 41 |300/265|230| 5 |M12| 65 | 18 | 69 |96.0|7.00
175 477 | 252|300 | 137 | 175 | 260 | 435 | 40 | 565 | 310|420 | 250 | 350 | 20 | 10 | 7.5| 38 | 10 | 41 |300/265/230| 5 [M12 80 | 22 | 85 [140.0|8.00
A45




B3 i -

Lk

Y EBES

Worm Gear - PBEH

R Worm Gear Reducer

E g R - PBEH

PBEH50~PBEH175

Oil plug
——

313

323
Drgin plug

1

Vaivavany
1

output Bore

BHACE SHAFT DIRECTION

JR]~f 3% DIMENSION *in millimeter

50 155| 85 | 99 |465| 50 | 100| 50 | 15 |180 120|140 | 95 [110| 11 [0.25/0.2| 11 | 4 |12.5160|130(110| 5 |M8 6.0 031
25| 7 |28
0250211 | 4 [125
60 180 102|112 | 53 | 60 | 120| 60 | 18 | 210130150 | 105|120 | 11 160(130(110| 5 |M8| 25 | 7 | 28 | 7.4 |0.44
0504|145 |16
05/04|14| 5 | 16 |160/130/110/ 5 |M8
70 212|117 |131| 62 | 70 | 140| 70 | 20 | 240|150 | 190|115 |150 | 15 30 | 7 |33 |144[070
1 1075/ 19| 6 [21.5/200/165/130| 5 |M10
4%&55& 1 1075/19| 6 [215
80 233 (129|144 | 68 | 80 | 160| 80 | 24 | 270|170 | 220|135 |180 | 15 200/165/130| 5 |M10| 35 | 10 | 38 |20.0/0.99
*74% 2|15 24| 8 |27
110
- 2 |15|24| 8 | 27 |200/165/130| 5 |M10
100 | 150 | 295|160 [175| 83 [100| 200 | 100 | 25 |340 | 190 | 270 | 155 | 220 | 15 40 | 12 | 43 |39.0/1.87
0 3 22|28 8 | 31 |250/215/180| 5 |m12
1:50
160 322|288 |31
120 334 175|200 | 95 |120| 240|120 | 30 | 405 | 230|320 | 180|260 | 18 250(215/180| 5 |M12| 45 | 14 |48.5|60.0/4.10
5 /37|28 8 |31
5 37|28 8 | 31/250/215/180| 5 |Mm12
135 380 | 202 | 216 [102.5/ 135 | 270 | 135 | 30 | 455 | 250 | 350 | 200 | 290 | 18 55 | 15 | 60 |81.0/4.40
7555|3810 | 41 [300/265/230| 5 |M12
155 437|232 (270 | 109 | 155 | 290 | 135 | 35 | 490 | 280 | 390 | 220|320 | 20 | 7.5|55 | 38 | 10 | 41 |300|265/230| 5 |M12| 65 | 18 | 69 |96.0/7.00
175 477|252 | 300 | 137 | 175 | 335 | 160 | 40 | 565 | 310 | 420 | 250|350 | 20 | 10 | 7.5 | 38 | 10 | 41 |300|265|230| 5 |M12| 80 | 22 | 85 [140.0/8.00
A46




Worm Gear Reducer M) iy Sl R A

A01~A119

Rds - B Fg Rk - PVEH

Worm Gear - PVEH

PVEH50~PVEH175 BhACE SHAFT DIRECTION

k’ SRI

AN
InmeBove

g )’%
g
R

8 e LI
i) it
Edkil ( G% Drgin plug
Output Bore Vi
S 4 §
Il gauge
TE 1171 1—07 BB ‘ BC
Qil_plug N B

JR < 3% DIMENSION *in millimeter

50 155| 85 [46.5| 50 |98.5| 50 | 90 | 93 | 102|220 116| 15 | 11 |0.25| 0.2 |11 | 4 |125/160/130|110| 5 | M8 6.8 10.31

25| 7 | 28

025] 02 | 11| 4 125
60 180|102 | 53 | 60 | 111| 55 | 100|105| 120|260 |126| 18 | 11 160(130|110| 5 |M8| 25 | 7 | 28 | 84 |0.44
05|04 (14| 5 |16

05| 04 |14 5 |16 |160|130(110| 5 |M8
70 2121117 | 62 | 70 1355 70 | 120 | 120 | 135|295 |158 | 20 | 15 30 | 7 | 33 [15.0/0.70
1 107519 | 6 |21.5/200|165|130| 5 |M10

(4555 1 1075/19| 6 215
80 | 15 233[129| 68 | 80 |142| 70 | 140|130 | 150|320 |176 | 20 | 15 200|165|130| 5 |M10| 35 | 10 | 38 |21.0/0.99
(1) 2 | 15 24| 8 |27
110
1:15
o 2 | 15|24 8 |27]200|165|130| 5 |M10
100 | 50| 295|160 | 83 | 100 [177.5 90 | 190 | 155|180 | 375|226 30 | 15 40 | 12 | 43 |41.0/1.87
10 3 | 22 |28| 8 |31/250|215|180| 5 |Mm12
1:50
1:60 3 22 28] 8 |31
120 334 175| 95 | 120|200 | 100 | 220 | 185 | 215 | 450 | 268 | 30 | 18 250(215|180| 5 |M12| 45 | 14 |48.5|61.0/4.10

5 37 | 28| 8 |31(250|215(180| 5 [M12
135 380 | 202 [102.5| 135 | 218 | 110 | 260 | 210 | 235 | 495 | 306 | 35 | 18 55 | 15 | 60 |83.0{4.40
75 | 55 |38|10|41|300({265|230| 5 |M12

155 437|232 109|155 | 275|140 | 290 | 145|265 | 456|336 | 35 | 20 | 7.5 | 55 | 38 | 10 | 41 |300|265(230| 5 [M12| 65 | 18 | 69 |105.0/7.00
175 477 | 252 | 137 | 175|300 | 150 | 320 | 167 | 293 | 516 | 380 | 40 | 20 | 10 | 7.5 |38 | 10|41 |300|265|230| 5 [M12| 80 | 22 | 85 |145.0/8.00
A47



B & R % Worm Gear Reducer

Rdw - EEZ R - PLEH

Worm Gear - PLEH

PLEH60~PLEH175 BhACE SHAFT DIRECTION

>
=

P.CD PB ] 5
APK o R
\ Input Bore M\ q
\ )

£2

R
/ i wu%% '"\0 9
0y f’f N

3\1{
)
\&\\K%M%

o
£3

‘»/_

A L gﬁ( PD

& i z thH,
; Output Bore S oy
E N4—g7 Qil plug/Drgin plug G
N

JR] <} Z= DIMENSION *in millimeter

025] 02 |11 | 4 125
60 112 | 53 |102| 60 |192| 90 | 105| 67 | 98 |192|130| 18 | 11 160/130|{110) 5 |M8| 25 | 7 | 28 | 7.9 (044

05|04 |14 5 |16

05|04 14| 5 |16|160(130/110| 5 | M8
70 131 62 | 117 70 | 212| 95 | 120| 75 | 115|230 |155| 20 | 15 30 | 7 | 33 [141]0.70
1 |075]19| 6 |21.5/200|165|130| 5 [M10

1 (07519 6 |215
80 144 | 68 | 129 | 80 | 234|105|125| 90 | 125|260 160 | 20 | 15 200|165|130| 5 |M10] 35 | 10 | 38 |19.5/1.00
2 |15 |24)8 |27

(435%)
q‘l‘i 2 | 15 24| 8 |27 /200/165/130| 5 |M10

100 | 7901175 83 | 160|100 295|135 | 155|100 | 150 | 320 | 205| 25 | 15 40 | 12 | 43 |42.0/1.87
115 3 | 22|28 8 |31/250/215/180| 5 |M12
1.20
130 3 |22(28|8]31

120 | 140 | 200 | 95 | 175|120 | 335 | 160 | 180 | 120 | 180 | 340 | 230 | 30 | 18 250(215|180| 5 |M12| 45 | 14 |48.5/59.0|4.10
130 5 |37 (28] 831

1:60

5 |37 |28| 8 |31|250|215/180| 5 |M12
135 216 1025/ 165 | 135 | 335|170 | 200 | 130 | 200 | 380 | 250 | 30 | 18 55 | 15| 60 |77.0/4.40
75 | 55 |38 |10 |41|300|265|230| 5 |M12

155 270 | 109 | 232 | 155 | 447 | 215|220 | 212 | 305|583 | 280 | 35 | 20 | 7.5 | 55 |38 | 10 | 41 |300|265|230| 5 |M12| 65 | 18 | 69 |100|7.00
175 300 | 137 | 252 | 175|495 | 240 | 250 | 280 | 355|700 | 310 | 40 | 20 | 10 | 7.5 |38 | 10|41 |300|265|230| 5 |M12| 80 | 22 | 85 | 145|8.00
A48



Worm Gear Reducer M) iy Sl R A

A01~A119

WRdw - EEZ R - PHN

Worm Gear - PHN

PHN50~PHN175

pilit g Oifmlg AB
0il gauge | Ol plug A
1 } } HS ] Inpulvghafl
- HK !
e— ===l g* I—i:
g d
ES
> s 4H
=
HHh
Output Bore
T T l\
AE N8=X*L
#e
Drgin plug AD

BB S SHAFT DIRECTION

JR] <} Z= DIMENSION *in millimeter

20 6 | 225
50 1/4 | 1/8 | 175|105|115| 90 | 99 |46.5| 68 | 50 | 50 | 150 | 35 | 58 | @76*4-M6 | 65 | M8*16 | 30 | 12 |13.5| 4x4x25 47 1031
25 7 28
60 1/2 | 1/4 | 198 | 120|127 {100 | 112 | 53 | 78 | 54 | 60 | 177 | 42 | 70 | @82*4-M8 | 75 | M10*20 | 40 | 15 | 17 | 5x5x35| 25 7 28 | 6.9 044
(%)
70 | 15 1 | 1/2 | 235|140 |156| 125|131 | 62 | 88 | 66 | 70 | 205| 50 | 80 | @100*4-M8 | 85 | M10*20 | 40 | 18 | 20 | 5x5x35| 30 7 33 |119/0.70
I?{;‘_;E_\
80 ﬁ‘; 2 1 |264|160|176|145|144 | 68 | 101 | 75 | 80 | 232 | 60 | 95 | @115*4-M10 | 92 | M10*20 | 50 | 22 | 25 | 7x7x45 | 35 10 38 16.0]0.99
1:20
100 | 139 | 3 2 325|190 | 227 |185(175| 83 | 115| 82 | 100 | 290 | 75 |110| @130*4-M12 |115| M12*24 | 50 | 25 | 28 | 7x7x45| 40 | 12 | 43 |35.0|1.87
1:40
120 | 150 | 5 3 | 389|230| 264|220 |200 | 95 | 132|100 | 120|370 | 95 | 130 | @165*4-M12 | 155 | M14*28 | 65 | 30 | 33 | 7x7x55 | 45 14 | 48.5 |51.0(4.10
1:60
135 7.5 | 5 |438]|260] 304|260 |216 [102.5 144 | 110 | 135 | 425 | 105 | 130 | @200*8-M12 | 185 | M16*32 | 75 | 35 | 38 |10x8x65| 55 15 60 |72.0/4.40
155 10 | 7.5 | 510|302 | 340 | 280 | 270 | 109 | 160 | 120 | 155 | 423 | 103 | 180 |@215.8*8-M12| 165 | M16*40 | 85 | 40 | 43 |10x8x75| 65 18 69 |85.0|7.00
175 15 | 10 |556 325|370 |320 | 300 | 137 | 186 | 140 | 175 | 521 | 123 | 230 | @265*8-M12 [ 223 | M16*40 | 85 | 45 | 48 [12x8x75| 80 22 85 |125.0| 8.00
A49




B & R % Worm Gear Reducer

iRER - BEY R - PHA

Worm Gear - PHA

PHA50~PHA175 BhACE SHAFT DIRECTION

il I AB BB
0il gauge | Oil plug
—

Ans
InputvShoft

#hh
Output Bore

—
I

(&
=1

DL

e
Drgin plug

JR~F 2= DIMENSION *in millimeter

20 6 | 225

50 1/4 | 1/8 |175|105| 99 |46.5| 50 | 80 | 35 | 13 | 15 |165|110|140| 95 |120| 11 | 30 | 12 |13.5| 4x4x25 49 1031
25 7 28

60 1/2 | 1/4 |198|120|112| 53 | 60 | 93 | 42 | 15 | 18 |195|120|150|105|130| 11 | 40 | 15 | 17 | 5x5x35| 25 7 28 | 7.2 |044

(FBR)
70 | 15 | 1 |1/2|235|140(131| 62 | 70 |105| 50 | 18 | 20 |225|150|190|115|150| 15 | 40 | 18 | 20 | 5x5x35| 30 | 7 33 |13.3/0.70
()
80 | ¥0| 2 | 1 |264/160/144) 68 | 80 |112| 60 | 18 | 20 |252|180 220 135/170| 15 | 50 | 22 | 25 | 7x7x45| 35 | 10 | 38 |1800.99
120
100 | 130 | 3 | 2 |325|190|175| 83 |100|140| 75| 22 | 25 |315|220|270|155|190| 15 | 50 | 25 | 28 | 7x7x45| 40 | 12 | 43 |38.0|187
140

120 | 150 | 5 3 |389|230|200| 95 |120|180| 95 | 22 | 25 |395|260|320|180|230| 18 | 65 | 30 | 33 | 7x7x55| 45 | 14 | 485 |56.0|4.10
1:60

135 75| 5 |438260|2161025/135|215|105| 27 | 30 |455|290/350/200|250| 18 | 75 | 35 | 38 |10x8x65| 55 15 60 |78.0[440

155 10 | 7.5 |5101302|270{ 109 |155|197|103| 28 | 32 |455|320|380|220|280| 20 | 85 | 40 | 43 |10x8x75| 65 | 18 | 69 [92.0|7.00

175 15 | 10 |556/325|300|137|175|260|123| 32 | 37 |558|350|410|250|310| 20 | 85 | 45 | 48 |12x8x75| 80 | 22 | 85 |135.0/8.00
A50



Worm Gear Reducer M) iy Sl R A

A01~A119

WRdw - EEg R - PHB

Worm Gear - PHB

PHB50~PHB175 BhACE SHAFT DIRECTION

TR Bk AB BB

Oil gauge | Oil plug
iy — Il Il

#Hh
output Bore

LL

Ahs
Input shaft

cC

8U]
’ *ﬁ*}<

=i
=

N4=9Z

|
e M
Drgin plug N

JR~F 2= DIMENSION *in millimeter

20 6 | 225
50 1/4 | 1/8 |175|105| 99 |46.5| 50 | 13 | 15 |165| 65 |110/140| 95 |120| 50 | 11 | 30 | 12 |13.5| 4x4x25 49 1031
25 7 28
60 1/2 | 1/4 |198|120|112| 53 | 60 | 15 | 18 |195| 75 |120|150|105|130| 60 | 11 | 40 | 15 | 17 | 5x5x35| 25 7 28 | 7.2 |044
(FBA)
70 | s | 1 |1/2235|140|131| 62 | 70 | 18 | 20 |225| 85 |150|190|115|150| 70 | 15| 40 | 18 | 20 | 5x5x35| 30 7 33 [13.3/0.70
(1)

80 | M0 2 | 1 |264|160|144| 68 | 80 | 18 | 20 |252| 92 |180|220|135|170| 80 | 15 | 50 | 22 | 25 | 7x7x45 | 35 | 10 | 38 |18.0|0.99

100 | 139 | 3 2 |325|190|175| 83 |100| 22 | 25 |315|115|220|270|155|190|100| 15| 50 | 25 | 28 | 7x7x45| 40 | 12 | 43 |38.0|1.87

120 | 150 | 5 3 |389|230|200| 95 |120| 22 | 25 [395|155|260|320|180|230|120| 18 | 65 | 30 | 33 | 7x7x55| 45 | 14 | 485 |56.0|4.10

135 75| 5 |438|260|216 (1025 135| 27 | 30 |455|185(290|350|200|250|135| 18 | 75 | 35 | 38 |10x8x65| 55 | 15 | 60 |78.0|4.40
155 10 | 7.5 |5101302|270{109|155| 28 | 32 |455/165|320(380|220|280|135| 20 | 85 | 40 | 43 |10x8x75| 65 | 18 | 69 |92.0|7.00
175 15 | 10 |5561325|300(137|175| 32 | 37 |558|223|350(410|250|310|160| 20 | 85 | 45 | 48 |12x8x75| 80 | 22 | 85 |[135.0/8.00

A51



B & R % Worm Gear Reducer

WRdE - EEg R - PHV

Worm Gear - PHV

PHV50~PHV175 BhACE SHAFT DIRECTION
R
L
A G
| g
{@ | |$ Ol plug i
: v
WER
QOil gauge
I
A
Drgﬁwslug/ = |E ; —

JR~F 2= DIMENSION *in millimeter

20 6 | 225
50 1/411/8 | 175|105 |46.5| 50 101.5 52 | 90 | 92 | 112|236 |115| 14 | 11 | 30 | 12 |13.5| 4x4x25 57 1031
25 7 28
60 1/211/4 1198 |120| 53 | 60 | 114 | 58 | 100|103 | 130|265 |127| 15 | 11 | 40 | 15 | 17 | 5x5x35| 25 7 28 | 82 (044
(%)
70 | 15 1 |1/21235]140| 62 | 70 |133.5 68 | 120|120 |155|305|156| 20 | 15 | 40 | 18 | 20 | 5x5x35| 30 7 33 |14.210.70
(%‘;&;ﬁ_\

80 ﬂg 2 1 1264|160 | 68 | 80 | 147 | 75 | 140|132 |180 342|176 | 20 | 15 | 50 | 22 | 25 | 7x7x45| 35 | 10 | 38 |19.0|/0.99

1:20
100 | 139 | 3 2 [325]190| 83 | 100 |177.5 90 | 190 | 155 | 215|400 | 227 | 20 | 15 | 50 | 25 | 28 | 7x7x45 | 40 12 43 140.0|1.87
1:40

120 | 150 | 5 3 1389|230 | 95 | 120|205 | 105|220 | 200 | 260 | 505|264 | 25 | 18 | 65 | 30 | 33 | 7x7x55| 45 | 14 | 485 |57.0|4.10
1:60

135 75| 5 | 438|260 |102.5/ 135|221 | 113|260 | 235|290 | 570|304 | 30 | 18 | 75 | 35 | 38 |10x8x65| 55 | 15 | 60 |80.0|4.40
155 10 | 7.5 | 510 | 302 | 109 | 155 | 270 | 135 | 280 | 217 | 310 | 583 | 340 | 35 | 20 | 85 | 40 | 43 |10x8x75| 65 | 18 | 69 |95.0|7.00
175 15 | 10 | 556 | 325|137 | 175|310 | 160 | 320 | 290 | 365 | 715|380 | 40 | 20 | 85 | 45 | 48 |12x8x75| 80 | 22 | 85 |140.0/8.00
A52



Worm Gear Reducer M) iy Sl R A

A01~A119

URém - BB ETRER - MPHN
Worm Gear - MPHN

MPHN50~MPHN175 SHAFT DIRECTION

P.CD PB
SR 4=0PK
Oil gauge ADR
P } InputBore Al
>
8 ol
- >
=
f } 0 tHW?LB \ s
Ly ) uiput ore BI
Drginiglug J/ QE I h8=Xi &

JR~F 2= DIMENSION *in millimeter

. 20| 6 (225
50 155 85 |115| 90 | 99 | 465 |68 | 50 | 50 |150| 35 | 58 mM664 65 | M8116 025 02 | 11| 4 [125/160|130|110| 5 | M8 — ———— = 58031
N 025/ 02|11 4 125
60 180(102]127|100|112| 53 | 78| 54 | 60 |177| 42 | 70 | 82* | 75 |m10%20 160/130|110| 5 |M8 | 25 | 7 | 28 | 7.1 |0.44
M8 05/04|14| 5 |16
N 05|04 |14 5 |16|160|130|110| 5 | M8
70 212|117 |156| 125|131 62 | 88| 66 | 70 |205| 50 | 80 S;O&I‘g 85 |M10%20 30 | 7 | 33/13.0/0.70
() (M10) 1 ]0.75/19| 6 |21.5/200|165|130| 5 |M10
LS 1 1075119 6 215
80 122331129176 |145 144 | 68 101 75 | 80 |232| 60 | 95 | P2 | 92 |Mm10%20 : ~1200/165/130| 5 |M10| 35 | 10 | 38 |18.0/0.99
110 M10 2 |15|24| 8 |27
115 2 15|24 | 8 |27 |200|165|130| 5 |M10
100 | 220|295 160|227 185|175 | 83 [115| 85 | 100|290/ 75 | 110 @13;);47 115 |M12%24 : 40 | 12 | 43 36.0]1.87
130 M 3 122|288 |31]250|215|180| 5 |m12
1:40
150 0165%- 3 122|28| 8|31
120 | 0 1334|175 264|220/ 200 95 1132100120 370 95 |130 155 |M14*28 250(215|180| 5 |M12| 45 | 14 485/55.0(4.10
160 M12 5 137(28| 8 |31
2200°5. 5 [37]28 8 |31|250|215|180| 5 |m12
135 380|202 304|260 | 216 |102.5144| 110 | 135 425 | 105 | 130 185 |M1632 55 | 15 | 60 |75.0|4.40
M12 7.5 | 55|38 |10 |41 (300(265(230| 5 |[M12
155 437|232/ 340|280 270| 109 |160| 120 155|423 | 103 | 180 @2’;?;37 165 |M16%40| 7.5 | 5.5 | 38 | 10 | 41 |300|265|230| 5 |M12| 65 | 18 | 69 |89.0|7.00
175 477252|370|320| 300 | 137 |186| 140 | 175 | 521 | 123| 230 ”zhjf;s’ 223 |M16*40| 10 | 7.5 | 38 | 10 | 41 |300|265|230| 5 |m12| 80 | 22 | 85 | 130]8.00

A53



B & R % Worm Gear Reducer

iRER - BBEE R4 - MPHA

Worm Gear - MPHA

MPHA50~MPHA175 BhACE SHAFT DIRECTION

P.CD PB BB B3
4-9PK

hER 313 it —_ /i\

0il gauge | Oil plug Input Bore

I

)
I

DL

ki)
Output Bore =

fih
Drgin plug

JR < Z= DIMENSION *in millimeter

20 | 6 |225
50 155| 85 | 99 |46.5/ 50 | 80 | 35 | 13 | 15 |165(110|140| 95 [120| 11 | 0.25| 0.2 |11 | 4 |12.5/160|130|110| 5 | M8 o7 28 6.0 [0.31
025| 02 |11 4 [125
60 180|102/112| 53 | 60 | 93 | 42 | 15 | 18 |195/120|150|105|130| 11 160|130(110| 5 |M8| 25 | 7 | 28 | 7.4 |0.44
05|04 |14] 5 |16
05|04 14| 5 |16 |160|130/110| 5 | M8
70 212|117|131| 62 | 70 |105| 50 | 18 | 20 |225|150|190|115|150] 15 30 | 7 | 33 |14.4/0.70
) 1 |075|19| 6 |21.5/200|165|130| 5 |M10
. 1 07519 6 215
80 (#%)233/129(144| 68 | 80 |112| 60 | 18 | 20 | 252|180 220|135|170| 15 200|165|130| 5 |M10| 35 | 10 | 38 |20.0/0.99
110 2 |15 |24 8 |27
1;; 2 | 15 | 24| 8 |27(200]165|130| 5 |M10
100 | %9 1295/160|175| 83 |100|140| 75 | 22 | 25 |315/220|270/155|190| 15 40 | 12 | 43 {39.0/1.87
130 3 |22 28| 8 |31|250(215/180| 5 |M12
1:40
150 3 1 22(28] 831
120 |2 |334]175/200| 95 |120|180| 95 | 22 | 25 |395|260|320|180|230| 18 250(215|180| 5 |M12| 45 | 14 |48.5/60.0/4.10
160 5 [ 37(28|8 31
5 |37 28| 8 |31|250(215|180| 5 |M12
135 380|202 |216102.5135|215[105| 27 | 30 |455|290|350|200|250| 18 55 | 15 | 60 |81.0/4.40
7.5 | 55 | 38|10 |41 |300|265/230| 5 |M12
155 437(232|270{109|155/197|103 | 28 | 32 |455|320/380(220/280| 20 | 7.5 | 5.5 | 38| 10 | 41300 265|230| 5 |[M12| 65 | 18 | 69 |96.0|7.00
175 477(252|300(137|175|260|123| 32 | 37 |558|350|410|250|310| 20 | 10 | 7.5 | 38 | 10 | 41 {300|265/230| 5 |M12| 80 | 22 | 85 |140.08.00
A54



Worm Gear Reducer M) iy Sl R A

A01~A119

IRdE - BEEGR4E - MPHB
Worm Gear - MPHB

MPHB50~MPHB175 BhACE SHAFT DIRECTION

A

SHEH b AB
Of gauge| Ofl plug |
Tt i
B Py oD Outpu& Bore
————{{ 4 ~
E J_ C,
. J
S P | T P.CD PB
o i Input Bore " ¥iop
Drgin plug M N4-07
N

JR < Z= DIMENSION *in millimeter

20 | 6 |225
50 155| 85 | 99 14655 50 | 13 | 15 |165| 65 110|140 95 1120/ 50 | 11 | 025| 02 |11 4 125/160|130|110) 5 | M8 — ———— 760 031
025 02 |11| 4 125
60 180(102 112| 53 | 60 | 15 | 18 |195| 75 |120|150|105|130| 60 | 11 160(130|110| 5 |M8 25 | 7 | 28 |7.4 (044
05|04 |14| 5 |16
05 | 04 |14| 5 |16 |160|130|110| 5 | M8
70 212|117|131| 62 | 70 | 18 | 20 |225| 85 |150|190|115|150| 70 | 15 30 | 7 | 33|144/070
(R 1 /075|196 [21.5/200 165130 5 |M10
o 1 075|196 [2L5
80 (4% 233/129/144| 68 | 80 | 18 | 20 |252| 92 |180(220135|170| 80 | 15 200|165|130| 5 |M10| 35 | 10 | 38 |20.0/0.99
110 2 |15 |24| 8 |27
115
20 2 | 15 | 24| 8 |27 |200|/165/130| 5 |M10
100 | %291295/160/175| 83 |100| 22 | 25 |315|115|220|270 155|190 100| 15 40 | 12 | 43 [39.0|1.87
1:30 3 | 22|28| 8 |31/250/215/180| 5 |M12
1:40
150 3 2228 8 31
120 | >7|334/175/200| 95 |120| 22 | 25 |395|155|260|320|180|230|120| 18 250|215|180| 5 |M12| 45 | 14 |48.5/60.0|4.10
160 5 3728|831
5 | 37 |28| 8 |31/250/215/180| 5 |M12
135 380|202|216(102.5135| 27 | 30 |455 185 |290|350|200|250|135| 18 55 | 15 | 60 |81.0|4.40
7.5 | 55 | 38|10 | 41 |300|265(230| 5 |M12
155 437(232/270/109 |155| 28 | 32 |455|165|320(380(220(280 135| 20 | 7.5 | 55 | 38 | 10 | 41 |300|265(230| 5 |M12| 65 | 18 | 69 |96.0|7.00
175 477/252/300|137|175| 32 | 37 |558|223|350|410|250|310|160| 20 | 10 | 7.5 | 38 | 10 | 41 |300|265|230| 5 |M12| 80 | 22 | 85 [140.0/8.00

A55



B & R % Worm Gear Reducer

WRdw - EE R - MPHV

Worm Gear - MPHV

MPHV50~MPHV175 BHACE SHAFT DIRECTION
R
L
A 5
i3
4B Oil plug .
ADR
Input Bore RI
T
SHER i
0il gauge |8y | —-&F &)
L 3!
= —~ B thd,
Output Bore LI
) E 4-¢7 BB 0D
Drgltnm%lug/ F b

JR~F Z5 DIMENSION *in millimeter

20 | 6 |225
50 155 | 85 [46.5| 50 [101.5 52 | 90 | 92 | 112|236 |115| 14 | 11 |0.25| 0.2 | 11| 4 |12.5/160|130|110| 5 |M8 o7 2 6.8 (031
025| 02 | 11| 4 [125
60 180|102 | 53 | 60 | 114 | 58 | 100 | 103|130 | 265|127 | 15 | 11 160|130(110| 5 |M8| 25 | 7 | 28 | 8.4 |0.44
05|04 |14| 5 |16
05|04 |14] 5 |16 |160|130|110| 5 | M8
70 212|117 | 62 | 70 [133.5 68 | 120 | 120 | 155|305 | 156 | 20 | 15 30 | 7 | 33(15.0/0.70
4%;;; 1 /07519 6 |21.5/200(165|130| 5 |M10
1 /075/19| 6 [215
80 *Té’% 233|129 | 68 | 80 |147| 75 | 140|132 |180|342|176 | 20 | 15 200/165|130| 5 |M10| 35 | 10 | 38 |21.0/0.99
110 2 | 15 |24 8 |27
115
190 2 | 15 |24| 8 |27(200]165|130| 5 |M10
100 | %9 295|160 | 83 | 100 [177.5/ 90 | 190 | 155 | 215 | 400 | 227 | 20 | 15 40 | 12 | 43 |41.0|1.87
130 3 |22 28| 8 |31|250(215|180| 5 |M12
140
150 3 1 22(28] 8|31
120 |27 1334|175| 95 | 120 | 205 | 105 | 220 | 200 | 260 | 505 | 264 | 25 | 18 250(215|180| 5 |M12| 45 | 14 |48.5/61.0/4.10
160 5 3728|831
5 | 37 (28| 8 |31/250/215/180| 5 |Mm12
135 380 | 202 [102.5 135 | 221 | 113 | 260 | 235 | 290 | 570 | 304 | 30 | 18 55 | 15 | 60 |83.0|4.40
7.5 | 55 | 38|10 |41 |300|265/230| 5 |M12
155 4372321109 | 155|270 | 135|280 | 217 | 310 | 583 340 | 35 | 20 | 7.5 | 5.5 |38 |10 | 41 [300|265|230| 5 |M12| 65 | 18 | 69 [105.0/7.00
175 477 252|137 | 175|310 | 160 | 320 | 290 | 365 | 715|380 | 40 | 20 | 10 | 7.5 | 38 | 10 | 41 [300|265|230| 5 |M12| 80 | 22 | 85 [145.0/8.00
A56



Worm Gear Reducer M) iy Sl R A

A01~A119

WRém - B ETRHR - PHSN
Worm Gear - PHSN

PHSN40~PHSN175

i
Oil plug

pilE ]
Oil gauge
—

==

(S
O

Ahd
Input Shaft

H
]
2
of
I
|
8U|

& o O i i
Output Shaft |
i /i_/#_;'\ f = f
Drgin plug AD N8&=X'L “BD

BB S SHAFT DIRECTION

Ny

Al

JR] <} £ DIMENSION *in millimeter

40 1/8 | * |158| 96 |102| 80 [130| 84 | 68 | 54 | 40 |127| 34 | 53 | M8*16 28 | 12 | 135 | 4x4x25 | 35 | 15 | 17 5x5x30 | 4.1 |0.17
50 1/4 | 1/8 |175|105|115| 90 {145| 95 | 68 | 50 | 50 |150| 35 | 65 | M8*16 30 | 12 | 135 | 4x4x25 | 40 | 17 | 19 5x5x35 | 47 |0.31
60 1/2 | 1/4 |198|120{127|100|165(110| 78 | 54 | 60 |177| 42 | 75 | M10*20 | 40 | 15 | 17 | 5x5x35 | 50 | 22 | 25 | 7x7x45 | 6.9 |0.44
70 (:fiﬁ?i) 1 | 1/2 |235/140|156|125/195/130| 88 | 66 | 70 |205| 50 | 85 | M10*20 | 40 | 18 | 20 | 5x5x35 | 60 | 28 | 31 | 7x7x55 |11.9|0.70
(=)

80 ﬁg 2 1 |264|160/176|145/210|{140|101| 75 | 80 |232| 60 | 92 | M10*20 | 50 | 22 | 25 | 7x7x45 | 65 | 32 | 35 | 10x8x60 |16.0|0.99
100 1;8 3 2 [325|190(227|185|260|170{115| 85 {100(290| 75 |115| M12*24 | 50 | 25 | 28 | 7x7x45 | 75 | 38 | 41 | 10x8x65 |35.0|1.87
120 E%E 5 3 1389|230|264|220|290190|132|100|120|370| 95 |155| M14*28 | 65 | 30 | 33 | 7x7x55 | 85 | 45 | 48 | 12x8x70 |51.0|4.10
135 | 75| 5 |438/260(304|260/320/210|144/110|135|425|105|185| M16*32 | 75 | 35 | 38 | 10x8x65 | 95 | 55 | 60 | 15x10x80 |72.0|4.40
155 10 | 7.5 |510(302|340(280|387|252|160|120|155|423|103|165| M16*40 | 85 | 40 | 43 | 10x8x75 | 110 | 60 | 65 | 15x10x95 | 90.0 |7.00
175 15 | 10 |556(325|370(320|410(262|186|140(175|521|123|223| M16*40 | 85 | 45 | 48 | 12x8x75 | 110 | 65 | 69 | 18x11x95 |132.0| 8.00

A57




L

iR Worm Gear Reducer

WRém - B EGRHR - PHSA
Worm Gear - PHSA

PHSA40~PHSAL75

wga | AR B
0il gauge | Oil plug
ek

e

el %

|

Ah%
Inputvshnft

B

1
= Q QS 8
S output shaft |
pZ S| ST
3 M | 0 |
Drgin plug N N4=9Z_ P

BB S SHAFT DIRECTION

R L D I K

l‘

JR] <} £ DIMENSION *in millimeter

40 1/8 | * |158|96 |130| 84 |40 |66 |34 | 11|13 |140|100{125| 90 |100{ 10 | 28 | 12 | 13.5| 4x4x25 | 35 | 15 | 17 5x5x30 | 4.5 |0.18
50 1/4 | 1/8 |175|105{145| 95 | 50 | 80 | 35 | 13 | 15 |165|110/140| 95 |120| 11| 30 | 12 |13.5| 4x4x25 | 40 | 17 | 19 5x5x35 | 49 |0.31
60 1/2 | 1/4 |198|120{165|110| 60 | 93 | 42 | 15 | 18 |195/120/150(105/130| 11| 40 | 15 | 17 | 5x5x35 | 50 | 22 | 25 7x7x45 | 7.2 1044

70 | 1.5 | 1 | 1/2|235|140(195|130| 70 |105|50 | 18 | 20 (225|150/190|115/150{ 15| 40 | 18 | 20 | 5x5x35 | 60 | 28 | 31 | 7x7x55 |13.3|0.70

80 | M0 2 1 |264|160|210|140| 80 |112| 60 | 18 | 20 {252|180|220(135(170| 15| 50 | 22 | 25 | 7x7x45 | 65 | 32 | 35 | 10x8x60 |18.0|0.99

100 | 139 | 3 2 [325/190|260|170|100|140| 75 | 22 | 25 |315|220|270{155|190| 15 | 50 | 25 | 28 | 7x7x45 | 75 | 38 | 41 | 10x8x65 |38.0|1.87

120 | 150 | 5 3 |389|230(290/190(120|180| 95 | 22 | 25 |395/260(320|180(230| 18 | 65 | 30 | 33 | 7x7x55 | 85 | 45 | 48 | 12x8x70 |56.0|4.10

135 75 | 5 1438|260(320|210|135|215|105| 27 | 30 |455|290/350|200|250| 18 | 75 | 35 | 38 | 10x8x65 | 95 | 55 | 60 | 15x10x80 |78.0|4.40

155 10 | 7.5 |510|302|387|252|155|197|103| 28 | 32 |455|320|380|220(280| 20 | 85 | 40 | 43 | 10x8x75 | 110 | 60 | 65 | 15x10x95 |92.0 | 7.00

175 15 | 10 |556(325|410|262|175|260|123| 32 | 37 |558|350(410|250|310| 20 | 85 | 45 | 48 | 12x8x75 | 110 | 65 | 69 | 18x11x95 (142.0|8.00
A58



Worm Gear Reducer M) iy Sl R A

A01~A119

MRER - BBEY R 4% - PHSB

Worm Gear - PHSB

PHSB40~PHSB175

A B

ER | AB BB
0il gauge | Oil plug
— | 1 Il

1 i f
(L] LS !

Qutput Shaft
4 © © put LK |

L A %: o ==l - =
Input Shaft

e TS

==

cc

i =5
[k
ol
I
’:@FF =
o i
=
© ©,
© ©

&

-
=

N

Jd
J

i
Drgin plug

N4-¢Z L—h—lo

==

BB S SHAFT DIRECTION

R L D I K

JR] <} £ DIMENSION *in millimeter

40 1/8 | * |158| 96 |130| 84 | 40 | 11 | 13 |140| 53 |{100{125| 90 |110| 47 |10 | 28 | 12 |13.5| 4x4x25 | 35 | 15 | 17 5x5x30 | 4.5 |0.18
50 1/4 | 1/8 |175|105|145| 95 | 50 | 13 | 15 |165| 65 [110|140| 95 (120| 50 | 11| 30 | 12 |13.5| 4x4x25 | 40 | 17 | 19 5x5x35 | 49 |0.31
60 1/2 | 1/4 |198|120{165|110| 60 | 15 | 18 |195| 75 (120|150/105(130|/ 60 | 11| 40 | 15 | 17 | 5x5x35 | 50 | 22 | 25 7x7x45 | 7.2 1044

70 | 1.5 | 1 | 1/2|235|140(195|130| 70 | 18 | 20 |225| 85 [150{190/115|150| 70 | 15| 40 | 18 | 20 | 5x5x35 | 60 | 28 | 31 | 7x7x55 |13.3|0.70

80 | M0 2 1 |264|160|210|140| 80 | 18 | 20 |252| 92 |180(220|135(170| 80 | 15| 50 | 22 | 25 | 7x7x45 | 65 | 32 | 35 | 10x8x60 |18.0|0.99

100 | 130 | 3 2 [325/190|260|170|100| 22 | 25 |315(115|220|270{155|190|100| 15 | 50 | 25 | 28 | 7x7x45 | 75 | 38 | 41 | 10x8x65 |38.0|1.87

120 | 150 | 5 3 |389|230(290/190|120| 22 | 25 |395|155|260/320|180|230(120| 18 | 65 | 30 | 33 | 7x7x55 | 85 | 45 | 48 | 12x8x70 |56.0|4.10

135 75 | 5 1438|260(320|210|135| 27 | 30 |455|185(290|350/200|250|135| 18 | 75 | 35 | 38 | 10x8x65 | 95 | 55 | 60 | 15x10x80 |78.0|4.40

155 10 | 7.5 |510|302|387|252|155| 28 | 32 |455|165|320(380|220|280(135/20 | 85 | 40 | 43 | 10x8x75 | 110 | 60 | 65 | 15x10x95 |92.0 | 7.00

175 15 | 10 |556|325|410(262|175| 32 | 37 |558|223|350(410|250(310(160| 20 | 85 | 45 | 48 | 12x8x75 | 110 | 65 | 69 | 18x11x95 |142.0|8.00
A59



R B 5 R

R Worm Gear Reducer

WRém - BETRER - PHSV
Worm Gear - PHSV

PHSV50~PHSV175

WER A
Oil gauge AB G
— —— —
Ta a3
& ] 1 [ | 0i plug =
e — HS

AnM
Input Shaft
v

;%» ¥ == =
i

- ey |
o w Output Shat

4-¢7 BB DD

[ |. D0 |
Drgin plug, F D

BHACE SHAFT DIRECTION

JR~F 3= DIMENSION *in millimeter

40 1/8 | * |158| 96 | 84 | 40 |129| 45| 70 | 78 | 99 |207|102| 10 | 10 | 28 | 12 |13.5| 4x4x25 | 35 | 15 | 17 5x5x30 | 4.7 |0.18
50 1/4 | 1/8 |175|105| 95 | 50 |147| 52 | 90 | 92 |112|236|115| 14 | 11 | 30 | 12 |13.5| 4x4x25 | 40 | 17 | 19 5x5x35 | 5.7 |0.31
60 1/2 | 1/4 |198|120{110| 60 |168| 58 | 100|103 |130|265|127| 15| 11 | 40 | 15 | 17 | 5x5x35 | 50 | 22 | 25 7x7x45 | 8.2 | 044
70 :?i 1 |1/2 |235|/140|130| 70 {198 | 68 | 120|120 |155|305|156| 20 | 15 | 40 | 18 | 20 | 5x5x35 | 60 | 28 | 31 | 7x7x55 |14.2|0.70
(F=tE)
80 f?;_ 2 1 |264|160|140| 80 |215| 75 |140|132|180|342|176| 20 | 15 | 50 | 22 | 25 | 7x7x45 | 65 | 32 | 35 | 10x8x60 |19.00.99
100 1;3 3 2 [325|190 170|100 |260| 90 |190 |155|215|400|227| 20 | 15| 50 | 25 | 28 | 7x7x45 | 75 | 38 | 41 | 10x8x65 |40.0|1.87
120 %EE 5 3 389230190 120|295 105|220 (200 |260 505|264 | 25 | 18 | 65 | 30 | 33 | 7x7x55 | 85 | 45 | 48 | 12x8x70 |57.0|4.10
135 | 75| 5 438|260 210|135 /323|113 |260|235|290|570|304| 30 | 18 | 75 | 35 | 38 | 10x8x65 | 95 | 55 | 60 | 15x10x80 |80.0|4.40
155 10 | 7.5 | 510|302 |252 155|387 |135|280|217 |310|583|340| 35 | 20 | 85 | 40 | 43 | 10x8x75 | 110 | 60 | 65 | 15x10x95 {100.0|7.00
175 15 | 10 |556|325|262|175|422 160 320|290 |365|715|380| 40 | 20 | 85 | 45 | 48 | 12x8x75 | 110 | 65 | 69 | 18x11x95 |147.0|8.00
A60




Worm Gear Reducer M) iy Sl R A

iRER - BBEE R - MPHSN

Worm Gear - MPHSN

MPHSN40~ MPHSN 175

A01~A119

HER

Oil gauge
lan———— -

A

AB

hix:l:3
0il plug
I

=
I

o
g

e

§ ::O

©

= @ e Hn
Dr:iir:mplug I :I[E] l\%
HBECZE SHAFT DIRECTION
N
ARI ALI
Ny N
BRI BLI
ADI BDI

JR~F 3= DIMENSION *in millimeter

40 140|78.5/102| 80 |130| 84 | 68 | 54 | 40 |127| 34 | 53 | M8*16 0.25| 0.2 | 11 | 4 |12.5/160|130/110| 5 | M8 |35| 15| 17 | 5x5x30 | 5.0 |0.18
50 155| 85 |115| 90 |145| 95 | 68 | 50 | 50 |150| 35 | 65 | M8*16 |0.25| 0.2 | 11 | 4 |12.5/160|130/110| 5 | M8 |40| 17 | 19 | 5x5x35 | 5.8 |0.31
025/ 02 11| 4 |125
60 180 102|127 100|165 |110| 78 | 54 | 60 |177| 42 | 75 |M10*20 160/130(110| 5 | M8|50| 22|25 | 7x7x45 | 7.1 |0.44
05|04 |14 |5 |16
05|04 |14 | 5 | 16 |160/130/110 5 | M8
70 ["94) 212 117|156 | 125|195 130 | 88 | 66 | 70 |205| 50 | 85 |M10°20 60|28 | 31| 7x7x55 |13.0/0.70
L 1 |075| 19 | 6 |21.5/200/165/130| 5 [M10
o 1 07519 6 |215
80 | . |233|129|176|145| 210|140 | 101 75 | 80 |232| 60 | 92 |M10*20 200|165|130| 5 |M10|65 | 32 | 35 | 10x8x60 |18.0/0.99
b 2 |15 24| 8 |27
130 2 | 15|24 8 | 27|200/165/130 5 |M10
100 | 1,49 (295 160 | 227|185 | 260|170 | 115| 85 |100{290 | 75 | 115 |M12+24 75|38 | 41 | 10x8x65 |36.0|1.87
50 3 |22 28| 8 |31|250215/180| 5 |M12
1:60 3 2228|831
120 334|175 2642201290190 132|100 120 370 | 95 | 155 |M14+28 ————— ~— | 250215/180) 5 |M12)85 45| 48 | 12x8x70 |55.0|4.10
o] 5 |37 [28] 8 [ 31]250[215[180] 5 [M12
135 380|202 296 | 260 | 320| 210 | 144 110 135 | 425 105 | 185 |M16*32 — 2o 021 1300 2651230 & m1g| 25| 55 | 60 15x10x80|75.0/4.40
155 437232340 280|387 252|160 | 120 | 155 | 423 103|165 M16*40| 7.5 | 5.5 | 38 | 10 | 41 |300/265/230, 5 |M12]110) 60 | 65 |15x10x95/92.0|7.00
175 477252370 |320 | 410|262 | 186|140 | 175|521 | 123|223 |M16*40| 10 | 7.5 | 38 | 10 | 41 |300]265|230| 5 |M12[110 65 | 69 |18x11x95| 135 8.00
A61



B & R % Worm Gear Reducer

iRER - BEYR#% - MPHSA

Worm Gear - MPHSA

MPHSA40~ MPHSA 175

WER | JEE
0il_gauge| Oil plug
= gaugel 1,

EE |
Drgin plug

#HACE SHAFT DIRECTION

JR~F 3% DIMENSION *in millimeter

40 140(78.5/130| 84 | 40 | 66 | 34 | 11 | 13 |140/100|125| 90 |110| 10 |0.25| 0.2 | 11 | 4 |12.5/160|130|110| 5 | M8 |35| 15|17 | 5x5x30 | 5.4 |0.18
50 155| 85 |145| 95 | 50 | 80 | 35 | 13 | 15 |165|110/140| 95 |120| 11 |0.25| 0.2 | 11 | 4 |12.5/160|130/110| 5 | M8 |40| 17|19 | 5x5x35 | 6.0 |0.31
025/ 02|11 | 4 |125
60 180/102/165|110| 60 | 93 | 42 | 15 | 18 |195|120|150|105|130] 11 160/130|110) 5 | M8 |50|22 | 25 | 7x7x45 | 7.4 |0.44
05|04 |14 5 | 16
05|04/ 14| 5 |16 |160130110| 5 | M8
70 ( ’%ﬁ )212/117/195|130| 70 |105| 50 | 18 | 20 |225/150/190|115|150| 15 60|28 | 31| 7x7x55 |14.4/0.70
* 5 1 075/ 19| 6 |21.5/200/165/130| 5 |M10
Ny 1 (07519 6 |215
80| 15| 233(129|210/140| 80 |112) 60 | 18 | 20 252|180/ 220/ 135/170| 15 [————— -~~~ _~1200/165/130) 5 |M10/65|32 | 35| 10x8460 20.0/0.99
L1120 :
130 2 | 15 24| 8 | 27 |200/165/130| 5 [M10
100/ 1.0 | 295|160 260|170|100|140| 75 | 22 | 25 |315|220|270 155|190 15 75|38 | 41 | 10x8x65 |39.0|1.87
e 3 | 2228 8 | 31|250215/180| 5 |M12
1:60 3 122|28| 8 |31
120 334/175/290/190/120/180| 95 | 22 | 25 |395|260|320|180 230 18 |———_—— -~ -12501215/180| 5 12|85 45| 48 | 12x8x70 60.0/4.10
5 | 37|28 8 |31 |250/215/180] 5 |M12
135 380|202|320| 210|135/ 215/ 105| 27 | 30 |455|290 350|200|250| 18 = c =5 T35 10 | 41 1300 262 230 & M1zl 05| 5 | 60 |L5X10x80| 910|440
155 437|232|387/252|155/197/103| 28 | 32 [455|320|380(220(280| 20 | 7.5 | 5.5 | 38 | 10 | 41 |300|265/230| 5 |M12[110 60 | 65 |15x10x95|95.0|7.00
175 477|252|410(262(175|260|123| 32 | 37 |558|350|410|250(310| 20 | 10 | 7.5 | 38 | 10 | 41 |300|265|230| 5 |M12[110| 65 | 69 |18x11x95| 145 |8.00

A62



R - BRI -

Worm Gear - MPHSB

Worm Gear Reducer M) iy Sl R A

MPHSB

MPHSB40~ MPHSB 175

A01~A119

BAHECE SHAFT DIRECTION

B

Ld

e
Drgin plug

ISR
QOil gauge
—

A
A

.

B

Tl
Ol Iplug
T T

1
Q ;,):
L=
|
T
9PC
0PA

o

=

N\4-9Z

b

JR~F 3% DIMENSION *in millimeter

40 140(78.5/130| 84 | 40 | 11 | 13 |140| 53 |100/125| 90 |110| 47 | 10 |025| 0.2 | 11 | 4 |12.5/160|130110 5 | M8|35| 15 |17 | 5x5x30 | 54 |0.18
50 155 85 145/ 95 | 50 | 13 | 15 |165| 65 |110|140| 95 [120| 50 | 11|025| 0.2 | 11 | 4 |12.5/160{130(110| 5 | M8 |40| 17 | 19| 5x5x35 | 6.0 |0.31
025 02|11 4 [125
60 180|102|165|110| 60 | 15 | 18 |195| 75 |120|150|105|130 60 | 11 160|130(110| 5 | M8|50| 22| 25 | 7x7x45 | 7.4 |0.44
0504]14] 5|16
. 05 04|14 5 | 16 |160[130/110| 5 | M8
70 [®9%) 212|117|195130| 70 | 18 | 20 |225] 85 |150|190|115|150| 70 | 15 60| 28 | 31| 7x7x55 |14.4/0.70
o 1 [075] 19| 6 |21.5/200[165[130] 5 [M10
Ny 1 07519 6 |215
80 | 11q 233/129)210/140| 80 | 18| 20 |252 92 |180|220)135/170| 80 | 15 |——-"~— " ~200/165/130 5 M10|65| 32 35 | 1048460 200/0.99
L1120 .
130 2 | 15] 24| 8 |27 |200[165/130 5 [M10
100| 1, | 295|160/ 260|170|100| 22 | 25 |315/115|220|270/155190|100] 15 75| 38 | 41| 10x8x65 |39.0|1.87
b 3 [ 22|28 8 |31 |250[215/180] 5 [Mm12
1:60 3 122288 |31
120 " |334/175 290/190|120| 22 | 25 |395155| 260|320 180 230|120| 18 [~ ——_ "~ |~ 1250/215/180 5 M12|85 45 48 | 126870 600|410
5 [ 3728 8 | 31|250215/180] 5 [M12
135 |380|202|320 210/ 135| 27 | 30 |455|185|290 350 200|250 |135| 18 =2t 55 1041 1300 262 230 2 MLz 25| 55 | 60 |15¥10x80 810|440
155|  437]232[387|252|155] 28 | 32 |455]165|320|380]220]280(135| 20 | 7.5 | 5.5 | 38 | 10 | 41 [300|265]230] 5 [M12[110] 60 | 65 |15x10x95]96.0[7.00
175|  |477|252|410|262|175| 32 | 37 |558|223|350|410|250 310(160| 20 | 10 | 7.5 | 38 | 10 | 41 |300/265/230, 5 |M12[110| 65 | 69 |18x11x95| 145 |8.00

A63



B & R % Worm Gear Reducer

URém - BEBETRER - MPHSV
Worm Gear - MPHSV

MPHSV40~ MPHSV 175

A

|

il 3
5 Oil plug
L | it
= (/ | npu : ore
b — 1 o=l 7 i
pr >~ 11T 3Ty
g i O \ Q i Y A\ T o
e ~ | | ;.: o AN |
hER o
‘_OI| gougg ® ! ® o o L
7

Output Shaft

&
4

PRE E N4-=987 BB DD
Drgin plug £ D

BB E SHAFT DIRECTION

A64



Worm Gear Reducer g

A01~A119

JR] <] Z= DIMENSION *in millimeter

4 5x5x25
50 155 85 | 95 | 50 |147| 52 | 90 | 92 |112|236|115| 14 | 11 |0.25| 0.2 | 11 | 4 |12.5/160/130|110| 5 | M8 |40| 17 | 19 | 5x5x35 | 6.8 |0.31
025/ 02|11 | 4 [125
60 180 /102|110 | 60 |168| 58 | 100|130 |130| 265|127 | 15 | 11 160/130|110| 5 | M8 50|22 | 25| 7x7x45 | 8.4 |0.44
05|04 14| 5 |16
e 05|04 |14 | 5 | 16 |160/130/110| 5 | M8
70 [(F¥8) 2121117|130| 70 | 198 | 68 | 120 | 120|155 305|156 | 20 | 15 60| 28|31 | 7x7x55 |15.3]0.70
15 1 107519 | 6 [21.5/200/165/130| 5 |[M10
(1Z)
110 1 075/19| 6 [215
80 | 7 |233|129|140| 80 |215| 75 |140|132|180|342|176| 20 | 15 200/165(130| 5 |M10|65]| 32| 35 | 10x8x60 |21.0/0.99
123 2 |15|24| 8 |27
130 2 | 15|24 | 8 | 27 |200|165/130| 5 |M10
100 | 149 | 295|160 | 170 | 100 | 260 | 90 | 190 | 155 | 215|400 | 227 | 20 | 15 75| 38| 41 | 10x8x65 |41.0|1.87
150 3 | 22|28 8 |31250/215/180| 5 |M12
1:60 3 12228 8 |31
120 334 175|190 | 120 | 295 | 105 | 220 | 200 | 260 | 505 | 264 | 25 | 18 250|215/180| 5 |M12|85]| 45 | 48 | 12x8x70 |61.0|4.10
5 137[28| 8 |31
5 | 37|28 8 |31]250[215/180] 5 [M12
135 380|202 | 210| 135|323 | 113 | 260 | 235 290 | 570 |304 | 35 | 18 = c 3270 | 41 1300 265 230 5 M1z 22| 35 | 60 |15%10x80/83.04.40
155 437232 |252| 155|387 | 135|280 |217|310|583(340| 35 | 20 | 7.5 | 5.5 | 38 | 10 | 41 |300|265|230| 5 |M12[110 60 | 65 |15x10x95| 104 |7.00
175 477|252 |262| 175|422 |160|320|290|365|715(380| 35 | 20 | 10 | 7.5 | 38 | 10 | 41 |300|265|230| 5 |M12[110| 65 | 69 |18x11x95|150 |8.00
4 N
_ J

A65



{8 &

WRdm - EELRHT - PAW

Worm Gear - PAW

RR

RL

WS
0il” gauge -

PAW60~PAW135

TR Worm Gear Reducer

B

AB ’ AC,

AA

|nplﬁ gfmft

Y
Oﬁ'ng?ug

I

-
<>

&

Jéi
|:::1

M E SHAFT DIRECTION

RD RRC

]

== 'np@uﬂ ﬁ
L s
H \Qk@ OUtPEt Ehoft
I — tjp "31 ﬁk%
{j [
]
Faee==iy

Outp'llij'zJ ghaft

=)

RLC

RDC

'r\

‘

<«

g

&

175 X120

: 4

135X80

60 X32 70 X 40 80X50 | 100X60 | 120X70 155 X100 200 X135

A66



Worm Gear Reducer

A01~A119

J] =~} 3% DIMENSION *in millimeter

70 2605| 96 |1205| 45 | 226 | 130 | 215 | 70 | 115 | 150 | 240 | 175 | 105 | 150 | 190 | 40 20 15
E 1:100 Eggg 285 | 105 | 132 | 49 | 245 | 140 | 250 | 80 | 135 | 180 | 270 | 200 | 120 | 170 | 220 | 50 24 15
1150 |

100 ggg Ezgg 353 | 120 | 163 | 55 | 290 | 170 | 310 | 100 | 155 | 220 | 340 | 250 | 150 | 190 | 270 | 60 25 15
— 11800

120 1:88 Eggg 4095 | 140 | 187 | 64 | 310 | 190 | 370 | 120 | 180 | 260 | 405 | 300 | 180 | 230 | 320 | 70 30 18
135 1288 ﬁggg 465 | 160 | 2165 | 71 | 370 | 210 | 450 | 135 | 200 | 290 | 455 | 350 | 215 | 250 | 350 | 80 35 18
155 +% 13600 5585 | 190 | 267 | 84 | 442 | 252 | 490 | 155 | 220 | 320 | 490 | 390 | 235 | 280 | 390 | 100 | 35 20
?5 618 | 230 | 302 | 103 | 492 | 262 | 555 | 175 | 250 | 350 | 565 | 435 | 260 | 310 | 420 | 120 | 40 20
; 670 | 260 | 322 | 110 | 565 | 305 | 625 | 200 | 290 | 350 | 625 | 490 | 290 | 350 | 420 | 135 | 42 22

J]~} 3% DIMENSION *in millimeter

60 1/16 * 28 | 12 | 135 4x4x20 50 22 25 TX7x45 10.9 0.16 033
; 1/8 1/16 28 | 12 | 135 4x4x25 60 28 31 7X7X55 16 0.17 0.50
E 1:100 Eggg 1/4 1/8 30 | 12 | 135 4x4x25 65 32 35 10x8x60 22 0.31 0.77
1150 |
100 iigg iizgg 12 1/4 40 | 15 | 17 5x5x35 75 38 41 10x8x65 36 0.44 1.50
— 1:1800
120 1:88 i;ggg 1 1/2 40 | 18 | 20 5x5x35 85 45 48 12x8x70 63 0.70 235
135 iggg 155(5)88 2 1 50 | 22 | 25 7X7x45 95 55 60 15x10x80 88 1.00 3.20
155 +% 13600 3 2 50 | 25 | 28 7x7x45 110 60 65 15x10x95 129 1.87 4.00
1775 5 3 65 | 30 | 33 7X7x55 110 65 69 18x11x95 186 410 5.70
E 75 5 75 | 35 | 38 10x8x65 125 70 745 20x12x110 245 4.40 7.90

A67



R Worm Gear Reducer

R B 5 R

WRdm - EELRH - PBW

Worm Gear - PBW

PBW60~PBW135

L S
O”}m&iﬁge ‘[ Inpu}}ﬁa\uft i%?”(ﬁ Outp?tmghcft
N weeN AR ==
[l iSons Wl vt
IS~ est .
DrBFi;n‘ilu ' - f R !
gNPq 4-97 :
PBW155~PBW300
B
AA | BB
| T oo tSh ft
upu a
Inputngmoft —— Eg )@
2 Q}% #HKE(@ . D,

i
Drgin plug

M E SHAFT DIRECTION

RL

120 135 155 175 200 225 250 300
X X X X X X X X
70 80 100 120 135 135 155 155

A68



Worm Gear Reducer f

A01~A119

JR] <] Z= DIMENSION *in millimeter

70 2605 | 96 |120.5| 45 | 226 | 130 | 110 | 70 | 115 | 150 | 240 | 70 | 140 | 150 | 190 | 40 | 20 | 15
80 285 | 105 | 132 | 49 | 245 | 140 | 130 | 80 | 135 | 180 | 270 | 80 | 160 | 170 | 220 | 50 | 24 | 15
100 11000| 353 | 120 | 163 | 55 | 260 | 170 | 160 | 100 | 155 | 220 | 340 | 100 | 200 | 190 | 270 | 60 | 25 | 15
] 1200 [0
120 1150 | 1o | 4095 | 140 | 187 | 64 | 310 | 190 | 190 | 120 | 180 | 260 | 405 | 120 | 240 | 230 | 320 | 70 | 30 | 18
1:200 [
— 1:1600
135 i:igg 11800 | 465 | 160 | 2165 | 71 | 370 | 210 | 215 | 135 | 200 | 290 | 455 | 135 | 270 | 250 | 350 | 80 | 30 | 18
1 Lsgp 12000
15| [ eoq (2400 | 5585 | 190 | 267 | 84 | 442 | 252 | 235 | 155 | 220 | 320 | 490 | 135 | 290 | 280 | 390 | 100 | 35 | 20
L 12500
1:800
175| 1.900 13000 | 618 | 230 | 302 | 103 | 492 | 262 | 280 | 175 | 250 | 350 | 565 | 160 | 335 | 310 | 420 | 120 | 40 | 20
1:3600
200 670 | 260 | 322 | 110 | 565 | 305 | 325 | 200 | 290 | 350 | 650 | 175 | 375 | 350 | 420 | 135 | 40 | 22
225 735 | 260 | 355 | 110 | 595 | 335 | 315 | 225 | 330 | 390 | 705 | 190 | 415 | 410 | 470 | 135 | 40 | 27
250 844 | 302 | 392 | 135 | 662 | 360 | 355 | 250 | 380 | 440 | 780 | 200 | 450 | 460 | 520 | 155 | 42 | 27
300 920 | 302 | 425 | 135 | 712 | 410 | 355 | 300 | 340 | 480 | 855 | 200 | 500 | 450 | 580 | 155 | 50 | 36

JR < % DIMENSION *in millimeter

60 1/16 . 28 | 12 | 135|  4x4x20 50 22 25 7x7x45 109 0.16 033
; 1/8 116 | 28 | 12 |135|  4x4x25 60 28 31 7X7x55 16 0.17 0.50
g 1/4 1/8 30 | 12 | 135 |  4xx2S 65 32 35 10x8x60 22 031 0.77
; 10 151000 1/2 1/4 40 | 15 | 17 5x5x35 75 38 41 10x8x65 36 044 1.50
;o 1;(5)8 Eigg 1 1/2 40 | 18 | 20 5x5x35 85 45 48 12x8x70 63 0.70 235
13 ijgg Eggg 2 1 50 | 22 | 25 | 7x7x45 % 55 60 15x10x80 88 100 | 320
— 1:2000
155 1288 1:5488 3 2 50 | 25 | 28 7x7x45 110 60 65 15x10x95 129 1.87 4.00
E— 25
175 iﬁgg 1:3000 5 3 65 | 30 | 33 X755 110 65 69 18x11x95 186 410 5.70
L 1:3600
200 7.5 5 75 | 35 | 38 |  10x8x65 125 70 745 | 20x12x110 245 4.40 7.90
; 10 7.5 75 | 35 | 38 | 10x8x65 140 80 845 | 20x12x105 264 4.40 9.40
Tso 15 10 85 | 40 | 43 |  10x8x75 155 90 98 24x16x130 396 7.2 130
; 20 15 85 | 40 | 43 | 10x8x75 170 95 101 | 28x16x150 480 7.2 20.0
A69



B & R % Worm Gear Reducer

BREE - EELRER - PVW

Worm Gear - PVW

PVW60~PVW135

#HAZE SHAFT DIRECTION

AL BL DL

A70



Worm Gear Reducer jgig

A01~A119

60 70 80 100 120 135 155 175
X X X X X X X X
32 40 50 60 70 80 100 120

JR~F 3% DIMENSION *in millimeter

60 218 | 88 | 100 | 43 | 165 | 110 | 55 | 87 | 123 | 60 | 105 | 120 | 100 | 260 | 126 | 32 | 18 | 11
70| 260.5| 96 |1205| 45 | 200 | 130 | 65 | 105 | 140 | 70 | 120 | 135 | 120 | 295 | 158 | 40 | 20 | 15
80 | 285 | 105 | 132 | 49 | 210 | 140 | 70 | 120 | 150 | 80 | 130 | 150 | 140 | 320 | 176 | 50 | 24 | 15
100 Egg Eggg 353 | 120 | 163 | 55 | 260 | 170 | 90 | 150 | 175 | 100 | 155 | 180 | 190 | 375 | 226 | 60 | 25 | 15
E 1:200 Ezgg 4095 | 140 | 187 | 64 | 290 | 190 | 100 | 170 | 210 | 120 | 185 | 215 | 220 | 450 | 268 | 70 | 360 | 18
135 iigg 1:1800 | 465 | 160 |2165| 71 | 320 | 210 | 110 | 190 | 235 | 135 | 210 | 235 | 260 | 495 | 306 | 80 30 18
E 1288 1;5288 5585 | 190 | 267 | 84 | 392 | 252 | 140 | 240 | 170 | 155 | 145 | 265 | 290 | 456 | 336 | 100 | 35 | 20
175 1:800 Eggg 618 | 230 | 302 | 103 | 412 | 262 | 150 | 270 | 202 | 175 | 167 | 293 | 320 | 516 | 380 | 120 & 40 | 20
200/ 190913600 670 | 260 | 322 | 110 | 480 | 305 | 175 | 310 | 260 | 200 * 450 | 580 | 510 | 135 | 40 | 22
225 735 | 260 | 355 | 110 | 525 | 335 | 190 | 325 | 374 | 225 * 510 | 664 | 580 | 135 | 40 | 27
250] 844 | 302 | 392 | 135 | 560 | 360 | 200 | 355 | 419 | 250 * 570 | 740 | 640 | 155 | 42 | 27
'300] 920 | 302 | 425 | 135 | 645 | 410 | 235 | 390 | 493 | 300 * 660 | 888 | 750 | 155 | 42 | 36

JR~F 2= DIMENSION *in millimeter

60 1/16 * 28 | 12 | 135 |  4x4x20 50 2 25 7x7x45 109 0.16 0.66
70 1/8 1/16 | 28 | 12 |135|  4x4x25 60 28 31 7X7X55 16 0.17 117
50 1/4 1/8 30 | 12 | 135 |  4x4x2s 65 32 35 10x8x60 2 031 1.49
100, 1100 Eggg 12 1/4 40 | 15 | 17 5x5x35 75 38 41 10x8x65 36 0.44 2,95
120] Egg ﬁzgg 1 1/2 40 | 18 | 20 5x5x35 85 45 48 12x8x70 63 0.70 5.00
135 iigg 111800 2 1 50 | 22 | 25 7x7x45 95 55 60 15x10x80 88 1.00 7.20
155 izgg i;ggg 3 2 50 | 25 | 28 7X7x45 110 60 65 15x10x95 129 1.87 8.30
175 1800 iizgg 5 3 65 | 30 | 33 X755 110 65 69 18x11x95 186 410 121
11900 [ o
200 7.5 5 75 | 35 | 38 | 10x8x65 125 70 745 | 20x12x110 245 440 170
25| 10 7.5 75 | 35 | 38 | 10x8x65 140 80 845 | 20x12x105 264 440 171
250/ 15 10 85 | 40 | 43 | 10x8x75 155 90 98 24x16x130 396 7.2 232
300/ 20 15 85 | 40 | 43 | 10x8x75 170 95 101 | 28x16x150 480 7.2 430
A71



B & R % Worm Gear Reducer

bRdE - EERHR - PAWE

Worm Gear - PAWE

PAWE60~PAWE135

AB AC, AA BB

==

fE A O g%
WIS j==im

j 301 -
% Drain”plug N4=¢Z

PAWE155~PAWE200

A5 AC
Oif‘ii%i PCDPB '_\ Input_Bore
= 0 . o‘\- 1
[ A.} S g
- A I S [L

I
|

e

M

g@ OtptSh aft
. aﬁ%

M E SHAFT DIRECTION

RD RRC RLC RDC

S’

LR LL LD LRC LLC

@

60X 32 70 X 40 80 X50 100X60 | 120X70 | 135X80 | 155X100 | 175X120 | 200 X135

A72



Worm Gear Reducer

A01~A119

J] =~} 3% DIMENSION *in millimeter

70 2605 | 785 | 1205| 45 | 209 | 130 | 215 | 70 | 115 | 150 | 240 | 175 | 105 | 150 | 190 | 40 20 15
E 1:100 Eggg 285 | 85 | 132 | 49 | 225 | 140 | 250 | 80 | 135 | 180 | 270 | 200 | 120 | 170 | 220 | 50 24 15
1150 |

100 ggg Ezgg 353 | 102 | 163 | 55 | 272 | 170 | 310 | 100 | 155 | 220 | 340 | 250 | 150 | 190 | 270 | 60 25 15
— 11800

120 1:88 Eggg 4095 | 117 | 187 | 64 | 307 | 190 | 370 | 120 | 180 | 260 | 405 | 300 | 180 | 230 | 320 | 70 30 18
135 1288 gggg 465 | 129 |2165| 71 | 339 | 210 | 450 | 135 | 200 | 290 | 455 | 350 | 215 | 250 | 350 | 80 30 18
155 +% 13600 5585 | 160 | 267 | 84 | 412 | 252 | 490 | 155 | 220 | 320 | 490 | 390 | 235 | 280 | 390 | 100 | 35 20
?5 618 | 175 | 302 | 103 | 437 | 262 | 555 | 175 | 250 | 350 | 565 | 435 | 260 | 310 | 420 | 120 | 40 20
; 670 | 201 | 322 | 110 | 506 | 305 | 625 | 200 | 290 | 350 | 625 | 490 | 290 | 350 | 420 | 135 | 42 22

JR~F % DIMENSION *in millimeter

60 11 | 4 | 125 |160|130|110| 5 | M8 | 50 | 22 | 25 | 7x7x45 | 025 | 02 117 0.16 0.33
70 11 | 4 | 125 | 160|130 |110| 5 | M8 | 60 | 28 | 31 | 7x7x55 | 025 | 02 17 0.17 0.50
80 11 | 4 | 125 | 160|130 |110| 5 | M8 | 65 | 32 | 35 | 10x8x60 | 025 | 02 23 031 0.77
11 | 4 | 125 |160|130|110| 5 | M8 025 | 02
100 11000 75 | 38 | 41 | 10x8x65 36 0.44 1.50
1200 | 00| 14 5 16 | 160|130 |110| 5 | M8 05 04
B30 1500 | 14 5 16 | 160|130 |110| 5 | M8 05 04
120 1200 1 0 85 | 45 | 48 | 12x8x70 64 0.70 235
1:300 | o] 19 6 | 215 |200|165|130| 5 |M10 1 0.75
I 1:400 [
2000 | 19 6 | 215 |200|165|130| 5 |M10 1 0.75
135 1300 | 100 95 | 55 | 60 |15x10x80 90 1.00 3.20
1600 | 70| 24 8 27 |200|165|130| 5 |M10 2 15
1 1:800 [
o 1:3000 | 24 8 27 |200|165|130| 5 |MI10 2 15
155 1:900 | o 00 110 | 60 | 65 |15x10x95 129 1.87 4.00
28 8 31 |250| 215|180 | 5 |MI2 3 22
28 8 31 | 250|215 180 | 5 |MI2 3 22
175 110 | 65 | 69 |18x11x95 189 410 5.70
28 8 31 | 250|215 180 | 5 |M12 5 37
28 8 31 | 250 215|180 | 5 |M12 5 37
200 125 | 70 | 745 20x12x110 248 4.40 7.90
38 | 10 | 41 |300|265|230| 5 |MI12 7.5 55
A73



B & R % Worm Gear Reducer

bRdE - EEg SRR - PBWE

Worm Gear - PBWE

PBWE60~PBWE135

BER
Oil_qauge

P.C.D_PB

Inp&h&ore

Input Bore

@

Dr m[mlu

M E SHAFT DIRECTION

I[K Outpﬁpghuﬂ

=
T

A
&

L]
Output Shaft

60 70 80 100 120 135 155
X X X X X X X
32 40 50 60 70 80 100

175

120

200

135

225

135

A74




Worm Gear Reducer

A01~A119

J] =~} 3% DIMENSION *in millimeter

To 2605 | 785 | 1205 | 45 | 209 | 130 | 110 | 70 | 115 | 150 | 240 | 70 | 140 | 150 | 190 | 40 | 20 | 15
E - 1gg 11000 285 | 85 | 132 | 49 | 225 | 140 | 130 | 80 | 135 | 180 | 270 | 80 | 160 | 170 | 220 | 50 | 24 | 15
170 1;(5)8 ﬁigg 353 | 102 | 163 | 55 | 272 | 170 | 160 | 100 | 155 | 220 | 340 | 100 | 200 | 190 | 270 | 60 | 25 | 15
120 ijgg ?Zggg 4095| 117 | 187 | 64 | 307 | 190 | 190 | 120 | 180 | 260 | 405 | 120 | 240 | 230 | 320 | 70 | 30 | 18
135 izgg 125488 465 | 129 | 2165| 71 | 339 | 20 | 215 | 135 | 200 | 290 | 455 | 135 | 270 | 250 | 350 | 80 | 30 | 18
E— 25

155 iggg 1:3000| 5585 | 160 | 267 | 84 | 412 | 252 | 235 | 155 | 220 | 320 | 490 | 135 | 290 | 280 | 390 | 100 | 35 | 20
] 1:3600

175 618 | 175 | 302 | 103 | 437 | 262 | 280 | 175 | 250 | 350 | 565 | 160 | 335 | 310 | 420 | 120 | 40 | 20
; 670 | 201 | 322 | 110 | 506 | 305 | 325 | 200 | 290 | 350 | 625 | 175 | 375 | 350 | 420 | 135 | 42 | 20
; 735 | 201 | 355 | 110 | 536 | 335 | 315 | 225 | 330 | 390 | 705 | 190 | 415 | 410 | 470 | 135 | 40 | 27

JR~F 2= DIMENSION *in millimeter

60 11 | 4 | 125 |160|130|110| 5 | M8 | 50 | 22 | 25 | 7x7x45 | 025 | 02 117 0.16 0.33
70 11 | 4 | 125 |160|130|110| 5 | M8 | 60 | 28 | 31 | 7x7x55 | 025 | 02 17 0.17 0.50
80 11 | 4 | 125 | 160|130 |110| 5 | M8 | 65 | 32 | 35 | 10x8x60 | 025 | 02 13 0.13 0.77
11 | 4 | 125 | 160|130 |110| 5 | M8 025 | 02
100 75 | 38 | 41 | 10x8x65 36 044 1.50
1100 1000 14 5 16 | 160|130 |110| 5 | M8 05 0.4
1150 11200 14 5 16 | 160|130 |110| 5 | M8 05 0.4
120| 77 1:1500 85 | 45 | 48 | 12x8x70 64 0.70 2.35
1200 ool 19 6 | 215 |200|165|130| 5 |M10 1 0.75
—— 1:300 [
1:400 [F1890 | 19 6 | 215 |200|165|130| 5 |M10 1 0.75
135 7 11:2000 95 | 55 | 60 |15x10x80 90 1.00 3.20
1500 L a0 | 24 8 27 200|165 |130 | 5 |M10 2 15
—— 1:600 [ -
1:800 [F2°90 | 24 8 27 200|165 |130 | 5 |M10 2 15
155| " 1:3000 110 | 60 | 65 |15x10x95 129 1.87 4.00
1900 | 500 | 28 8 31 | 250|215 180 | 5 |MI2 3 22
28 8 31 |250|215|180| 5 |MI2 3 22
175 110 | 65 | 69 |18x11x95 189 4.10 5.70
28 8 31 | 250|215 180 | 5 |MI2 5 37
28 8 31 | 250 |215|180| 5 |M12 5 37
200 125 | 70 | 745 |20x12x110 248 440 7.90
38 | 10 | 41 |300|265|230| 5 |M12 7.5 55
225 38 | 10 | 41 |300|265|230| 5 |MI12| 140 | 80 | 845 20x12x105| 7.5 55 267 4.40 9.40
A75



B & R % Worm Gear Reducer

bRdE - ERER - PVWE

Worm Gear - PVWE

PVWE60~PVWE135

olp o=
ﬁjﬂ%:":%”:>=ﬁ 1 ompﬁf’ghuﬂ
- O%\@é;ﬂ g éﬂ "

I{[ &

IRl

j npu ore
|
% i N
Qutput Shaft PCD PR I
[ = = ‘.k i
LK -k 2

N
Iy

\:

Bt e TS

R \4-97
0il_gauge AB AC
PVWE200~PVWE225

17 e
K&y

#HAZE SHAFT DIRECTION

AR BR DR

\

AL BL DL




Worm Gear Reducer jgig

A01~A119

60X32 | 70X40 @ 80X50 | 100X60 | 120X 70 | 135X 80 |155X 100|175 X 120|200 X 135225 X 135

JR~F 3% DIMENSION *in millimeter

60 218 | 85 | 100 | 43 | 165 | 110 | 55 | 87 | 123 | 60 | 105 | 120 | 100 | 260 | 126 | 32 | 18 | 11
70| 260.5 | 785 | 1205 | 45 | 195 | 130 | 65 | 105 | 140 | 70 | 120 | 135 | 120 | 295 | 158 | 40 | 20 | 15
80 | ﬁgg Eggg 285 | 85 | 132 | 49 | 210 | 140 | 70 | 120 | 150 | 80 | 130 | 150 | 140 | 320 | 176 | 50 | 24 | 15
E 1:200 Ezgg 353 | 102 | 163 | 55 | 260 | 170 | 90 | 150 | 175 | 100 | 155 | 180 | 190 | 375 | 226 | 60 | 25 | 15
120 iigg Eigg 4095 | 117 | 187 | 64 | 290 | 190 | 100 | 170 | 210 | 120 | 185 | 215 | 220 | 450 | 268 | 70 | 30 | 18
135 izgg 10400 | 465 | 129 |2165| 71 | 320 | 210 | 110 | 190 | 235 | 135 | 210 | 235 | 260 | 495 | 306 | 80 | 35 | 18
155 | 1:800 gggg 5585 | 160 | 267 | 84 | 392 | 252 | 140 | 240 | 170 | 155 | 145 | 265 | 290 | 456 | 336 | 100 | 35 | 20
175 19003600 618 | 175 | 302 | 103 | 412 | 262 | 150 | 270 | 202 | 175 | 167 | 293 | 320 | 516 | 380 | 120 | 40 | 20
200/ 670 | 201 | 322 | 110 | 480 | 305 | 175 | 310 | 255 | 200 * 450 | 580 | 510 | 135 | 42 | 22
225 735 | 201 | 355 | 110 | 525 | 335 | 190 | 325 | 374 | 225 * 510 | 664 | 580 | 135 | 40 | 27

J] < 3% DIMENSION *in millimeter

60 11 | 4 | 125 |160|130|110| 5 | M8 | 50 | 22 | 25 | 7x7x45 | 025 | 02 117 0.16 0.66
70 11 | 4 | 125 |160|130|110| 5 | M8 | 60 | 28 | 31 | 7x7x55 | 025 | 02 17 0.17 117
80 11 | 4 | 125 |160|130|110| 5 | M8 | 65 | 32 | 35 | 10x8x60 | 025 | 02 23 031 1.49
11 | 4 | 125 |160|130|110| 5 | M8 025 | 02
100 75 | 38 | 41 | 10x8x65 36 0.44 2.95
11000| 14 5 16 | 160|130 |110| 5 | M8 05 04
- 1:100 [
1150 [F1290 | 14 5 16 |160|130|110| 5 | M8 05 0.4
120| 72 11:1500 85 | 45 | 48 | 12x8x70 64 0.70 5.00
1:200 | 0| 19 6 | 215 |200| 165|130 | 5 |M10 1 0.75
—— 1:300 [
1:400 [F1890 | 19 6 | 215 |200|165|130| 5 |M10 1 0.75
135| "1~ 11:2000 95 | 55 | 60 |15x10x80 90 1.00 7.20
1500 | o 00| 24 8 27 200|165 |130 | 5 |M10 2 15
—— 1:600 [
1:800 [F2°90 | 24 8 27 200|165 |130 | 5 |M10 2 15
155| "~ 11:3000 110 | 60 | 65 |15x10x95 129 1.87 8.30
1900 | 50| 28 8 31 | 250|215 180 | 5 |MI2 3 22
28 8 31 |250| 215|180 | 5 |MI2 3 22
175 110 | 65 | 69 |18x11x95 189 410 121
28 8 31 |250| 215|180 | 5 |MI2 5 37
28 8 31 |250 215|180 | 5 |MI2 5 37
200 125 | 70 | 745 [20x12x110 248 4.40 170
38 | 10 | 41 |300|265|230| 5 |MI12 7.5 55
225 38 | 10 | 41 |300|265|230| 5 |MI2| 140 | 80 | 845 [20x12x105 7.5 55 267 4.40 171
A77



B & R % Worm Gear Reducer

iRER - EEL R - PAWH
Worm Gear - PAWH

PAWH60~PAWH135

AN
AB AC 1nplY Shaft
T
il plug 2
= e

/ 7 / )
wEsE |7 @@> !

R ,E)I Lk
\ Output Bore
W

Ul BH T
— ~ >

0il_gauge
gouge 13

e
~T

AN
Input, Shaft )

[

\
Eﬁj

HS kL

60 X 32 70 X40 80X 50 100 X 60 120X 70 135X 80 155X100 | 175X120

A78



Worm Gear Reducer

A01~A119

J] =~} 3% DIMENSION *in millimeter

70 11000 | 2605 | 96 |1205| 45 |1615| 655 | 131 | 215 | 70 | 115 | 150 | 240 | 175 | 105 | 150 | 190 | 40 | 20 | 15
1100 | 0
80 | 1150 | cno| 285 | 105 | 132 | 49 | 177 | 72 | 144 | 250 | 80 | 135 | 180 | 270 | 200 | 120 | 170 | 220 | 50 | 24 | 15
1:200 [
— 1:1600
100 iigg 1:1800 | 353 | 120 | 163 | 55 |207.5| 87.5 | 175 | 310 | 100 | 155 | 220 | 340 | 250 | 150 | 190 | 270 | 60 | 25 | 15
1 Lsoo [£2000
120 J'coo (12400 | 4095 | 140 | 187 | 64 | 240 | 100 | 200 | 370 | 120 | 180 | 260 | 405 | 300 | 180 | 230 | 320 | 70 | 30 | 18
L 1:2500
1:800
135| 1.990 13000 | 465 | 160 [2165| 71 | 268 | 108 | 216 | 450 | 135 | 200 | 290 | 455 | 350 | 215 | 250 | 350 | 80 | 35 | 18
1:3600
155 558.5 | 190 | 267 | 84 | 325 | 135 | 270 | 490 | 155 | 220 | 320 | 490 | 390 | 235 | 280 | 390 | 100 | 35 | 20
175 618 | 230 | 302 | 103 | 380 | 150 | 300 | 555 | 175 | 250 | 350 | 565 | 435 | 260 | 310 | 420 | 120 | 40 | 20

JR < Z= DIMENSION *in millimeter

60 1/16 . 28 | 12 | 135 4x4x20 25 7 28 10.9 0.16 033
70 L1000| V8 1/16 | 28 | 12 | 135 4x4x25 30 7 33 16 0.17 0.50
] 1200 [0
80 (1150 | cng| 174 1/8 30 | 12 | 135 4x4x25 35 10 38 22 031 0.77
1:200 |
] 1:1600
100 iigg 11800 172 va | 40 | 15 | 17 5x5x35 40 12 43 36 | 044 | 150
1 Lsgp 12000
120| [ oo 2400 1 1/2 4 | 18 | 20 5x5x35 45 14 485 63 0.70 235
o 1:2500
1:800
135 1.9q9 [+3000 2 1 50 | 22 | 25 7x7x45 55 15 60 88 1.00 3.20
~7 113600
155 3 2 50 | 25 | 28 7x7x45 65 18 69 129 187 | 400
175 5 3 65 | 30 | 33 7X7X55 80 22 85 186 410 5.70
A79



B & R % Worm Gear Reducer

IR - EEGRAE - PBWH
Worm Gear - PBWH

PBWH60~PBWH135
B
AA BB
\ E97
ol AN Output Bore
- Input’ Shaft W

I

:
5 1 it ©

T e
Drain plug 41-97
F

N M

PBWH155~PBWH175

A8 AA 28
/ L BH Output Bore
L W
\npc\tj];gcﬂ ‘7 :JL:,, gi.’
0 Fide ol H
Y = Q I é %
] ,,}, g
=
et

60 X 32 70X 40 80X 50 100 X 60 120 X70 135X 80 155X100 | 175X120

A80



Worm Gear Reducer

A01~A119

J] =~} 3% DIMENSION *in millimeter

70 11000 | 2605 | 96 |1205| 45 |1615| 655 | 131 | 215 | 70 | 115 | 150 | 240 | 175 | 105 | 150 | 190 | 40 | 20 | 15
1100 | 0
80 | 1150 | cno| 285 | 105 | 132 | 49 | 177 | 72 | 144 | 250 | 80 | 135 | 180 | 270 | 200 | 120 | 170 | 220 | 50 | 24 | 15
1:200 [
— 1:1600
100 iigg 1:1800 | 353 | 120 | 163 | 55 |207.5| 87.5 | 175 | 310 | 100 | 155 | 220 | 340 | 250 | 150 | 190 | 270 | 60 | 25 | 15
1 Lsoo [£2000
120 J'coo (12400 | 4095 | 140 | 187 | 64 | 240 | 100 | 200 | 370 | 120 | 180 | 260 | 405 | 300 | 180 | 230 | 320 | 70 | 30 | 18
L 1:2500
1:800
135| 1.990 13000 | 465 | 160 [2165| 71 | 268 | 108 | 216 | 450 | 135 | 200 | 290 | 455 | 350 | 215 | 250 | 350 | 80 | 35 | 18
1:3600
155 558.5 | 190 | 267 | 84 | 325 | 135 | 270 | 490 | 155 | 220 | 320 | 490 | 390 | 235 | 280 | 390 | 100 | 35 | 20
175 618 | 230 | 302 | 103 | 380 | 150 | 300 | 555 | 175 | 250 | 350 | 565 | 435 | 260 | 310 | 420 | 120 | 40 | 20

JR < Z= DIMENSION *in millimeter

60 1/16 . 28 | 12 | 135 4x4x20 25 7 28 10.9 0.16 033
70 L1000| V8 1/16 | 28 | 12 | 135 4x4x25 30 7 33 16 0.17 0.50
] 1200 [0
80 (1150 | cng| 174 1/8 30 | 12 | 135 4x4x25 35 10 38 22 031 0.77
1:200 |
] 1:1600
100 iigg 11800 172 va | 40 | 15 | 17 5x5x35 40 12 43 36 | 044 | 150
1 Lsgp 12000
120| [ oo 2400 1 1/2 4 | 18 | 20 5x5x35 45 14 485 63 0.70 235
o 1:2500
1:800
135 1.9q9 [+3000 2 1 50 | 22 | 25 7x7x45 55 15 60 88 1.00 3.20
~7 113600
155 3 2 50 | 25 | 28 7x7x45 65 18 69 129 187 | 400
175 5 3 65 | 30 | 33 7X7X55 80 22 85 186 410 5.70
A81



B & R % Worm Gear Reducer

R - R R - PYWH

Worm Gear - PVWH

PVWH60~PVWH135

AN®
Input Shaft

R

L

60X 32 70X 40 80X 50 100 X 60 120X 70

135 X80

155 X100

175 X120

A82




Worm Gear Reducer

A01~A119

J] =~} 3% DIMENSION *in millimeter

70 11000 | 2605| 96 |120.5| 45 | 1305|655 | 65 | 131 | 105 | 140 | 70 | 120 | 135 | 120 | 295 | 158 | 40 | 20 | 15
1100 | 0
80 [ 1150 | cno| 285 | 105 | 132 | 49 | 142 | 72 | 70 | 144 | 120 | 150 | 80 | 130 | 150 | 140 | 320 | 176 | 50 | 24 | 15
1:200 [
] 1:1600
100 iigg 1:1800 | 353 | 120 | 163 | 55 |1775| 875 | 90 | 175 | 150 | 175 | 100 | 155 | 180 | 190 | 375 | 226 | 60 | 25 | 15
1 Lsoo [£2000
120 170 [1:2400 14095 | 140 | 187 | 64 | 200 | 100 | 100 | 200 | 170 | 210 | 120 | 185 | 215 | 220 | 450 | 268 | 70 | 28 | 18
L 1:2500
1:800
135| 1.900 [F3000 | 465 | 160 |2165| 71 | 218 | 108 | 110 | 216 | 190 | 235 | 135 | 210 | 235 | 260 | 495 | 306 | 80 | 30 | 18
1:3600
155 558.5| 190 | 267 | 84 | 275 | 135 | 140 | 270 | 240 | 170 | 155 | 145 | 265 | 290 | 456 | 336 | 100 | 35 | 20
175 618 | 230 | 302 | 103 | 300 | 150 | 150 | 300 | 270 | 202 | 175 | 167 | 293 | 320 | 516 | 380 | 120 | 40 | 20

JR < Z= DIMENSION *in millimeter

60 1/16 . 28 | 12 | 135 4x4x20 25 7 28 10.9 0.16 0.66
70 11000 /8 1/16 28 | 12 | 135 4x4x25 30 7 33 16 0.17 117
] 1200 [0
80 (1150 | cng| 174 1/8 30 | 12 | 135 4x4x25 35 10 38 22 031 1.49
1:200 [
— 1:1600
100 iigg 11800 172 va | 40 | 15 | 17 5x5x35 40 12 43 36 | 044 | 295
1 Lsgp 12000
120| [ oo 12400 1 1/2 4 | 18 | 20 5x5x35 45 14 485 63 0.70 5.00
L 12500
1:800
135 | 1.900 13000 2 1 50 | 22 | 25 7X7x45 55 15 60 88 1.00 7.20
7 13600
155 3 2 50 | 25 | 28 7X7x45 65 18 69 129 187 8.30
175 5 3 65 | 30 | 33 7X7x55 80 22 85 186 4.10 121
A83



B & R % Worm Gear Reducer

WRdm - ¥EEZ R ER - PAWEH
Worm Gear - PAWEH

PAWEH60~PAWEH135

M E SHAFT DIRECTION

AB AC, AA BB
PCD PB A% I
-+ ) 4=PK_ Inpuf Bore M
Es o7 T r
Oilplug s 7] N I
————+— - > alal
1 ) b 5
NN R ) vl
F il AN QOutput Bore
JEC L S| one
5 - -4 = N 7
f : == '
j // i *%!g 7
1 | ‘ Tﬁ:f
i } |
wan | | + !
0l gauge | L—_| rE

60 X 32 70 X40 80X 50 100 X 60 120X 70 135 X80

155 X100

175 X120

A84




Worm Gear Reducer

A01~A119

J] =~} 3% DIMENSION *in millimeter

70 11000 | 2605 | 785 |120.5 | 45 | 144 | 655 | 131 | 215 | 70 | 115 | 150 | 240 | 175 | 105 | 150 | 190 | 40 | 20 | 15
1100 | 0
80 1150 | cno| 285 | 85 | 132 | 49 | 157 | 72 | 144 | 250 | 80 | 135 | 180 | 270 | 200 | 120 | 170 | 220 | 50 | 24 | 15
1:200 |
1 1:1600
100 iigg 1:1800 | 353 | 102 | 163 | 55 |1895| 875 | 175 | 310 | 100 | 155 | 220 | 340 | 250 | 150 | 190 | 270 | 60 | 25 | 15
1 Lsoo [£2000
120 170 [1:2400 14095 | 117 | 187 | 64 | 217 | 100 | 200 | 370 | 120 | 180 | 260 | 405 | 300 | 180 | 230 | 320 | 70 | 30 | 18
Lo 1:2500
1:800
135| 1.990 13000 | 465 | 129 [2165| 71 | 237 | 108 | 216 | 450 | 135 | 200 | 290 | 455 | 350 | 215 | 250 | 350 | 80 | 30 | 18
1:3600
155 5585 | 160 | 267 | 84 | 295 | 135 | 270 | 490 | 155 | 220 | 320 | 490 | 390 | 235 | 280 | 390 | 100 | 35 | 20
175 618 | 175 | 302 | 103 | 325 | 150 | 300 | 555 | 175 | 250 | 350 | 565 | 435 | 260 | 310 | 420 | 120 | 40 | 20

J]~F 3= DIMENSION *in millimeter

60 11 | 4 | 125 |160|130|110| 5 | M8 | 25 7 28 025 | 02 117 0.16 0.33
70 1 | 4 | 125 |160|130|110| 5 | M8 | 30 7 33 025 | 02 17 0.17 0.50
80 1 | 4 | 125 |160|130|110| 5 | M8 | 35 10 38 025 | 02 23 0.31 0.77
1100 (0% 11 | 4 | 125 [160 | 130|110 | 5 | ms 025 | 02
100 1.5 L1200 40 12 43 36 0.44 1.50
Looo [K1500 | 14 5 16 |160 130110 | 5 | M8 05 04
o 11600
1:300 [ 14 5 16 | 160 | 130 |110| 5 | M8 05 0.4
120 1.400 1800 45 14 485 64 0.70 235
Lsoo [£2000| 19 6 | 215 |200| 165|130 | 5 |M10 1 0.75
o 12400
1:600 | 19 6 | 215 |200| 165|130 | 5 |M10 1 0.75
135| 1.g00 2290 55 15 60 90 1.00 3.20
Loog 113000 24 8 27 200165130 | 5 |M10 2 15
7 1:3600
24 8 27 |200| 165|130 | 5 |M10 2 15
155 65 18 69 129 1.87 4.00
28 8 31 |250|215|180 | 5 |MI2 3 2.2
28 8 31 |250|215|180| 5 |MI2 3 22
175 80 22 85 189 4.10 5.70
28 | 8 31 |250|215|180| 5 |MI2 5 37
A85



B & R % Worm Gear Reducer

WRdm - ¥EEZ %R - PBWEH
Worm Gear - PBWEH

PBWEH60~PBWEH135

|
" EHA

P.C.D_PB o
_4-PK_

Ih s Output Bore

AN

W

.

Lsc

P
RS — Input Bore —
W 1 L
’ | :7 \J’} >% §€ R4
\ / ’
= B /\
| PD)

N A
L AD AC AA BB

BT,
Output Bore
W

i e
Oil_gauge O'\I/plugi
- —h 4°PK
X |

&

—

R

60X 32 70X 40 80X 50 100 X 60 120 X70 135 X80

155X100 | 175X120

A86



Worm Gear Reducer

A01~A119

J] =~} 3% DIMENSION *in millimeter

70 11000 | 2605 | 785 |120.5| 45 | 144 | 655 | 131 | 110 | 70 | 115 | 150 | 240 | 70 | 140 | 150 | 190 | 40 | 20 | 15
1100 | 0
80 1150 | cno| 285 | 85 | 132 | 49 | 157 | 72 | 144 | 130 | 80 | 135 | 180 | 270 | 80 | 160 | 170 | 220 | 50 | 24 | 15
1:200 [
] 1:1600
100 iigg 1:1800 | 353 | 102 | 163 | 55 |1895| 875 | 175 | 160 | 100 | 155 | 220 | 340 | 100 | 200 | 190 | 270 | 60 | 25 | 15
1 Lsoo [£2000
120 170 [1:2400 14095 | 117 | 187 | 64 | 217 | 100 | 200 | 190 | 120 | 180 | 260 | 405 | 120 | 240 | 230 | 320 | 70 | 30 | 18
L 1:2500
1:800
135| 1.900 [F3000 | 465 | 129 |2165| 71 | 237 | 108 | 216 | 215 | 135 | 200 | 290 | 455 | 135 | 270 | 250 | 350 | 80 | 30 | 18
1:3600
155 558.5| 160 | 267 | 84 | 295 | 135 | 270 | 235 | 155 | 220 | 320 | 490 | 135 | 290 | 280 | 390 | 100 | 35 | 20
175 618 | 175 | 302 | 103 | 325 | 150 | 300 | 280 | 175 | 250 | 350 | 565 | 160 | 335 | 310 | 420 | 120 | 40 | 20

J]~F 3= DIMENSION *in millimeter

60 11 | 4 | 125 |160|130|110| 5 | M8 | 25 7 28 025 | 02 117 0.16 0.33
70 1 | 4 | 125 |160|130|110| 5 | M8 | 30 7 33 025 | 02 17 0.17 0.50
80 1 | 4 | 125 |160|130|110| 5 | M8 | 35 10 38 025 | 02 13 0.13 0.77
1100 (0% 11 | 4 | 125 [160 | 130|110 | 5 | ms 025 | 02
100 1.5 L1200 40 12 43 36 0.44 1.50
Looo [K1500 | 14 5 16 |160 130110 | 5 | M8 05 04
o 11600
1:300 [ 14 5 16 | 160 | 130 |110| 5 | M8 05 0.4
120 1.400 1800 45 14 485 64 0.70 235
Lsoo [£2000| 19 6 | 215 |200| 165|130 | 5 |M10 1 0.75
o 12400
1:600 | 19 6 | 215 |200| 165|130 | 5 |M10 1 0.75
135| 1.g00 2290 55 15 60 90 1.00 3.20
Loog 113000 24 8 27 200165130 | 5 |M10 2 15
7 1:3600
24 8 27 |200| 165|130 | 5 |M10 2 15
155 65 18 69 129 1.87 4.00
28 8 31 |250|215|180 | 5 |MI2 3 2.2
28 8 31 |250|215|180| 5 |MI2 3 22
175 80 22 85 189 4.10 5.70
28 | 8 31 |250|215|180| 5 |MI2 5 37
A87



B & R % Worm Gear Reducer

IR - $EEY 325 - PVWEH
Worm Gear - PVWEH

PVWEH60~PVWEH135

LWk
Output Bore
W

it

0il olug |~—

R L

60X 32 70X 40 80X 50 100 X 60 120 X70 135X 80 155X100 | 175X120

A88



Worm Gear Reducer

A01~A119

J] =~} 3% DIMENSION *in millimeter

70 11000 | 2605 | 785 |120.5| 45 | 1305 655 | 65 | 131 | 105 | 140 | 70 | 120 | 135 | 120 | 295 | 158 | 40 | 20 | 15
1100 | 0
80 1150 | cno| 285 | 85 | 132 | 49 | 142 | 72 | 70 | 144 | 120 | 150 | 80 | 130 | 150 | 140 | 320 | 176 | 50 | 24 | 15
1:200 [
] 1:1600
100 iigg 1:1800 | 353 | 102 | 163 | 55 |1775| 875 | 90 | 175 | 150 | 175 | 100 | 155 | 180 | 190 | 375 | 226 | 60 | 25 | 15
1 Lsoo [£2000
120 170 [1:2400 (4095 | 117 | 187 | 64 | 200 | 100 | 100 | 200 | 170 | 210 | 120 | 185 | 215 | 220 | 450 | 268 | 70 | 30 | 18
L 1:2500
1:800
135| 1.900 [F3000 | 465 | 129 |2165| 71 | 218 | 108 | 110 | 216 | 190 | 235 | 135 | 210 | 235 | 260 | 495 | 306 | 80 | 35 | 18
1:3600
155 558.5| 160 | 267 | 84 | 275 | 135 | 140 | 270 | 240 | 170 | 155 | 145 | 265 | 290 | 456 | 336 | 100 | 35 | 20
175 618 | 175 | 302 | 103 | 300 | 150 | 150 | 300 | 270 | 202 | 175 | 167 | 293 | 320 | 516 | 380 | 120 | 40 | 20

J]~F 3= DIMENSION *in millimeter

60 11 | 4 | 125 |160|130|110| 5 | M8 | 25 7 28 025 | 02 117 0.16 0.66
70 1 | 4 | 125 |160|130|110| 5 | M8 | 30 7 33 025 | 02 17 0.17 117
80 1 | 4 | 125 |160|130|110| 5 | M8 | 35 10 38 025 | 02 23 0.31 1.49
1100 (0% 11 | 4 | 125 [160 | 130|110 | 5 | ms 025 | 02
100 1.5 L1200 40 12 43 36 0.44 2.95
Looo [K1500 | 14 5 16 |160 130110 | 5 | M8 05 04
o 11600
1:300 [ 14 5 16 | 160 | 130 |110| 5 | M8 05 0.4
120 1.400 1800 45 14 485 64 0.70 5.00
Lsoo [£2000| 19 6 | 215 |200| 165|130 | 5 |M10 1 0.75
o 12400
1:600 | 19 6 | 215 |200| 165|130 | 5 |M10 1 0.75
135| 1.g00 2290 55 15 60 90 1.00 7.20
Loog 113000 24 8 27 200165130 | 5 |M10 2 15
7 1:3600
24 8 27 |200| 165|130 | 5 |M10 2 15
155 65 18 69 129 1.87 8.30
28 8 31 |250|215|180 | 5 |MI2 3 2.2
28 8 31 |250|215|180| 5 |MI2 3 22
175 80 22 85 189 4.10 121
28 | 8 31 |250|215|180| 5 |MI2 5 37
A89



B & R % Worm Gear Reducer

IRdE - EEZ R - PHW
Worm Gear - PHW

PHW60~PHW175

3 AD
liie

outpit B
utput Bore
b Inplﬁ gf‘loft

e T

B e | " AA
Drain plug

A

o
sﬂﬁ
=]
=
Je]
[v]
L

EC

|
=17

#fACE SHAFT DIRECTION

‘I

60X 32 70X 40 80X 50 100 X 60 120X 70 135X 80 155X100 | 175X120

A90



100

120

135

155

175

1:100
1:150

1:200

1:300
1:400
1:500
1:600
1:800
1:900

1:1000
1:1200
1:1500
1:1600
1:1800
1:2000
1:2400
1:2500
1:3000
1:3600

Worm Gear Reducer

J] =~} 3% DIMENSION *in millimeter

A01~A119

082*4-M8 M10*20
260.5| 96 |120.5| 45 | 156 | 125 | 161 | 62 88 | 66 | 40 | 70 | 205 | 50 | 80 ©100*4-M8 85 M10*20
285 | 105 | 132 | 49 | 176 | 145 | 177 | 68 | 101 | 75 50 80 | 232 | 60 | 95 ©115*4-M10 92 M10*20
353 | 120 | 163 | 55 | 227 | 185 | 207 | 83 | 115 | &5 60 | 100 | 290 | 75 | 110 | ©130*4-M12 115 M12*24
409.5| 140 | 187 | 64 | 264 | 220 | 240 | 95 | 132 | 100 | 70 | 120 | 370 | 95 | 130 | @165*4-M12 155 M14*28
465 | 160 |216.5| 71 | 304 | 260 | 268 |102.5| 144 | 110 | 80 |1353| 425 | 105 | 130 | ©@200*8-M12 185 M16*32
5585| 190 | 267 | 84 | 340 | 280 | 325 | 109 | 160 | 120 | 100 | 155 | 423 | 103 | 180 | @215.8*8-M12 165 M16*40
618 | 230 | 302 | 103 | 370 | 320 | 380 | 137 | 186 | 140 | 120 | 175 | 521 | 123 | 230 | ©@265*8-M12 223 M16*40

JR < Z= DIMENSION *in millimeter

60 1/16 . 28 | 12 | 135 4x4x20 25 7 28 9.7 0.16 0.44
70 11000 18 1/16 28 | 12 | 135 4x4x25 30 7 33 15 0.17 0.70
1200 | 0
80 (1150 | cng| 174 1/8 30 | 12 | 135 4x4x25 35 10 38 20 031 1.00
1:200 [
— 1:1600
100 11431(0)8 11800 |  1/2 1/4 40 | 15 | 17 5x5x35 40 12 43 41 0.44 1.90
1 Lsgp 12000
120| [ coq 12400 1 1/2 40 | 18 | 20 5X5x35 45 14 485 62 0.70 410
L 12500
1:800
135 1.9qp [F3000 2 1 50 | 22 | 25 7x7x45 55 15 60 86 1.00 440
7 1:3600
155 3 2 50 | 25 | 28 7x7x45 65 18 69 105 1.87 7.00
175 5 3 65 | 30 | 33 7X7x55 80 22 85 185 4.10 8.00
A91



IReE - EEZ R - MPHW
Worm Gear - MPHW

MPHW60~MPHW175

B & R % Worm Gear Reducer

piiE

0Oil gauge

—
—

cc

b WL [ ——
Output Hollow 1 i 1
W -
Inpmg‘ore 1l %IL
: T JNIE 7S
, A
j %“ i SPEXE,
PD | @ to)
! |
AA : BB
B

#fACE SHAFT DIRECTION

%]
#
\
- ~— L —"
R
e

TYPE 604~1354

TYPE 1354~1754

A92

RA RB ‘. RC
LA LB LC
60X32 70X 40 80 X50 100 X 60 120X 70 135 X80 155 X100 175 X120




100

120

135

155

175

1:100
1:150

1:200

1:300
1:400
1:500
1:600
1:800
1:900

1:1000
1:1200
1:1500
1:1600
1:1800
1:2000
1:2400
1:2500
1:3000
1:3600

Worm Gear Reducer

J] =~} 3% DIMENSION *in millimeter

A01~A119

082*4-M8 M10*20
260.5| 785 |120.5| 45 | 156 | 125 | 144 | 62 88 | 66 | 40 | 70 | 205 | 50 | 80 ©100*4-M8 85 M10*20
285 | 85 | 132 | 49 | 176 | 145 | 157 | 68 | 101 | 75 50 80 | 232 | 60 | 95 ©115*4-M10 92 M10*20
353 | 102 | 163 | 55 | 227 | 185 |189.5| 83 | 115 | &5 60 | 100 | 290 | 75 | 110 | ©130*4-M12 115 M12*24
409.5| 117 | 187 | 64 | 264 | 220 | 217 | 95 | 132 | 100 | 70 | 120 | 370 | 95 | 130 | @165*4-M12 155 M14*28
465 | 129 |216.5| 71 | 304 | 260 | 237 |102.5| 144 | 110 | 80 | 135 | 425 | 105 | 130 | ©@200*8-M12 185 M16*32
5585| 160 | 267 | 84 | 340 | 280 | 295 | 109 | 160 | 120 | 100 | 155 | 423 | 103 | 180 | @215*8-M12 165 M16*40
618 | 175 | 302 | 103 | 370 | 320 | 325 | 137 | 186 | 140 | 120 | 175 | 521 | 103 | 230 | ©@265*8-M12 223 M16*40

J]~F 3= DIMENSION *in millimeter

60 1 | 4 | 125 | 160|130 | 110 M8 | 25 7 28 025 | 02 109 0.16 0.44
70 1 | 4 | 125 | 160|130 | 110 M8 | 30 7 33 025 | 02 160 0.17 0.70
80 1 | 4 | 125 | 160|130 | 110 M8 | 35 10 38 025 | 02 25.0 0.31 1.00
] 1:1000
1:100 | 1 | 4 | 125 | 160|130 | 110 M8 025 | 02
100 1.5 L1200 40 12 43 430 0.44 1.90
Looo [K1500 | 14 5 16 | 160 | 130 | 110 M8 05 0.4
o 11600
1:300 [ 14 5 16 | 160 | 130 | 110 M8 05 0.4
120 1.400 1800 45 14 485 68.0 0.70 410
Lsoo [£2000| 19 6 | 215 | 200|165 | 130 M10 1 0.75
o 12400
1:600 | 19 6 | 215 | 200|165 | 130 M10 1 0.75
135| 1.g00 2290 55 15 60 83.0 1.00 4.40
Loog 113000 24 8 27 | 200 | 165 | 130 M10 2 15
7 1:3600
24 8 27 | 200 165 | 130 M10 2 15
155 65 18 69 105 1.87 7.00
28 8 31 | 250 215 | 180 M12 3 2.2
28 8 31 | 250 | 215 | 180 M12 3 22
175 80 22 85 185 4.10 8.00
28 8 31 | 250 | 215 | 180 M12 5 37
A93



B & R % Worm Gear Reducer

bREE - EEX R - MPHVW

Worm Gear - MPHVW

MPHVW60~MPHVW175

Inpt}ﬂﬁgore

[]0]

@)
j//

Rk Ll 4> |
; Output Hollow

W
%%ﬁ) ia==2 A\

#fACE SHAFT DIRECTION

o
L

/ X

HEH
0il_gauge LA

T
Drain plug

RA RB RC
LA LB LC
60 X32 70 X40 80X 50 100 X 60 120 X70 135X 80 155X100 | 175X120

A94



100

120

135

155

175

1:100
1:150

1:200

1:300
1:400
1:500
1:600
1:800
1:900

1:1000
1:1200
1:1500
1:1600
1:1800
1:2000
1:2400
1:2500
1:3000
1:3600

J] =~} 3% DIMENSION *in millimeter

Worm Gear Reducer

A01~A119

260.5 | 785 | 1205 45 62 108 40 70 1335 68 120 120 155 305 156 20 15
285 85 132 49 68 125 50 80 147 75 140 132 180 342 176 20 15
353 102 163 55 83 150 60 100 | 1775 90 190 155 215 400 227 20 15

409.5 | 117 187 64 95 175 70 120 205 105 220 200 260 505 264 25 18
465 129 | 2165 71 1025 | 193 80 135 221 113 260 235 290 570 304 30 18

558.5 | 160 267 84 109 235 100 155 270 135 280 217 310 583 340 35 20
618 175 302 103 137 280 120 175 310 160 320 290 365 715 380 35 20

J]~F 3= DIMENSION *in millimeter

60 11 | 4 | 125 |160|130|110| 5 | M8 | 25 7 28 025 | 02 118 0.16 0.44
70 1 | 4 | 125 |160|130|110| 5 | M8 | 30 7 33 025 | 02 180 0.17 0.70
80 1 | 4 | 125 |160|130|110| 5 | M8 | 35 10 38 025 | 02 24.0 0.31 1.00
] 1:1000
1:100 | 1 | 4 | 125 |160|130|110| 5 | M8 025 | 02
100 1.5 L1200 40 12 43 46.0 0.44 1.90
Looo [K1500 | 14 5 16 |160 130110 | 5 | M8 05 04
o 11600
1:300 [ 14 5 16 | 160 | 130 |110| 5 | M8 05 0.4
120 1.400 1800 45 14 185 69.0 0.70 410
Lsoo [£2000| 19 6 | 215 |200| 165|130 | 5 |M10 1 0.75
o 12400
1:600 | 19 6 | 215 |200| 165|130 | 5 |M10 1 0.75
135| 1.g00 2290 55 15 60 96.0 1.00 4.40
Loog 113000 24 8 27 200165130 | 5 |M10 2 15
7 1:3600
24 8 27 |200| 165|130 | 5 |M10 2 15
155 65 18 69 120 1.87 7.00
28 8 31 |250|215|180 | 5 |MI2 3 2.2
28 8 31 |250|215|180| 5 |MI2 3 22
175 80 22 85 190 4.10 8.00
28 8 31 |250|215|180| 5 |MI2 5 37
A95



B & R % Worm Gear Reducer

MRER - LEXRAT - PHSW

Worm Gear - PHSW

PHSW60~ PHSW 175

D
| Outpﬁtb%hoft
BmsE %7}& ! Y
Qil_gauge Inpu J aft
o) g# T T = g )%
g Qe ¢ == T LK
Ei& R
3l @ i @
Drain plug AA -y BB

M E SHAFT DIRECTION

RL RD

60 X32 70 X40 80X 50 100 X 60 120 X70 135X 80 155X100 | 175X120

A96



100

120

135

155

175

1:100
1:150

1:200

1:300
1:400
1:500
1:600
1:800
1:900

1:1000
1:1200
1:1500
1:1600
1:1800
1:2000
1:2400
1:2500
1:3000
1:3600

Worm Gear Reducer

J] =~} 3% DIMENSION *in millimeter

A01~A119

M10*20

260.5 96 120.5 45 156 125 226 130 88 66 40 70 205 50 85 M10*20
285 105 132 49 176 145 245 140 101 75 50 80 232 60 92 M10*20
3536 | 120 163 55 227 185 290 170 115 85 60 100 290 75 115 M12*24
409.5 | 140 187 64 264 220 330 190 132 100 70 120 370 95 155 M14*28
465 160 | 216.5 71 304 260 370 210 144 110 80 135 425 105 185 M16*32
5585 | 190 267 84 340 280 442 252 160 120 100 155 423 103 165 M16*40
618 230 302 103 370 320 492 262 186 140 120 175 521 123 223 M16*40

JR < Z= DIMENSION *in millimeter

60 1/16 . 28 | 12 | 135 4x4x20 0 | 22 | 25 7x7x45 9.7 0.16 044
70 11000 18 1/16 28 | 12 | 135 4x4x25 60 | 28 | 31 7X7x55 15 0.17 0.70
1200 | 0
80 (1150 | cng| 174 1/8 30 | 12 | 135 4x4x25 65 32 | 35 10x8x60 20 031 1.00
1:200 |
1 1:1600
100 izgg 11800 |  1/2 1/4 40 | 15 | 17 5x5x35 75 | 38 | 41 10x8x65 41 0.44 1.90
1 Lsoo [£2000
120} [1:2400 1 1/2 40 | 18 | 20 5x5x35 85 | 45 | 48 12x8x70 62 7.00 410
L 12500
1:800
135 1.9q9 [¥3000 2 1 50 | 22 | 25 7x7x45 95 | 55 | 60 | 15x10x80 86 1.00 440
77 3600
155 3 2 50 | 25 | 28 7x7x45 110 | 60 | 65 | 15x10x95 105 1.87 7.00
175 5 3 65 | 30 | 33 7X7x55 110 | 65 | 69 | 18x11x95 185 410 8.00
A97



B & R % Worm Gear Reducer

DRSS - HEEF R AR - MPHSW

Worm Gear - MPHSW

MPHSW60~ MPHSW 175

HI_K‘:‘ Outpﬁpghoft
=

BgE
Drain plug

M E SHAFT DIRECTION

RD RRC RLC RDC

LLC LDC

3

60X 32 70 X40 80 X50 100 X 60 120 X70 135X 80 155X100 | 175X120

A98



100

120

135

155

175

1:100
1:150

1:200

1:300
1:400
1:500
1:600
1:800
1:900

1:1000
1:1200
1:1500
1:1600
1:1800
1:2000
1:2400
1:2500
1:3000
1:3600

Worm Gear Redu

A01~A119

J] =~} 3% DIMENSION *in millimeter

M10*20

2605 | 785 | 1205 45 156 125 209 130 88 66 40 70 205 50 85 M10*20
285 85 1332 49 176 145 225 140 101 75 50 80 232 60 92 M10*20
353 102 163 55 227 185 272 170 115 85 60 100 290 75 115 M12*24
409.5 | 117 187 64 264 220 307 190 132 100 70 120 370 95 155 M14*28
465 129 | 2165 71 304 260 339 210 144 110 80 135 425 105 185 M16*32
5585 | 160 267 84 340 280 412 252 160 120 100 155 423 103 165 M16*40
618 175 302 103 370 320 442 262 186 140 120 175 521 123 223 M16*40

J]~F 3= DIMENSION *in millimeter

100

120

135

155

175

1:100
1:150
1:200
1:300
1:400
1:500
1:600
1:800
1:900

1:1000
1:1200
1:1500
1:1600
1:1800
1:2000
1:2400
1:2500
1:3000
1:3600

11 4 125 | 160 | 130|110 | 5 | M8 | 50 22 25 7X7x45 0.25 0.2 10.9 0.16 0.44
11 4 125 | 160 | 130|110 | 5 | M8 | 60 28 31 7x7x55 0.25 0.2 16.0 0.17 0.70
11 4 125 | 160 1130|110 | 5 | M8 | 65 32 35 | 10x8x60 | 0.25 0.2 25.0 0.31 1.00
11 4 125 | 160 | 130|110 | 5 | M8 0.25 0.2

75 38 41 | 10x8x65 43.0 01.44 1.90
14 5 16 160 | 130 | 110 | 5 | M8 0.5 0.4
14 5 16 160 | 130 | 110 | 5 | M8 0.5 0.4

85 45 48 | 12x8x70 68.0 0.70 4.10
19 6 215 [ 200|165 |130| 5 |MI10 1 0.75
19 6 215 | 200 | 165|130 | 5 |MI10 1 0.75

95 55 60 |15x10x80 83.0 1.00 4.40
24 8 27 200 | 165|130 | 5 |MI10 2 15
24 8 27 200 | 165|130 | 5 |MI10 2 15

110 60 65 |15x10x95 105 1.87 7.00
28 8 31 250 | 215|180 | 5 |M12 3 22
28 8 31 250 | 215|180 | 5 |M12 3 22

110 65 69 |18x11x95 185 410 8.00
28 8 31 250 | 215|180 | 5 |M12 5 37

A99



{8 &

TR Worm Gear Reducer

ﬂﬁ? EEEI;‘VR?‘)L - MPHSVW
Worm Gear - MPHSVW

MPHSVW60~MPHSVW175

Inpwﬂore

E2

E3

OIIMQIEJﬁge 1

£l

Druﬁ;rzmglua /

o + Outpet Shatt \@

%3 @@@Eﬂ

1| R

BB DD .|
B |

A100

60X 32

70 X40 80X50 100 X 60

120X 70 135X80

155 X100

175 X120




Worm Gear Reducer {8 ) 53 4 A

A01~A119




i R4 Worm Gear Reducer

J] <} 2= DIMENSION *in millimeter

60 218 | 8 | 100 | 43 | 168 | 110 | 90 | 32 | 58 | 100 | 103 | 130 | 265 | 127 | 15 | 11
; L 1gp 11000 260.5 | 785 | 1205 | 45 | 198 | 130 | 108 | 40 | 68 | 120 | 120 | 155 | 305 | 156 | 20 | 15
g 1;38 Eigg 285 | 8 | 132 | 49 | 215 | 140 | 125 | 50 75 | 140 | 132 | 180 | 342 | 176 | 20 15
E iigg Eggg 353 | 102 | 163 | 55 | 260 | 170 | 150 | 60 | 90 | 190 | 155 | 215 | 400 | 227 | 20 | 15
E i:gg Sggg 4095 | 117 | 187 | 64 | 295 | 190 | 175 | 70 | 105 | 220 | 200 | 260 | 505 | 264 | 25 | 18
135 iggg 1:3000 | 465 | 129 | 2165 | 71 | 323 | 210 | 193 | 80 | 113 | 260 | 235 | 290 | 570 | 304 | 30 18
. 1:3600

155 5585 | 160 | 267 | 84 | 387 | 252 | 235 | 100 | 135 | 280 | 217 | 310 | 583 | 340 | 35 | 20
?5 618 | 175 | 302 | 103 | 422 | 262 | 280 | 120 | 160 | 320 | 290 | 365 | 715 | 380 | 35 | 20

J]~F = DIMENSION *in millimeter

60 11 | 4 | 125 [160 130 (110 | 5 |M8 | 50 | 22 | 25 | 7x7x45 | 025 | 02 118 0.16 0.44
70 11 | 4 | 125 [160 (130 (110 | 5 |M8 | 60 | 28 | 31 | 7x7x55 | 025 | 02 18.0 0.17 0.70
80 11 | 4 | 125 [160 130 (110 | 5 |M8 | 65 | 32 | 35 |10x8x60 | 025 | 02 24.0 031 1.00

1100 1% 11 | 4 | 125 160 | 130|110 | 5 | M8 025 | 02
100 | 150 11200 75 | 38 | 41 | 10x8x65 46.0 044 1.90
Logo L1500 14 | s 16 | 160 |130 110 | 5 | M8 05 04
1300 200 4y | s 16 | 160|130 110 | 5 | M8 05 04
120 | .40 11800 85 | 45 | 48 | 12x8x70 69.0 0.70 410
Lsgo F2000| 19 | 6 | 205 |200|165|130 | 5 |M10 1 0.75
] 1> 1:2400
1:600 |~ 19 | 6 | 215 |[200|165|130 | 5 |MI10 1 0.75
135 1.gq [F2200 95 | 55 | 60 |15x10x80 96.0 1.00 4.40
Logo 13000 24 | 8 | 27 |200|165|130 5 |M10 2 15
77 1:3600
24 | 8 | 27 |200|165|130| 5 |MI10 2 15
155 110 | 60 | 65 |15x10x95 120 1.87 7.00
28 | 10 | 31 |250 215 180 | 5 |MI12 3 22
28 | 10 | 31 |250 215 180 | 5 |M12 3 22
175 110 | 65 | 69 |18x11x95 190 4.10 8.00
28 | 10 | 31 |250|215 180 | 5 |M12 5 37
A102



Worm Gear Reducer M) iy Sl R A

B - I E I\ - PACB

Worm Gear - PACB

PACB50~ PACB135

A

ny

AB

O?%ﬁe AL

1

BB

N
-/

)

Eot ]
rake

\ -/

té*!
Clutcl

cC

=

v Outpﬁgjghuﬂ

HL

ey

LL

16

Dra‘i*rimglug
F
N

BHACE SHAFT DIRECTION

E

EE

A01~A119

(457)
1.5
(1R
1:10
1:15
1:20
1:30
1:40
1:50
1:60

J]~F 2= DIMENSION *in millimeter

145 95 50 95 110 | 180 | 130 80 120 | 140 15 11 40 17 19 5x5x35 85 031
165 | 110 60 105 | 120 20 150 90 130 | 150 18 11 50 22 25 7X7x45 128 | 042
195 | 130 70 115 | 150 | 240 | 175 | 105 | 150 | 190 20 15 60 28 31 7x7x55 16.0 | 0.77
210 | 140 80 135 | 180 | 270 | 200 | 120 | 170 | 220 24 15 65 32 35 10x8x60 18.0 1.18
260 | 170 | 100 | 155 | 220 | 340 | 250 | 150 | 190 | 270 25 15 75 38 41 10x8x65 330 | 231
290 | 190 | 120 | 180 | 260 | 405 | 300 | 180 | 230 | 320 30 18 85 45 48 12x8x70 71.0 3.20
320 | 210 | 135 | 200 | 290 | 455 | 350 | 215 | 250 | 350 30 18 95 55 60 15x10x80 940 | 410

J]~F % DIMENSION *in millimeter

50 S50 05 DC24V S50 0.5 DC24V Al 76.2(3") 2440 131.0 111.0 *
; . S50 0.5 DC24V S50 05 DC24V Al 76.2(3") 277.0 1475 1275 *
( ﬁ? " Mo 1 DC24V M10 1 DC24V Al 101.6(4") | 2895 1525 1305 *
(fE#)| MI10 1 DC24V M10 1 DC24V Al 101.6(4" | 3125 164.0 142 *
01 110 M20 2 DC24V M20 2 DC24V B1 127(5") 3320 175.0 150 *
; i;g M20 2 DC24V M20 2 DC24V B1 127(5") 3340 176.0 151 *
130 M40 4 DC24V M40 4 DC24V B1 1524(6") | 3485 1825 156.5 *
'100| 140 M40 4 DC24V M40 4 DC24V B1 1524(6" | 4145 2155 189.5 *
; 128 M80 8 DC24V M80 8 DC24V B2 1524(6" | 5145 2755 251 232
Ti6 16 DC24V T16 16 DC24V B2 203.2(8") 539 2845 260 241
135 | M80 8 DC24V M80 8 DC24V B2 1524(6" | 5435 290.0 2655 2465
A103



B & R % Worm Gear Reducer

bR - B0 - PBCB

Worm Gear - PBCB

PBCB50~ PBCB135

vl
Output 2hoft

T

HH%
Brake

U

W]
0il ‘gauge

JR] <] Z= DIMENSION *in millimeter

50 (455 )| 145 95 50 95 110 | 180 50 100 | 120 | 140 15 11 40 17 19 5x5x35 6.4 0.24
? ( 1;:; ) 165 | 110 60 105 | 120 | 210 60 120 | 130 | 150 18 11 50 22 25 7XTx45 8.3 0.33
? irl_(')_ 195 | 130 70 115 | 150 | 240 70 140 | 150 | 190 20 15 60 28 31 7x7x55 145 | 051
E 1;3 210 | 140 80 135 | 180 | 270 80 160 | 170 | 220 24 15 65 32 35 10x8x60 200 | 0.77

100| 1:30 260 | 170 | 100 | 155 | 220 | 340 | 100 | 200 | 190 | 270 25 15 75 38 41 10x8x65 310 | 149
E 1:8 290 | 190 | 120 | 180 | 260 | 405 | 120 | 240 | 230 | 320 30 18 85 45 48 12x8x70 56.0 | 2.35
E 1:60 320 | 210 | 135 | 200 | 290 | 455 | 135 | 270 | 250 | 350 30 18 95 55 60 15x10x80 77.0 | 3.20

J]~F 3= DIMENSION *in millimeter

50 S50 0.5 DC24V S50 0.5 DC24V Al 76.2(3") 244.0 131.0 111.0 *
; . S50 05 DC24V S50 05 DC24V Al 76.2(3") 277.0 1475 1275 *
( Ltfk "™ w0 1 DC24V M10 1 DC24V Al 101.6(4") | 2895 1525 1305 *
(fE#)| MI10 1 DC24V M10 1 DC24V Al 101.6(4" | 3125 164.0 142 *
1 110 M20 2 DC24V M20 2 DC24V B1 127(5") 3320 175.0 150 *
g 12(5) M20 2 DC24V M20 2 DC24V B1 127(5") 3340 176.0 151 *
130 M40 4 DC24V M40 4 DC24V B1 1524(6") | 3485 1825 156.5 -
'100| 140 M40 4 DC24V M40 4 DC24V B1 1524(6") | 4145 2155 189.5 *
; izg M80 8 DC24V M80 8 DC24V B2 1524(6") | 5145 2755 251 232
T16 16 DC24V T16 16 DC24V B2 203.2(8") 539 2845 260 241
135 M80 8 DC24V M80 8 DC24V B2 1524(6") | 5435 290.0 265.5 246.5
A104



Worm Gear Reducer M) iy Sl R A

A01~A119

iR - R E I\ - PVCB

Worm Gear - PVCB

PVCB50~ PVCB135

E2

[o] ]

El

'ﬂlﬁ
| LK I NI Drain_plug
LS |

. WER L

0il "gauge

BB BC
B

H YO 1
AR BR CR
:’ ww
>
-

3

AL BL CL

5

J]~F = DIMENSION *in millimeter

50 145 95 50 | 1106 | 50 93 102 90 220 | 116 15 11 40 17 19 5x5x35 7.0 0.51
60 (W) 165 | 110 55 123 60 105 | 120 | 100 | 260 | 126 18 11 50 22 25 7XTx45 8.9 0.66
| 15
70 |(FE#E)| 195 | 130 65 140 70 120 | 135 | 120 | 295 | 158 20 15 60 28 31 7x7x55 15.0 1.16
1:10
80 1;; 210 | 140 70 150 80 130 | 150 | 140 | 320 | 176 24 15 65 32 35 10x8x60 20.0 1.49
[ | 130
100| 1:40 260 | 170 90 175 | 100 | 155 | 180 | 190 | 375 | 226 25 15 75 38 41 10x8x65 350 | 295
L | 1:50
120 160 290 | 190 | 100 | 210 | 120 | 185 | 215 | 220 | 450 | 268 30 18 85 45 48 12x8x70 61.0 5.10
135 320 | 210 | 110 | 235 | 135 | 210 | 235 | 260 | 495 | 306 30 18 95 55 60 15x10x80 840 | 7.10
A105



~

iR Worm Gear Reducer

J]~F 3% DIMENSION *in millimeter

50 S50 0.5 DC24v S50 0.5 DC24v Al 76.2(3") 244.0 131.0 111.0 *
S50 0.5 DC24V S50 0.5 DC24V Al 76.2(3") 277.0 147.5 127.5 *
60
M10 1 DC24V M10 1 DC24V Al 101.6(4") 289.5 152.5 130.5 *
+ M10 1 DC24V M10 1 DC24V Al 101.6(4") 3125 164.0 142 *
=27
70 15
(12%#) M20 2 DC24V M20 2 DC24V Bl 127(5") 3320 175.0 150 *
1:10
1:15
1:20 M20 2 DC24v M20 2 DC24v Bl 127(5") 3340 176.0 151 *
80| 130
1:40 M40 4 DC24V M40 4 DC24V Bl 152.4(6") 3485 182.5 156.5 *
L 1:50
100| 160 M40 4 DC24V M40 4 DC24V B1 152.4(6") 4145 2155 189.5 *
M80 8 DC24V M80 8 DC24V B2 152.4(6") 514.5 275.5 251 232
120
T16 16 DC24V T16 16 DC24V B2 203.2(8") 539 2845 260 241
135 M80 8 DC24v M80 8 DC24v B2 152.4(6") 543.5 290.0 265.5 246.5
A106



Worm Gear Reducer M) iy Sl R A

MRER - BEY R - PHF

Worm Gear - PHF

PHF50~PHF175

SERR

il plug

/

[ip)
ol FQ ;
Input Shaft
v L
L+
,% — —
1
d W o
ion
i 1
PCDFE 7 gl || +
4-0FK(50-120) o
B-0FK(135-175 iy
HHA, [
Output Bore

BHACE SHAFT DIRECTION

Y

'

A01~A119

Q,

J] <} 2= DIMENSION *in millimeter

20| 6 |225
50 1/4 | 1/8 | 175|105 |115| 90 |145.5/46.5|49.5| 68 | 50 | 50 | 96 | 150 | 35 | 65 | M8*16 | 30 | 12 |13.5| 4x4x25 5 28 180150115 10(11|7.7 |0.31
517
60 1/2 | 1/4 |198|120| 127|100 | 142 | 53 | 56 | 78 | 54 | 60 | 86 | 177 | 42 | 75 |M10*20| 40 | 15| 17 | 5x5x35 | 25 | 7 | 28 180150115 12111| 99 |0.44
70 1 | 1/2 |235|140|156 | 125 [180.5 62 |65.5| 88 | 66 | 70 | 115|205 | 50 | 85 |M10*20| 40 | 18 | 20 | 5x5x35 | 30 | 7 | 33 |2501215/180 13]15|16.3/0.70
(455%)
80 (*;;) 2 1 |264|160|176|145|177| 68 | 72 [ 101 | 75 | 80 | 105|232 | 60 | 92 |M10*20| 50 | 22 | 25 | 7x7x45 | 35 | 10 | 38 [2501215[180 15]15/22.0/0.99
i;lO
100 EZ 3 2 325|190 | 227|185 [232.5 83 |87.5|115| 85 | 100 | 145|290 | 75 |115|M12*24| 50 | 25 | 28 | 7x7x45 | 40 | 12 | 43 [3001265]230 15|15 |45.0/1.87
1:30
1:40
120 | 150 | 5 3 389|230 |264 (220|224 | 95 | 100 | 132|100 |120|124|370 | 95 |155|M14*28| 65 | 30 | 33 | 7x7x55 | 45 | 14 |48.33503001250 20|19|67.0|4.10
1:60
135 7.5 | 5 |438|260|304 260 |256|102.5 108 | 144 | 110 | 135 | 148 | 425 | 105 | 185 |M16*32| 75 | 35 | 38 | 10x8x65| 55 | 15 | 60 400350300 22|19|95.0/4.40
155 10 | 7.5 | 510|302 |340|280 (295|109 | 135|160 | 120 | 155 |186.5 423 | 103 | 165 |[M16*40| 85 | 40 | 43 | 10x8x75 | 65 | 18 | 69 400350300 22|19/110.0/7.00
175 15 | 10 |556|325|370|320 | 365|137 | 150|186 | 140 | 175 | 200 | 521 | 123 | 223 |M16*40| 85 | 45 | 48 | 12x8x75| 80 | 22 | 85 450400350 25|19 155.0/8.00
A107




B & R % Worm Gear Reducer

Rdw - B EZ R - MPHF

Worm Gear - MPHF

MPHF50~ MPHF175

;33
Oillplug
}

BHACE SHAFT DIRECTION

J] <} 2= DIMENSION *in millimeter

20 | 6 |225
50 155| 85 | 115| 90 [145.546.5(49.5| 68 | 50 | 50 | 96 | 35 | 65 |M8*16|0.25| 0.2 | 11 | 4 |12.5/160/130/110| 5 |MS8 21 7 | 28 180150115 4 |10|11| 8.6 |0.31

02502 |11 4 |125
60 180 | 102|127 | 100 | 142 | 53 | 56 | 78 | 54 | 60 | 86 | 42 | 75 |M10*20 160(130{110| 5 (M8| 25 | 7 | 28 |1801150115 4 |12|11|9.4 (044
05|04 |14 5 |16

05]04 14| 5 |16|160(130/110| 5 |M8
70 212|117 | 156 | 125 [180.5 62 |65.5| 88 | 66 | 70 | 115| 50 | 85 |M10*20 30 | 7 | 33 250215180 4 |13|15|16.0/0.70
1 107519 | 6 |21.5/200|165|130| 5 M10

ﬁfﬁf 1 ]075(19| 6 [215

80 > 1233|129 |176| 145|177 | 68 | 72 |101| 75 | 80 | 105| 60 | 92 |M10*20 200/165/130| 5 M10 35 | 10 | 38 250215180 5 |15|15|22.0/0.99
(1ZE) 2 |15|24| 8 |27
110
11 2 | 15|24| 8 |27|200(165(130| 5 |M10

100 | 295|160 | 227 | 185 32.5 83 |87.5|115| 85 |100| 145 | 75 | 115 M12*24 40 | 12 | 43 3001265230 5 |15|1543.0/1.87
1:20 3 |22|28| 8 |31|250|215(180| 5 |M12
130
1:40 3 |22|28|8 |31

120 | .o | 334|175 |264 | 220|224 95 |100|132100|120| 124 | 95 |155|M14*28 250(215/180| 5 |M12| 45 | 14 |48.5[350300250, 5 |20|19(66.0|4.10
: 5 37|28| 8 |31
1:60

5 |37 (28| 8 |31|250|215(180| 5 |M12
135 380 | 202 | 304 | 260 | 256 [102.5/ 108 | 144 | 110 |135| 148 | 105 | 185 M16*32 55 | 15 | 60 400350300 5 |22|19|92.0/4.40
7.5 |55 ]38 |10 |41 |300({265/230| 5 |M12

155 437232 | 340 | 280 | 295 | 109|135 (160|120 1551865/ 103 | 165 M16*40| 7.5 | 5.5 |38 | 10 |41 [300|265|230| 5 [M12| 65 | 18 | 69 400350300 5 |22|19|107 |7.00
175 325325370 |320 | 365 |137(150|186(140|175/200| 521|123 | 521 | 10|7.5(38|10|41|85 |45 |48 |45 |48 | 80 | 22 | 85 450400350/ 6 |25|19(155.0,8.00
A108



Worm Gear Reducer {8 ) 53 4 A

A01~A119

IRER - EES AT - PHFW

Worm Gear - PHFW

PHFW60~PHFW175

AE
g M
Oil gauge O" p\ug /1
\ -- \
= ’ g
nput Sha
o / \_ N _
i e i i _ - _
g g i ﬁé
r | E—]
B —Ji@ HK|
T H 1![ ™
| “—‘—' AN
m& AB AA
Drain plug

M E SHAFT DIRECTION

RL RLC LR LRC

60X 32 70X 40 80 X50 100 X 60 120X 70 135X80 | 155X100 | 175X120

A109



100

120

135

155

175

1:100
1:150
1:200
1:300
1:400
1:500
1:600
1:800
1:900

1:1000
1:1200
1:1500
1:1600
1:1800
1:2000
1:2400
1:2500
1:3000
1:3600

iR Worm Gear Reducer

J]~F 3% DIMENSION *in millimeter

218 88 100 | 43 127 | 100 | 174 | 78 54 32 60 86 177 | 42 75 M10*20 0.16 0.44
2605| 96 |120.5| 45 156 | 125 | 211 88 66 40 70 115 | 205 50 85 M10*20 0.17 0.70
285 | 105 | 132 49 176 | 145 | 210 | 101 75 50 80 105 | 232 60 92 M10*20 0.31 1.00
353 | 120 | 163 55 227 | 185 | 265 | 115 85 60 100 | 145 | 290 75 115 M12*24 0.44 1.90
409.5| 140 | 187 64 264 | 220 | 264 | 132 | 100 70 120 | 124 | 370 95 155 M14*28 0.70 4.10
465 | 160 |2165| 71 304 | 260 | 308 | 144 | 110 80 135 | 148 | 425 | 105 | 185 M16*32 1.00 4.40
558.5| 190 | 267 84 340 | 280 |376.5| 160 | 120 | 100 | 155 |186.5| 423 | 103 | 165 M16*40 1.87 7.00
618 | 230 | 302 | 103 | 370 | 320 | 430 | 186 | 140 | 120 | 175 | 200 | 521 | 123 | 223 M16*40 4.10 8.00

J]~F 3% DIMENSION *in millimeter

60 28 12 | 135 | 4x4x20 25 7 28 | 180 | 150 | 115 12 | 025 | 02 | 109
70 28 12| 135 | 4x4x25 30 7 33 | 250 | 215 | 180 13 | 025 | 02 | 160
80 30 12| 135 | 4x4x25 35 10 38 | 250 | 215 | 180 15 | 025 | 02 | 250

1100 [1099 025 | 02
100 | 1950 11200} 40 15 17 5x5x35 40 12 43 | 300 | 265 | 230 15 430
1200 [F1500 05 | 04
1:300 |- 10%0 05 | 04
120 1.400 1890 | 40 18 20 5x5x35 45 14 485 | 350 | 300 | 250 20 68.0
Lsoo [£2000 1 | 075
o 12400
1:600 | 1 | 075
135| 1.800 2290 | 50 22 25 7X7x45 55 15 60 | 400 | 350 | 300 22 83.0
Looo [£3000 2 | 15
7 1:3600
2 | 15
155 50 25 28 7X7x45 65 18 69 | 400 | 350 | 300 22 105
3| 22
30| 22
175 65 30 33 7X7x55 80 22 85 | 450 | 400 | 350 25 185
5 | 37
A110




Worm Gear Reducer {8 ) 53 4 A

A01~A119

IR - EEZ R AT - MPHFW
Worm Gear - MPHFW

MPHFW60~MPHFW175

AD BD
B -

T, i
Inpukzjg‘ore I %7" % i
Lokl e

i
Drain plug=—a %

HER
Oil_gauge

Ll

PFA

CC
e,

HL

M E SHAFT DIRECTION

RL RLC

60X32 70X 40 80 X50 100 X 60 120X 70 135X80 | 155X100 | 175X120

A111



100

120

135

155

175

1:100
1:150
1:200
1:300
1:400
1:500
1:600
1:800
1:900

1:1000
1:1200
1:1500
1:1600
1:1800
1:2000
1:2400
1:2500
1:3000
1:3600

iR Worm Gear Reducer

J]~F 3% DIMENSION *in millimeter

218 85 100 | 43 127 | 100 | 171 78 54 32 60 86 177 | 42 75 M10*20 0.16 0.44
260.5| 785 |120.5| 45 156 | 125 | 1935 | 88 66 40 70 115 | 205 50 85 M10*20 0.17 0.70
285 85 132 49 176 | 145 | 190 | 101 75 50 80 105 | 232 60 92 M10*20 0.31 1.00
353 | 102 | 163 55 227 | 185 | 247 | 115 85 60 100 | 145 | 290 75 115 M12*24 0.44 1.90
409.5| 117 | 187 64 264 | 220 | 241 | 132 | 100 70 120 | 124 | 370 95 155 M14*28 0.70 4.10
465 | 129 (2165 71 304 | 260 | 277 | 144 | 110 80 135 | 148 | 425 | 105 | 185 M16*32 1.00 4.40
558.5| 160 | 267 84 340 | 280 |346.5| 160 | 120 | 100 | 155 |186.,5| 423 | 103 | 165 M16*40 1.87 7.00
618 | 175 | 302 | 103 | 370 | 320 | 375 | 186 | 140 | 120 | 175 | 200 | 521 | 123 | 223 M16*40 4.10 8.00

J]~F 3% DIMENSION *in millimeter

60 11 125 | 160 | 130 | 110 M8 | 25 | 7 | 28 |180|150|115| 4 | 12 | 025 | 02 | 109
70 11 125 | 160 | 130 | 110 M8 | 30 | 7 | 33 |250|215|180| 4 | 13 | 025 | 02 | 160
80 11 125 | 160 | 130 | 110 M8 | 35 | 10 | 38 |250|215[180| 5 | 15 | 025 | 02 | 250

1100 (1001 11 125 | 160 | 130 | 110 VE 025 | 02
100 | 150 11200 40 | 12 | 43 300|265 /230 5 |15 430
Looo [K1500| 14 16 | 160 | 130 | 110 M8 05 | 04
1300 10001 14 16 | 160 | 130 | 110 M8 05 | 04
120 1.400 1800 45 | 14 | 485 |350 (300|250 | 5 | 20 68.0
Lsoo [F2000| 19 215 | 200 | 165 | 130 M10 1 | 075
o 12400
1:600 | 19 215 | 200 | 165 | 130 M10 1 | 075
135| 1.500 2290 55 | 15 | 60 |400 | 350 |300| 5 | 22 83.0
Loog [L3000| 24 27 | 200 | 165 | 130 M10 2 | 15
7 1:3600
24 27 | 200 | 165 | 130 M10 2 | 15
155 65 | 18 | 69 |400|350 300 5 | 22 105
28 31 | 250 | 215 | 180 M12 3| 22
28 31 | 250 | 215 | 180 M12 30| 22
175 80 | 22 | 85 |450|400 350 6 |25 185
28 31 | 250 | 215 | 180 M12 5 | 37
A112




Worm Gear Reducer i 5 33 4

A01~A119

IR - BEEGRAT - EEREAREY - PAF
Worm Gear - PAF

PAF70~PAF100




iR Worm Gear Reducer

J]~F 3% DIMENSION *in millimeter

70 (mse) 1 | 1/2 |235/140|194/130| 70 |115/150| 21 |322|147|175/105|150(192| 15 | 40 | 18 | 20 | 5x535 | 60 | 28 | 31 | 7«5 | 16 | 0.77
T3 RE) a0
80 | 15 112 140 | 2 1 |264|160|211|140| 80 |135|180| 24 |374/182|192|112|170|220| 15| 50 | 22 | 25 | 7x7x45 | 65 | 32 | 35 | 10x8x60 | 35 |1.18
i 1:50
120 |
100 160 | 3 2 |324]190|254|170|100|155|220| 27 |468|218/250|150|190(270| 15 | 50 | 25 | 28 | 7x7x45 | 75 | 38 | 41 | 10x8x65 | 65 |2.31
e I
\ J
A114



Worm Gear Reducer {8 ) 53 4 A

WREE - B E R - EHRAREY - PAEF

Worm Gear - PAEF

PAEF70~PAEF100

A01~A119

RI

JRI

JLI

TRI

ZRI

ZLI

A115



i R4 Worm Gear Reducer

J]~F 3% DIMENSION *in millimeter

70 (*%f) 1 1/2 212 | 177 | 194 | 130 | 70 | 115 | 150 | 21 | 322 | 147 | 175 | 105 | 150 | 192 | 15 | 16 |0.77

115
80 15 1;8 2 1 233 | 129 | 211 | 140 | 80 135 | 180 | 24 | 374 | 182 | 192 | 112 | 170 | 220 | 15 35 | 118
1:40

1
100 ng 3 2 295 | 160 | 254 | 170 | 100 | 155 | 220 27 468 | 218 | 250 | 150 | 190 | 270 15 65 | 231

JR <] 2= DIMENSION *in millimeter

14 5 16 160 | 130 | 110 | 5 M8
70 ) 1|12 60 | 28 | 31 7X7X55 16 |0.77
( *ff ) 19 6 215 200 | 165 | 130 | 5 | M10
1:15
(455 1:20 19 6 215
80 | 15 | (A=) | 2 1 200 | 165 | 130 | 5 | M10 | 65 | 32 | 35 10x8x60 35 |1.18
1:30 24 8 27
1:40
1:50
Lo 24 8 27 200 | 165 | 130 | 5 | M10
100 3 2 75 | 38 | 41 10x8x65 65 |231
28 8 31 250 | 215 | 180 | 5 | M12
e I
\ J

A116



Worm Gear Reducer mﬁiﬁl)f&%ﬁ

2 A01~A119

MREm - BEY R4 - PDF

Worm Gear - PDF

PDF60~PDF70

P —
Input_Bore R

I
l
o :§§>
9 / A | BU|
g ;’//ﬁifg\\_.
N\ S

AL
W\ [
}

y

JR] <} Z= DIMENSION *in millimeter

60 185 | 105 | 170 | 114 | 60 | 50 | 60 50 | 175 | 65 60 28 31 | 7X7X45 |185|160|130| 5 | 13 |145

28 31 | 7X7X40
1/10 ~1/60 |205.5| 107 | 252 | 180 | 128 | 52 | 70 55 | 200 | 75 45 185 (165|130 | 5 | 13 |145
32 35 | 10X8X40

28 31 | 7X7X40
205.5| 107 | 222 | 150 | 128 | 22 | 70 55 | 200 | 75 45 200 | 165130 5 | 13 | 15
32 35 | 10X8X40

70

JR] <} 2= DIMENSION *in millimeter

0.5 0.4 14 5 16 160 130 110 5 M8
60
1/10 ~1/60 1 0.75 19 6 215 200 165 130 5 M10
70 2 15 24 8 27.3 200 165 130 5 M10
A117



B & R % Worm Gear Reducer

iHER - BEES R 4% - PDSF

Worm Gear - PDSF

PDSF60~PDSF70

A

Input B
nput Bore

JR <} 2= DIMENSION *in millimeter

120100 80 | 5 |12 | 11
185 | 105 | 205 | 114 | 170 | 60 50 | 175 65 35 28 31 | 7X7X45
185|160 | 130| 5 | 13 |145
120100 80 | 5 |12 | 11
185 | 105 | 250 | 114 | 170 | 60 50 | 175 65 80 28 31 | 7X7X45
o 185|160 | 130| 5 | 13 |145
185 | 105 | 218 | 127 | 183 60 50 | 175 65 35 28 31 | 7X7X45
160 (130 1110 5 | 20 | 13
185 | 105 | 263 | 127 | 183 60 50 | 175 65 80 28 31 | 7X7X45
185 | 105 | 263 | 172 | 228 | 60 50 | 175 65 35 28 31 | 7X7X45
1/10~1/60 185|160 (130 | 5 | 13 |145
185 | 105 | 308 | 172 | 228 | 60 50 | 175 65 80 28 31 | 7X7X45
203.5| 105 | 302 | 150 | 222 | 70 55 | 200 | 75 80 28 31 | 7X7X55 (160|130 (110| 6 | 19 | 15
28 31 | 7X7X30
203.5| 105 | 257 | 150 | 222 | 70 55 | 200 | 75 35 160 | 130 | 110| 6 | 19 | 15
. 32 35 | 10X 8X40

203.5| 105 | 262 | 130 | 202 | 70 55 | 200 | 75 60 28 31 | 7X7X55 [185)165(140| 5 | 13 | 11

28 31 | 7X7X30
203.5| 105 | 257 | 150 | 222 70 55 200 75 35 200 | 165130 6 | 19 | 15
32 35 | 10X8X40

JR] <} 2= DIMENSION *in millimeter

0.5 0.4 14 5 16 160 130 110 5 M8
60

1/10 ~1/60 1 0.75 19 6 215 200 165 130 5 M10

70 2 15 24 8 27.3 200 165 130 5 M10
A118



IRém - BBEZ %R - PDOF
Worm Gear - PDOF

[t
X1 Output Shaft
utput of

Worm Gear Reducer pfiig s

JR ~f 2= DIMENSION *in millimeter

185 | 160 | 130

60

0.5

0.4

14

JR] <} 2= DIMENSION *in millimeter

160

130

110

0.75

19

200

165

130




	G系列

